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Qwuwluwi L blpnpunhGuwdhiuh wyu fubnpughppl pngpynid b wnwppbp
pwpnmpywl fulnhplbp, npnGp tpyuwp wwphGhp hinhGuwlGtpG ogqunw-
qnpoty &G GplwGh whnwhuwl hwdwuwpwih nunpinphghluigh pwlny-
wnbinmd «bElpnpunhGwdhlw b G EnpnGughG wmbumpymb» wnwpluigh
nuwuwywindwl pGpwypmy: kinnughppG uljunid b dwpbdunnhwluwG
GhipwompymGny, npunbn puplymy G fulnhpGlph (niodwl hwdwp wéG-
hpwdtywn dupbdunplulwl wnGympymbGGapG m qunuihwpllpp U pbip-
ymd bl dwpbdwnhywlwG plnyph fulnhpGhp, npnly jmomdp pnyp junw
Jnipuylly G EpunpunplwdhulwG fuGnphpGtph modwG hwdwp wGhmu-
dbywn dwptidwinhyuwlwl wupupunnp:

Bnipwpwlymp pwdGh ulqepmd hwihpd wpunpjud bt wyn pwdGh
JuGnhpGtph movwl hwdwp wihpwdbyn wbuwlwi Gimpp: Lhipduwd bG
JuGnhpGph wuwuwufuwlGbpG m qbpwlynnn Juwiuh (nidmuGhpp:

Juwnuwh bGp, np fuGnpughppl oquuulwp YphGh wyl niuwlGnnGtph hundwp,
npnGy mumdbGwlw6 opwgplipmy Gwfuunnbujwd b mbuwlwl phghljush
«EjjnpughGuidhljw» pwdhlp, hGuybu Gul Gpuly hwdwp, nfpbp
npmpby GG hGpGmpnylG mumdGuuhply b pmpunhGudhwG: Qupond
bGp wylG Yhtwnwpppph Gul wuwyhpuwlGnGiphG m vjuGul puuwfunu-
GlphaG:

LtnhGuwlGtpp pwlp ;66 JuGuyby JuGnnwghppp ptipnipmiGGbphy nt Yph-
wwlyGhphy qbpd wwhbim hwdwp, wnwdbGuyihy 366 pwywnnf
ppuiy woluympymip b tpwpenwupumn [ hGLG GpuGy, nyptp GYunn-
Jwo pwypnnmuiGph m Jphwwllbph Swuhl pptiGy phunwpymdGbpp
YhwunGLG hbinhGuwlGhphG (k). thnun' galaverdyan@ysu.am):
ClnphwlwimpyniG tGp hwynlnd 5N wihpwyhG wpnybubbph nbuni-
pjwl b hghjuyh widphnGh nuwuwpunulbphG dtpnpulul utidhGupGtph
dwidwlwly fulinhpGlph pGGwpynidGlph b wpnpliunp . LipjwpwnpywGhl
oqunuljun funphmpnGliph hufwp:

LtnhGwyGtp
Pp. bpluwd, 2006 p.



QLNthu 1
UuRktuushyuLulL LeruontE3ntL
LhpuywylGhGp nhdtphGyhwy owmbipwwinpGbph wpwwhwpnm-

pJnrlGpp vuwppbip Ynopphiwnwijwé hwdwjwupgtpmad:
jwpujwl YnnpphGunnwijwG hanfmyjupg'

gmdq,.&p 6¢A6¢

=&, —+ = 11
e,ax ¢ ay c az (1.1w)
0A
div4 =ai+_’+aL (1.1p)
ox oz
6A 0A
rotA= 6A +é (aA %4, )+é, oy 04 ,(1.1q)
oy oz oz ox x oy
8?2 Q, d’p 62(p

Ap= tllvgx'ad(p-ax2 Y 622 (1.1n)

QquGwjhG YnnpnhGumnulwt hwiwyupg
x=rcosa, y=rsina, z=z, dV =rdrdadz,
gradp=é& aﬁ+é,——-+c, -, (1.2w)

_16(m,) 104, %
r or roa oz
104, 04, )+

divA= (1.2p)

rdoa Oz

po (e _0A),, (1004s) 104
Noe o & r or réa )

2 2
A@_l_a_ ,-aq, +_l__a_(p+5_(p (1.2n)
ror\_ or

Q-GnuyhG YnnpphGumwijul hunfwlupg
x=rsin8 cosa, y=rsin8sina, z=rcos9,
dV =r%drdQ, dQ =sin 3d9da,

d0,, 180, , 1
— 4+ —, 1.3
de=& o *é 135 "% Tem 8 ol (13w
a2
divA:—!-a(rA')+ 1 6(Assm9)+ 1 6A¢’
r:  or rsin 9 o8 rsin8 da

5

rotA—e,(
(1.29)

(1.3p)



rsin9 89 da
. ( 1 04, 1a(r,4,,)) . (la(rAs) 1aA,)
N —=2 1+, —r

mtA=&,( 1 [6(Aasm8)_aAsD+
(130)

rsin9 da r Or r or r 99

19 264)) 1 af(. a¢) 1 d%
Ag=——|r' = |+—— sin — |[+————: (1.3p)
= ar( o )" v2sing as{ 23 ) r25in?9 oa ?

QhPptiptiGyhuy owpunnnpGlpp pwyjwpwpmy GG htinbjwy GnyyGm-
pymGGLphG®

rotgrad =0, (14)
divrot4 =0, 1.5)

rotrotA = graddivA-AA, (1.6)
grad(ey ) = pgrady +ygrado, «n
div(pA) = pdivA+A -grad ¢, (1.8)
rot (pA) = protA-A x grad ¢, 19
diviAx B)=B -rot4A-A -rotB, (1.10)

rotAxB)=AdivB -BdivA+(B -V)A-(A -V)B, @1
grad(4 -B) =AxrotB+BxrotA+(B-V)A+A-V)B: (1.12)
QGunuu-Ounpngpunuynt pinptidh hwdwdw)i

j divA dV=an .ds, .13)
v s
nputin S-p V dwunp wwphwiynn thwy Swybpump t:
Uwnpuh pinptidh hwiwdw)G
§A-d:= j'rotA -ds, (1.14)
L s

npuntin S-p L hay Ynph ypw htljwd judwjwlwe Swijtpunyp t, nph
Gnpiw)p YnGunmph zpewlydwl mygmpjwb htn juqindd £ we upunnm-
wnwljwjhlG hwiwlyuwpg:
Yhpwh 5-pmGyyhwG vwhiwbynd t
8(x—x4)=0, tipti x #x,,
> 1, wph x,€e(ab),
Iﬁ(x-xo)dx= /2, tpt xy=alu xo =b,
. 0, bph xoe[ab]:

(1.15)



wnliympymGGboph Shenyny: 3-PymGyyhuyh hhdGwyws hwwynipjmi-
GtpG bG*
, f(x0), bpb x4 €(ab),
If(x)&(x-—xo)dx= Elf(xo), tph xo=aluiixy =b: (1.16)
: 0, bph  xo €[ab]:
S(x~x;)
8(gkx)) = Z TR 117

npntin f(x)-p U g(x)}-p wowbybkih $mbGyyhwbGhp b6, x; hompymGGhpp
g(x) = 0 hwuuwpiwG (mOniGtpb LG:
bnwyunh §-pniGlyhw vwhdwynud £
S(r—rg) =8(x-x)8(y-y)8(z-2¢) (1.18)
wnlsnpywdp U pwjwpwpnui t
f(r), bpt 1o eV

8(r—-ry)dV = 1.19
vff(r) r-r) {0’ boh £V (1.19)

wwjydwGhG: Gnwsw §-pniGyyhuh hwwp hpujwyh t htnbjw) G-
wnbgpwy Gephuyuwymdp’

5(r) = L ; j e*dk: 1.20)
@m)
[0 ImGYyyhwih dmpht-ybpiniompymbp nGh htwlyw) wmbupp’
-1 i(kr-or) .
) = & dk do: 21
fen=o [[1r w)e

S (@) =F(f (.$)) Druphb-wunlbpp npnznd &
frko)= [[frge ®=avas (1.22)

hwljwnupd duwhnfunipjwG dhenyny:

LoGxyxy ..x,)=—4nf(x}, X, ..X,) (1.23)
qowjhG wihwiwutn nhptipwGyhw; hwjwuwpdws G(x, 2 Xps e Xy x;)
Q-phGh $mbyyhw t Ynyymd
LGy, x} x0, x5, X X)) =—408(x, —x})--8(x, -x}) (1.24)
hwywuwpiwG monwsp:



1.1 Ebljnpuunwmnhljuymd tibjwpwliwi quwwh E pupwompimbp
b ¢ ynutlyhwip Yuwywd b6 E = —grad ¢ wnGympjuwdp: Gnbp
E-G htunbjun piyptipnud.

w) ¢=a-(bxr), n e=p-r/r?,

P) ¢=(axr)-(bxr), b) ¢=1(rg),

q) ¢=(a-r)cos(k-r), Q o=f[g@r):
Ghpwnpynui t, np a, b, k, p YtijinnpGhpp hwuwmwinm G &G, huy f(r)u
g(r) pnGyyhwbtpp wdwbytih:

1.2 TYwunwpympjul dbe bitjwnpwunuwnhy guanh jwpjwompimbp
pwywpupmy t divE=0 U rotE=0 hwjwuwpnuiGbphG: Ywpbih® t
wpnynp wipywd nunwpy whpntjphy nnipu thypliph wyGuhuh pusp-
fumd pGuptp, np Gpuw Gpunud nwnG mGaGw wjuughuh wtiup.

w) E=E,,
p) E=a( r),
q) E=(a-b)r,
n) E=ax(xr),
t) E=(a-r)kxr),
qQ E=rx(bxr),
t) E=a(b-r)cos(k-r),
0 E=E ¢ +Egé; +E &, npuntn E nuwnp opnajwd t glnu-
Jh6 YnnpphGunnupué hwdwwpgmy®
E, =Ar*(Bcos?9-1), Eg =Ar~4sin29, E, =0,
p)E=E ¢ +E é, +E ¢, npmtin E nwawp npnjwd t qu-
GujhG YnnpghGunnwywl hwiwywpgmy®

2 2

E, =4(1+’:—2Jcosa, E, =A(I:—2—l} E, =0,
Wuutn E, a b, & qljunpltpp yuiuuwd ;46 YnnpnhGun-
Gtphy, A-G hwuwnwwnmG t:

1.3 Uwqlihumunwinhl nupwp mupwdmpjut wié Ynbpmy, npunbn
hnuwGpGtpp pwywlwymd GG, pujwpuwpmd £ rot H=0 u divH =0
hwjwuwpnuiGtphG: Luwh whpmyphy nnipu upbih® £ wpnynp
Eitgunpwiwi  hnuwGpGiph  wjGwhuh  pujumd  pGunply, np
whpnyph Gipumyd dwqGhuwywi puynb mGhGw wjuuhuh nbup.
w) H =H,, npntin H;-6 hwunwnmb Ybiwnp L,



p) H=a(z8, +xé, + ye, ), nppntin -6 hwununnma t,
Q) H= 3(m- r)r
r=0 I;hrmn nhwnwpyynn mhpmypmd sk:

1.4 Lhyptph p dowjwiwjhG fjunmpymbp b GpuGy untndwd E jwp-
quompymbGp pwjwpupmyd b6 divE=4np hujwuwpdwlp: lpnytp
thyptiph p junmpymGp, tipk
w) E=(ar)a,

p) E=gqrr,

b G G

n) E=E, é +Egéy +E é,, npntn E nuanp npnaywod t qGnu-
JhG YnnpphGuunwyuG hwiwjupgmy*

——, npnbtn m-p hwuinuwnmG Jaywmnp t, huy
r

E, =2npo(r—§R)cos3,
(r<R)
Eg =1tpo(;R—r)sin 9, E. =0

4oos9 4 smS

k4

«=0 (r>R)

b) E= E, é +E,é e,, +E,ée,, npmhq E qmzmg npn2ywd t qquitw-
JhG YnnpphGunwwG huniwljuwpgmy’

E, =i’—tpo(2r—R)cosa,
3 ¢<R),
E, =4?“po(R-r)sina, E, =0

. R2
E, = —poR l+—— cosa,
(r>R):
R2
E, =— oR(——l]sma, . =0
Wjuwntn g, ¢, a, R, py ThOmpymGGhpp b @ Ybljnnpp Ywjuwd jb6
YnnpnhGunGhphy:
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UwqGhuwumnwwmhjwymd tibywmpuwiwt hnuwGph j dwjwjwihG
JunmpymGp b dwqbGhuwlwb nwnh H jwupjuwdompimbp Yuupjwd

tG rotH =4—"t J hwwuwpmdny: Npnytp j-G, tph
c
w) H = f(r¥axr), npntin f(r)p juiwjwymi wodwlytih pmay-
yhw k, hulj a-G’ hwuwmnuwnm G Ytljnnp,
p) H =(a-r)(bxr), npntin @ U b hwwwnwnma yLljunnpGhp ub,

q) H=H é +Hgég +H,é,, npmtn H nwywp npnpjwd t
qlnujhG YnnpphGuwmnwut hwiwlupgnud®

2 2

H,=a 5——'— 9,
3 5

) . (r<R),

2rc R° }.

Hy =a| —-— pinS, H, =0

) a( 5 3 a
_ 2aR

aR
cos3, Hg =
15 T s?

Ujuwntn a¢ U R dGompymGGtpp hwunwwnniGGlip bG:
n) H=H,é, +H é, +H, ¢, npntn H nuup npnaqwd t quu-

Guwjha l;nnpqhﬁmmmllmﬁ hwdwljupgnud’

H, =0, H, =gr, H, =bR-7), (r<R),
gR’

sing, H, =0, (r>R):

H, =H, =0, H,
Uywntin b, g & R dtidnipymGGhpp hwuwnwnmGibp bG:

(r>R):

1.6 j ytyunpp dwidwGwihy U YnnpphGunGhphy Ywjujwo L

1.7

j (r.t) = j (t-r/c) optilipny, npwnbn c-G (niyuh wpwgmpymGa t: Smyy
wytp, np
w-t4(12)
cot_ r

Oquuftiny 3-pmGyyhwh hwnynpymGitphy qutip thyph p(r) dw-

YuiujhG funnipymGp nbjwpmjw, qGnw)hG U quiGwshG Yanpnh-

GunnulwG hwdwlwpgbpnd, bph mGLGp’

w) r = ry Yinmd intinuynpdwd q YinwghG thyp,

p) o dwlytpunipujhG fjutnnipjudp, hwdwutin thypwynpwd R jw-
puynny qGnuhG vwltplnyp, nph YGnpnGp qunGymd t Ynnp-
nhGuwwGbph uljqpiultinmy,

10



qQ) A qdwjhG lunmpjunip, hwiwubne (hypwynpjwd R 2wnwynny
onul, npp wtinwynpywd t XOY hwppmpjwG kg, huly YuGunpn-
Gp quuGyYnud t YnnpnhGwnGlph uygpGwlbinmy,

n) A qdwjhG funmipyunip, hwdwutn thypwynpjwd wGybpe pwp'
nunyuwd z wnwGypny,

b) o dwitpmpwjhG fpnmpjwdp, hwiwutn (hypwynpywd bwp-
pntpjnil, npp hwdpGyGmd & XOY hwppmpjwi htiwn,

q o dwhtplmpwjhG juwnnipjudp, hwdwutn |hypuynpjud R 2w-
nwynny quGujhG vwytplmjp, nph hwiwywihnipjuG wnwGy-
pn z wnwiypl t:

I htowynpnipywG Ypw qinGynn e U4 —e hyptiph hwdwiunuipG wGjw-

inud 4G p dnikGunny YtiwnwjhG nhwng, tpp [-p dqununud t qpngh, huly

thyptiph puywpdwly stdnpinilp’ wiytpempjwG, wibuitu, np

lim (el)=p:

10, e

1 Jtywnnph nignmpniG6 pGnpymd & pwywuwlwG (hyphy nhuh
npwiuip:

r, Yuinui qunGynn p dndtiGunny YwnwghG nhwnih thyph p(r) dw-
JwiwjhG ppunmpniG6 wpnwhwpntip §-$niGyyhujh Shenyny:
Qunbp A =0 Lwyjwuh hwjwuwpiwl pnhwimp pmonuip, tph
@-G Ywjuqwod t dshw)G w) r,p) 8 ,q) o qlinuyhl YnnpnhGunnGlnhy:

1.10 Qutip A =0 Lwyjjuup hwjwuwpiwG pnhwGmp jmonmdp, tph

@-6 yuwhawd t dhwyG’ w)r, p) a, q) z quublwihG YnnpnhGunnlphy:

1.11 8nyy wytp, np ry Yhunud wbnunpywd q YtanwghG thyph

@=q/|r —r,| ynnbGyhwip pujwpupmd t
Ap=—4nqd(r-ry)
hunjwuwndwGn:

1.12 Lhyptiph wipqwd p(r) dwjwiwjhG pwfudw ghwpnd GpulGy

untndwd ¢(r) wynuntiGyhwip ytpunpiwé uyqpmbph hwiwdw)G
Yuiptith £ hwzgbg
p(r’)dV'

o= [E——
lr—=v'|
purwdlh ogimpyjunip: Npnpbp @-6, bph®
w) p(r)=ed(r-ry),
p) p(r) =—(p-V)3(r), npintin p-6 hwuwmwinmG Yuywnp t,
_[po=const (r<R),
D P = {o (r>R):

11



1.13 LQwnjtip
E(r)= IE(I_)('__;_'E dv', H(r) =_l IMQ—L)dV'
lr -r 'I c r- rtl
1.14 Lwzytip hwdwlywpgh
1
m=_~ [erxpyav
BwqGhuwlwG sndtiGunp, tph j hnuwGph funnipymGp hwjwuwp

w) j =rotfaf(r)], nputn a-G hwunwnniG le;mnp t, huy f()p
r = oo giypnud Glugqmy t unftth wpwg, pwG r- &mﬁllg[nnﬁ

p) J =(@xV)3(r-ry), npntin a U ry YtjunnpGlipp hwununnniG GG:

1.15 Uyqwymytp, np juiwjwwb 4 ysjunpuiub b ¢ ujuywp nuy-
wbph huniwp 6h2in 66 htwnlyw) hGintigpuw) GnyGnipymGGhpp

w) jvw)dv = g‘ o(r)dS
) ]’v -A(r)dV =S§A(r)- ds
q) ?VxA(r)dV = f—th(r) xdS
n) ydex Vo(r) = ﬁ»(r)dt
b) }(ds xV)xA(r; = dIxA(r)
1.16 U.uu:gmghp, np bpb V;QOm Ghpuns A Jbhwnnpp pwjwpwpnad b
divA=0 wwjiwGhG, huy ¥ dwjwip wwmphwynn S dwytpunph

Ypw Gpw Gnpdw) pununphsp’4, =0, wwyw
[aav=o0:
1 4

1.17 Unyyuymytp phbh Gm)GmpymGGtpp’
]((pAv ~yAg)dV = j'[(vﬂ -y a—q’)ds.

I(\yAcp+Vqu>)dV = I\y % 45

v s On
npuntin 22-01 2. -p o rulpwyyup miGlyhusGbph gpuinpbGianh
Gnpiw) pwnunphyGtipt GG S dwybplngph Gpuumdunip:

12



1.18 Snyy wtp, np tph qGnujhl dwywih Gipund witlnplp Ap =0,
wwuw ¢ wnnbGyhwih shehG wpdtipp qGywjhl ywikpunyph ypw
hwjwuwp t Gpw wpdtphG qGnh YhGunpnGmay:

1.19 o (k,0)-0 U Ag(k,0)G @(rf) uyuywp U A@,H) Yujwnpuywb
$nGyyhwbtph pmphti-wyunyipGp G6G°
or (k,0)=F(e(r.1), Apkw)=FA@FrDX
Lwinjtip htnljw) WEdnpinGGiph dophb-wwwytpGhpp’

2
w) 2009 - ) a—q’(zi"l. q) grado(ry),
ot ot
n Ae(rt), b) divA(r,), q) rotA(rt)
1.20 Uywynytip, np f(t) $mGyyhwG b Gpw f(®@) dwdwGwuluhG
$mphti-yjunnytpp punjwpupmd GG
o 5 _ —l-ao 2
i £ @de=~ !pr @) do
hwyjwuwpdwp (Mwpubwih hwjwuwpma ):

1

1.21 Lwpfbip o(r) = . IniGyyhwih @ (k) pmphb wwnybipp:

1.22 v hwuwnunnni G wpwqmipjunip Jwpdynn thyphG hwiwujunwuhnuo-
Ginn hnuwGph funnipymGp wpymd t j(r,t) = evd (r —vt) pwbwduny:
<wytp j (r,t) hnuwGph jr (k.©) dmpht wunnytinp:

1.23 Unuytip A¢ = —4np(r) MnwwunGh hwjwuwpiwG G, r’) SphGh
ImGyyhwb:

1.24 Unnuytip

1 82¢(r, )
Ag(r,t) —0—2 T =—4np(r, 1)

AQwjwdplph hwjwuwpdwG G-phGh dmGYyhwa:

1.25 Zwpytip wihwdwubtn wihpwjhG hwjwuewpiwG G@R,t) nzwynn
Q.phGh PnGyyhwsh GR, ©) dwiwGwiwihG mpht-uyunnibpp:

13



aLNnHvu 2

tLEUSrUMhLUUNYUSh <hULULUL
ONPGLRLENML NF <UduuurniULEMe

B byunpuiwgGhuwlwib quwnp pGnipwgpnn hhiGwyw6 StompjmaG-
GhpG L6 EEYwnpwiwb nuwh E jwpjuompimbp b SwqGhuwlw6 nup-
wh B hGnniyyhwG, npnGp nunwpympjw vt npnymd GG Uwpuylih
hwyjwuwpnuiGphy

rotB=4—“]+-l——a£, @)
c c ot
rotE =— _16_15 , (22)
cot
divB =0, 23)
divE=4np: 24)

Ujuwnbn c-G LitywpwghGwdhjuwiwl hwuwnunnmGé t b hwjwuwp t
1nyuh wpwgnipjwlp puunwpympjul dtg, p-G tithwpwlwa thypph
Junmpym GG t, j-G* L EYwpwlwG hnuwGph junmpynGp, npnGp Yuupjud
b6t GYwnpwywG thyptiph yuwhwywGmpjwb optiGp6 wpinwhwjnnn

.. Op
divj+—=0 25
vj pv 2.5)

wiplGnhunnnpjwb (wluqbihnpjwG) hujwuwpnudnyg:
Elywnpwywi nwzwnh Ynndhy p b j funmpymGGepm| pwztawd thy-
ptph U hnuwGpGtph Ypw wqnnn mdh funmpymGp npn2ymd t

f:pE-}-%(]xB) 2.6)

pwlwéuny: f~p Yngymu & LnptiGyh mdh junmpymG:

Uwpuytjh hujwuwpmuiGtpp dh 2wpp thnpdGulwG hwunbph
pinhwGpwynuiGtp GG:

(2.1)-h hhdipmy pGywd &6 Ahn-Uwjwph

B(r):—l I———j(' )x(';' ) ay @n
" fr-r
optlpp b wyG thwuwnp, np dpplwihG SwqGhuwlwb nwynh yundwn
Jupnn t (hGk) ny dhwG tGjpnpulwl hnuwlpp, wyil thinthnfuwlwG
titynpuywé nuwnp:
(2.2) hwjwuwpnuip dSwpwnbjh
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E=—<— 28)
c dt
opklph pnhwGpuymya k:
(2.8)-n1d &G dwlwovwa tikjnpwywpd mdG t L YnGunnpnn, huly
©= [B-dS
s

dhdmpyniGp’ JwqGhuwlwG hGnmyypwjh Jthwnph hnupp wyn YnG-
umphG htiGwd S dwytpum jpny:

(2.3) hwwuwpmiG wpmwhwjnmy t SwqGhuwywG thypbph pw-
pwwympjwub thwunp:

(2.4)-h hhipmy UmnGh opbGpG t*

E= i—’—: 29
i
Uhowywjptipmy, npnbn GepphG quwnbtpp wuwydwGunpjwd b6
hGsutu wpwmwphG npupwntpny, wjbutu k) Shewjwptph b Ejwmpujui b
dwqlhuwljwG pubnwymiGhpny, hwpdwp t dnyll LtypudwqGh-
uwjwb nw2wh bu Gpym pmpwghp’ bEjwpuywi nunh D hGnmy-
yhwi U dwgGhuwlwG nwwnh H pupjwdmpimbp’

D = E+4nP, (2.10)

H=B-4nl, @11
nputin P-G dhuiynp dwywih bitunpwlwG nthuinjuyhG dnitiGunG t (Ety-
npuwliwl putinwynuip), I-6° shwynp dwyjwih dwqGhuwliwl dinikGnp
(YwqGhuwynmuip):

Uwpuwjtiih hwjwuwpmdGpp shewywjyptpmd mGeG wjuwhuh
wnbup’

th:i’—tj+lQ, 2.12)
c c ot
16B
=--22 2.13
P @13)
divB =0, (2.14)
divD=4np: @195

bpt phnwpyynn Shewywjpp hwdwutin £ U hgninpnwy, huly wpnwphG
nuwtpp 2wwn wybih tinpp GG GepphG wnndwlwl nuntphy, D, E U
H, B ytjunpGtpp Juwywd GG uwpupq qoughG optiGpny

D=¢E, (2.16)
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H=lB, @17
B

npntn €-p dhpwjwph ghhitwpwyw6 punhwGybihmpymGa t, p-G°
dwqGhuwwl puthwlytihmpymbn:

Uhgwjwjptinh pudwGiwG uvwhiwGhG nuywh Yjunnpatpp puyjw-
pwpmy LG

B,,=B,,, (2.18)

E, =E, (219)

D,,-D,, =47c, 2.20)

H,-H,, = huf @21)
c

uwhdwluwihG ywdwGGGphG: Ujuntn 7 b v hGnbpuGtpny G2wGwlyky
tG ytipunnpGhph Gnpdwy U wiwGqlGyhw) pununphyGtpp: fudwGiwb
dwltipunyph # Gnpdwip wowghG Shewyw)jphy ninnywd t ntiwh tpy-
pnpn dhownjwjpp: 0-6 wquwn (hypiph SwytpinipwyhG junnipyniG6 t,
i-G" dwybpumpuijhG hyptiph hnuwGph funnpymbGp:

Etywnpwiwqlihuwlwl nupwnp upbih t pGnipugpt) ¢ ujupupu 4
ytwnnpulwb unntiGyhw)Giph shenyny, npnGp E U B ytlwmnpGtph
htin Yuupwd Gl

B=rotA, 222)
E = —grado— 124 2.23)
cot
wnGympymGGhpny:
diva+2 2 o @24)
c ot

LoptGyh wwpiwGh phwypoud @ U A wnmnblGyhw) Gipp pwyjwpwpmy GG
Qwjuniptiph hwjwuwpdwip (wthwdwubn wihpwjhG hwwuwpdwGp)

epdlp 4rn
Ap-RZ®__TT, 2.25
? 2 g2 z P (2.25)
en o4 4mp
AM-———"—=—__—T"14: (2.26)
c? ar? c ]

kGtpghwh wwhwywGmpywG opklpp LibywnpwnhGudhfumd wp-
wnwhwjminud t, wjuwtiu Ynygwd, tGhpghwih hwykyynh hwjwuwpni-
uny (MnjGinhGgh ptinptat)*

=-M_ s, @27
o
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npunbn 0-G bitwnpuiwgGhuwlwl nunh unwpwd wewnwipt t
dhwynp dwijwih wqunn thyptph Ypw, shuwynp dwiwlwynud
Q=jE, (2.28)
w-G b npwiwgGhuwlwG nuzwh tGipghwsh fonnipyni GG t shewyu;j-
pmy’
=l(E-D+B-H), 2.29)
8n

S-p tiGipnpudwqGhumywi tGipghwih hnuph fuinmpymbp dhpwyw;-
pmud (MnjGwnhGgh Ybljwnp)”
=L (BExH): (2.30)
4r

2.1 1771 p. wGqihwyh $hqhynu Lunjklnhyp
thnpdny ymyy t wybk;, np tpk 1hypw-
Ynpjwd dtwnwnju qlnhl hyblp dtyniuhy
pnGwyGtpny Gpym dwnwnyw Yhuninpn-
Gtp U htinn htinwyGGGp, wuw wpnymG-
pmd qGnh thypp Yhwywuwpgh qpnjh:
GGpunptiny, np tpym btyupwywG thyph thnjuwgnbynipymbp
YaGunpnGwlwb pGnyph t, wyuhGpl GpuGy thnfuwqnbtiynipjwl ndp
Jupbih t Gepluywuylly Fi; = e e, f(r)r/r wmtupnmy, b htGytiny
LunjtGnhzh thnpdh wpnymGpGph ypw' yny wybp, np f ()= V/r?:
2.2 CanmGtiny, np ry 2wnujhn Ytumnpny Yinnmd qunGynn Idl hn-
uwGph nwpph unbtndwod dB nuwp r Yinnid mGh dixR mnnnt-

pymi (R=r-ry) u qpiiny dB =I(dIxR)fR), qubp f(R) PmGYy-
yhwG' oquuytiiny wjG thnpdGulijwG trwunhy, np hnuwlpwwnwnp

unjliGnhnh nwwnp GpwGhy nnipu hwwuwp t qpnjh:

2.3 Oqunytiny UmnGh optiGphy U YtpunpiwG uwyqpmGphy, winwybp
Uwpuytih divE = 4np hunJuwuwpmip:

2.4 Oqujtiny dwpunbjh LjnpuiwgGhuwut SwjudniuG opbG-
phy uunnuytp Uwpuytih rotE =— —l% hwjwuwpnuip:
C

25 Oqumjtiny Udwtph pwbwadbuhy' dF = L (dIx B), ym)y ujtp, np B
[
JwqlGhuwjwb nuynmd v wpwqnipjunip 2wpdynn e YownwhG thy-
phypw wqnnui t F = £ (v x B) mdp (LnptGyh mdp):
c
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2.6 Uwwymytp 2.2.0 miunGh tipynt pnptiGhpp.
w) bpt LinpuwiwgqGhuwywb nuiznp vinbndmyd & hwumuwnmG
wpwgmpjuip 2wnpdynn (hypph hwiwywpgp, wuw
B=vxE/c:
p) bpt hitjnpuwdwqGhuwyuG pu2up vntindmd G6 hwunwnmG
wpwgmpjwip 2wpdynn hwunwnnm G hnuwipGtpp, wyw
E=vxB/c:

2.7 8myy utp, np Uwpuytih (2.3) L (2.4) hwjwuwnpmiGbpp (2.1) b
(2.2) hwjwuwpmdGhph uyqpGwywt wuydwGGhpG GG:

28 Snyy wytp, np (2.5) wlplghwnnipjwl hwjwuwpnuip wwpnt-
Guiymd t Uwpuytith hwwuwpnudGliph dbe:

2.9 8nyy wytp, np thyptph b hnuwGpGtph pwywjuympjub nhypnud
btYunpwyw6 nuywnh E pupdwdngpymGp b dwqGhuwljwG nwwnh B
hGnniyyhwG purupupmy GG wihpwihG hwjwuwpiwGn:

2.10 hGsuhup® hwyjwuwpmuGtph G6 pwwpwpmy ¢ U A ynnbGyhwy-
Gtpp € U p puhwlGybtihmpyntGGtpny hwiwubn Showdwjpmy,
divA = 0YmnGywG yunhwpbpdwG wwjiwbh nhwpnud:

211 8nyy wygtp, np wpunwphl dwqbGhuwljwl nuwnp sh Yupng
punthwGyb] hntwjwlw hwnnpnhsh dbe:

2.12 Oqunytiiny tGhpghwjh wwhuywbnpjwb optilphy U Litijwmpudwg-
Ghuwlwi nuwh tGepghwjh npuwGnipywb wwpdwbhy, uinwybp
LbtGyh YwGnGp:

2.13 8nyyy wytp, np dhowywjph pwywhwympyul phupmd Loptlyh
mdh juwnmpymGp Yupbh t Giplujwuybty

gy , 0Ty
=-==4
fe= -
wbupny, npntin

1 1 1
g=,—(ExB), T, =H{E5E, +13,13,‘—3(1;2 +B’)8&}:

2.14 Oquuytiiny hdwynmuh wwhywGmpjwb optiGphy U hwiwpbtind, np
LithunpwiugGhuwljwi nwwhG uptih t ybpuqpt) dbluwbhyw-
JuG hdwynyu, wwpqp Guiunpny fjuGnpmd dnypwd g b T,
dhompymGaGtph $hqhjwlywl hdwuwnp:

2.15 8myy wytp, np winunnhy nbugpnid Ty, jwpnuiGph ptignph hnupp ¥V
oSwyjwip wupthwynn $ dwybpunypny hwywuwp t wyn dwjwih
Ghpumd qunGynn thypwynpywd dwuGhyGtph Ypw wqnnn gmuiw-
pwyhG ndhG:
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2.16 Oqunytiiny LGipghwjh hwatysph hwwuewpnushy wujwymytip, np
Uwpwtih hwjwuwpnuiGlph hwiwywpgp E(r,t), H(r,t) nuawnbtph
hwdwp ¥V owjwimd, ywlljuywo t wwhhG mGh dhwy (niom, tph

w) V owjuih jnipupwiGyymp Yinmys mpyjwd GG wyn YtjnnplGbpp
t=0 uwuwhhG,

p) duiwGuih ywGlwywd wwhhb hwpnbh t wyg JeywnnpGhphy
nput dbyh wwebGyhwy pwnunphyp V ounjwip wwphwyng S
dwljtipumyph yjmpwpwGyynp Yhnnud:

2.17 8nyy wdtp, np tpynt Sheunjwjptiph uwhiwGh Ypw hnuwGph
Jvunmpju6 Gnpwy U wnwbqllyhwy pwnunphitipp puwjwpwpntyd
1]

j It J It :

de _Jieno, jhji=-T,

A Jan—Jia a5
“wpujdwGGphG, npntn A-G Gynph wtuwjwpwp hwnnpnuywbn.-
pymGG t, huly 0-G SwytpunmpwishG thyptiph punmpymGp:

2.18 Uwpuytih hwjwuwpnuiGhpp shewywptpmy qptip LnptiGyh mdp
npnznn E U B uznbph U shounjwjpmud GpuGy dwymdwd py,,,, U
Jywy, thyptinh W hnuwGpGph fjunnipymGGtph shenyny: Snyy wnytp,
R Pyt U 0 pudwpupmyd 66 wiluqtthnipjuG hwjw-
uwpiwp:

2.19 Snyy wtp, np (hyptiph 8r wytpg thnpp ninwihnfunpywi dw-
dwGwy Gpuby p fuwnnipyniGp thnfuynud £ 8p = —div(pdr) swhny:

2.20 Uwnwytp titwmpwlwi nhwynith wynntGyhwiG m pwpdwudnipymbp

r>> l hinm Yimtipmy, npntn I-p nhwnih (hyptph htpwnpmpniGG
L MunuwujuwGé wpnwhwjpntp p =el nhwynpwihG dndtGwh

dhonyny:

2.21 Spwd t tijunpwlw putinwydwb ytywnph P () quywnp: {wpn-
Ght, np P(r) $nuGyyhwG pwin hinymu wybijh wpwq t Gyugnud, pwb
1/r? $nGyyhwG: Uwquymytp, np pitinwydw Ytljunnph winuihuh
pw2iujwompjudp untindywd kjEjnpuwluwl nuywnp hwiwpdbp t
p(r) = - divP(r) owywiw;hl hunmpjyudp thyph quzwnhG:

2.22 Snyy wytip, np Yuwyywd (hyptph

Ip,lml dv =0
v

sagnpmpjwl wpuydwthy L
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+diV]"um' = 0

wwhwwGnipjwl optlphy htinimd GG Ywwywd (hypph U hn-
vwlpGlph htinlyw) GEpYwyjuymiGupp’

0P guny
at

. aP
Ppuny =—IVE,  Jyuny = o +crotl :

Ghpwnpymu t, np wjuwibu npn2ywd P L I JuywnnpGhpp Gymphy
nnipu hwnjwuwp GG qpnjh:

2.23 Uyniph V dwyjwiny dwipnywnph p tihjnpuws b m dwqGh-
uwiwb nhyniwjhG WndtGumGhpp vwhiwlGyny 6 wjuwbu®

1
pP= !p,,wrdV , m= 2_cJ(rxj"“"" )dv:

P-G U m-p wpnwhwynbiny Gwjunpn fuGopnud Singpwd P u I k-
winpGtph dhenyny, wupqlip YpghGGtphu $hahjwywb hiwwmnp:

2.24 Snyy wtp, np Yuwwwd thyptiph stqnpnipjut wwpiwéh 2Gnphhy
P tityunpuijwG nhuynjwjhG dndbGnp jupugwd st nnpghGunGtiph
uljqpGuytiinh pGinpmpimGhy:

2.25 8nyyy wytip, np AP/dt = 0 wpuywGh 2Gnphhy m SwqGhuwwG dn-
dhiGwnp juwudwd st ynnpphGuinGph uyqpluwytinh pGnpmpynmGhy:

2.26 8mjy wytip, np j = crotl dwqGhuwymuiny wwjiwlwynpywd hn-
uw@ph jummpyuG Gipppmdp Ginizh YuiwjwywG Yuopgwopny
wGyGnn phy hnuwGph vt hunjwuwp t qpngh:

2.27 Jwiwlwyh ¢=0 wwhhG Shwimd t B=B(f) jwpjuwompjuip
dwqGhuwlwG nuwp ( B(0) =0 ), nph nnmpjniGp sh thnfugmad:
Qwynmi qunlynn m quGqywony b Q hypny hwdwutn qmGnp

nuwh wqpbynipjwl wwy vjund  wumngb;: GGpwnpting, np
qfinh Gtpumy B nwup hwdwubin £ b wGwnbubiny qinh hwjunupd
wqnbiynipym Gp wpmnwphG dwqGhuwljwb nwwnh Yypw, npntp qlGnh
upnnynh Q wbyymbGughG wpuwqnpyneGp:

2.28 Qptip Uwpuytih hwwuwpmiGpp E(r, ¢) U B(r, {) nwwntph dw-
SwlwliujhG b iphy dmphb-yunnybpibph hunfwp (Guowpyni-
pJwl nhiujpmy):

2.29 LnphGyh ww)jdwGp b wihpwjhG hwjwuwpmiGtpp qptp @(r,t) U
A(r, t) wnntiGyhwy itiph dwdwGwlwjhG & jphy dmpht-yuwaybp-
Ghph hwiwp (Quwwpynpjub nhuypmy):
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qLnHu 3

tLsuspuahLUUPYUSH
LSNHRULUL <uduuurnruuere

E wipnuwphfl nuwnmi ghtjifunpujwi Shewyuwjpp pmpugpynud &
P =Y p, titympwywl putnwydw6 Ybipnnpny, npntn p;-G dhew-
i

Ywyph i-pn dwuGhyh (wnndh, hnbh, diniiynih) ghwynjuyhG dndtGnG t,
huly gnuiwpmip unwpymd & ppn dhwynp dwyjwih pninp SwuGhy-
Gtph: AutinuwyiwG dkjuwGhqih mtuwlytinhy nhtitynphyGhpp pudwG-
ynud LG tpyn hhdGulywb fudph® putinwjhG U ny pubnwjhG nhtitynphy-
Gtiph:

PUutnwijhG nhtitywnphybtpnd dhowydwyph dwubhyGpG odnyjwd b6
ubthwlwb nhwynjwhG dndtGunny (4nzwn nhwniitp), npnlp. tpp wpwnw-
phG nuwnp puywljwymy t, mGL6 pwnuwjhG mynjuompinG: Upunw-
ph6 nuzwnmd Gpwbp dtnp 4G pipmd ghpuwnwutith nnjuoémpymé b
vhewwjpp puinwGmy t:

fly pubinwjhG nhttywmphyGepmd Shewnjwyph SwuGhyGbpp ubthw-
Jul b Ejwpwiw b nhynpwjhi dndkGn ymGEG, vwiljuyG wpunwphb tity-
mpwlwl gunnd junniyjwopwihG dwuGhyGhph Ghpumd (wnmd,
dnibyny) npujwl b pwywuwlwb thyptph YGwpnGGiph hwinuinyud
nbtnwywpdtph yunnéwnny npuip dtnp LG pipmd nhunjwjhG dn-
dtlwn: Wnuwhuh nhyniGbpp uinwyt) 66 pjuqhwnwdquijui nhunyGhp
wijwlndp: LpphG wnndwlwl puunbph hwikdunnmpyunip pmy
wpunwphl nu) ntpmd plughwnwdqujwG nhwynGph dtnp ppwd un-
dkiwp hwikdwnwywb t npuywht’ p =y E, ¥.-0 Ynplmi t phinuydwb
qnpowlhy (putinwyytihnpymb):

13 Gnup nhtEYywnphyitpms Shewwjph Swubhybitiph ypw wqnnn E’
wmbnuwjhG (nlwp) nuwmp Shewyjwjph pubnwydwl yyuwwndwnny Yupnn k
qquhnptiG nwpptpyt) E wpnwphG nuwhy: hqmnpny Shewjwjpk-
pnud E’ wbnuighG U E wpnwphG quwnbpp juupywd b6

E'=E+ % 3.0
wnGynipjunip, npntin 47P/3 wnuwip Yngymd t LnphGyh wpnymGwpwp
nuun:

LbpphG winndwljwé nuywnbtph hwdtdwnmpjwdp pmyy wpnwphG
nuuntpmd P(E) U D(E) YwhijwdmpymGGbpp qowjhG tG: E hwu-
wnwwnnil wpnwphl nunmd nknuynpjwd hquunpny nhttunphyb-
pnud wpn uutpl mGkG wwpqugntjG mtiup’
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P=y9E, D-=:“E, (2)
npntn io)-ﬁ dhpwywyph unwinhly ghtjbjunpuuG pGYwnGuyne-
pmait, ¢@-@ ununnhly phtitunpuiwi pwhwlybjhmpiniGp: Uth-
gqnuipnyy Shewjwjptipnud (3.2) wnGympymGGLpp thnfuwphGynud GG

P =xaEp D =e4E, 63
pliiqnpuijwG wnGympjm GGLpnyY:

dnthnfuwlw i Enpuywé puanmnd P b E YjnnpGph dhob wndb-
GwpGnhwlnip qowihG Yuwp hwiwubn Shpunjwjpbpnud mGh

t
P@ro)= ]‘ dr [ dv'x(@e-r', t-t)E@',t) G4

wbupp, npubn x(r,t) PmlGyyhwG npnzynus t Shownjwyph hunnym-
pyuiGGtpny: (3.4)-my hwpyh t wnGjwd, np mwpwdnipywl r Yhnmyd
dwdwGwyh t ywhhG fEunpulwi puinwymip jupnn t Yubo]wd 1hGkg
hGywtiu 2ppwlw Ynbpmyd guwnh wpdtpltphy wpwdwlwb nhu-
wbpuhuyh Gplnyp), wyGutu by ¢ ywhhl Gwlunpnud wwhbtphG nuwnh
wpdtipGiphy (dwdwGwljwihG ghuwybpuhwih tpumgp): Swpwowywb
nhuybpuhwih puywlwjnipywb nypnud (3.4)-p nunind t

P@)= [x(-)E(t)df 3.5)
Yuwd wGyGhiny Pu E $niGyyhwGhph $nmphb wpwalbpGuphG*
P@©@)=%.@E(@®) (3.6)
npubn
Le @)= IK(t) edt: X))
0

Swpwdwjwb nhuytpuhwih puywlwinpjuG nhypmd D(f) U E(f)
YuyunnpGph dhol uwG pGomGwd t gpty

t
D(t)= E(t)+4x j x(t-¢)E(t")dr G8)
wbupny, Yud, dnphb-wyunnybplGph hwdwp'
D @)=t @)E @), (39)
npwntin
(@)= 1+4ny, (@): (3.10)
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3.6)-nui U 3.9)-m ¢ (@) U € (®) Yniyy bipu gnpdowhyGhpn GnyGubu
Ynypimui GG phtiiunpuwiwi pGYwiniGuwlimpmb b ghtbjunpuywi pw-
thwlybthnpyntl, vwlwyl GpuGp hhdw Ywy 6 hwunwmnmd npdud
hwSwhumpjuip hwinmwywnwupwng P), E@) U D@), E@®) y&y-
wnplliph dhol b hptiGp b Ywhujwd GG GnyG hwiwlunpymGhy wyn
wuwintwnny dwiwlwlwihG ghuybpuhwh thnfuwpkG oqunugnpdmyd
b6 Gul hwSwhuwihG ghuwibpuhw wiYwimdp:

£(@) =€’ (@) +ic"(®) @11

ymiytipu punhwybihmpjwl hpujwl dwup ©-hy jwiodwo qnyq
P$mGyyhw t, Yo dwup® GG Imbyyhw’
g'(-o)=¢c'®), &"(w=-t"©): (3.12)

Upwlp hpwp htwn Yuwupjwd 66, wjuwbu Yyapjwd, ghuwbpuhnG
wnGympymbGGbpny @puwitpu-2pnihgh wnlympymGGhp)

e -1=2P [ @) gy, .13)
R L 0-0
e"@=1p [= @)1, G149
n o -0

npntn P GwGp ynyy t wmwihu, np hGubqpuiGipp hwapymd b6
quiuwnp wpdtph hdwuwnny:

UwqGtinhlGph hhiGwywG pGmpwugptiphy t I swgGhumyG phb-
nwydwl wqGhuwydwG) JtYwnpp, npp pnyp nuwwmbph phwypnud
qowyhnnk6 t Juhuywd dwqGhuwlwb hGnpmyyhwihy: Cuwn npoid hwu-
wmwwnnil guanmy qubynn hqnnpny dwqlitnhyGhpntd

1=¢9B, H=-L B, (.19)
N(o)

npnbn xf,‘,’)-ﬁ wnunnhy dwglhuwmlu pGiwmGuynipymGi t, u(o)'ﬁ‘
dwqGhuwuG puthwlybkihnpynGp: Uwqbtwhylitpp quuwuupgynud
6 puwn dwqGhuwlpub pGYwmGuympyul dtdmpywub U Gywbh: xﬂ» <0
hwwnlnipjudp shounjwjpbpp Ynyynud 6 nhudwqGhuGlp, ¥ ﬁ?) >0 ww-
puwdwglhublp: Cwwn ¥Ed dwqGhuwwb pGumbulmpyuwdp Gynptpp
& © >> 0) Ynyqmd GG PunniwqGhuGlp, vwlw)G GpuGy hwiwp I(B)
Yuuyn qouwh st:

Upunuwphl dwgqGhuwliuG nuwnh wqnbympyjwl umuy nhwilwglGhu-
Ghph winniGtph tiynpnGwght punuGpGhpmad bitunputwgqGhuwlwl
dwjwodwi optiGph hwiwdw)t wnwewGny b6 dwjunjwd JngwGwyhG
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hnuwGpGbp, npnGyny wwjiwGuwynpjwd dwqGhuwljwi dndtGunGhpp,
LtGyh yulnGh hwiwdw)l, hwhwnewl GG nunqjwd twqGhuwljwb nu)-
whG: ThuwdwqgGhump)yniGp pGnpny b pojnp GymipbphG, vwlju)G npuGny
wpuiw Gunpjwd dwgGhuwynudp pmyp k(| .~ 107%):

MupwiwqGhultpmd wnndGipG odnywd GG utthwljwG dwqGh-
vwhwl indtGunny, wvwlyw)G npuliy monjuoémpinilp nwpwdmppub
g9 pwnuwjhG t, wjGwbu np, wpnwphG dwqGhuwuwb nuwnh puyw-
Yuynpyjui ntiwypnid Gpulp dwqGhuwlw6 hwnympimGatp 366 npuln-
pnud: UpwnwphG dwqGhuwiwl pupnmd dwqGhuwlwl nhwnGspp
4tinp GG ptpmud gbpwnwuth mgnywonpymG U showywjpp dwqGh-
vwlnd t: MwpwiwqGhuGlph dwqGhuwlwb puthwlytihnpmbp st
sk (x f,?) ~107¢ +107*) U ujujwd t dhowywjph etipdwuwnhSwGhy:

Omhnjuwjwb dwgbhuwlwb nuanbpmy x . (®) U p(e) dEompyma-
Gtph hwwnynipyniGGpp GiwG GG x , (©)-h b € (@)-h hwnynipyniGGhphG,
vhwjG pt w-h wéh htwn p(w) Swqlipuwlwb punhwlytihnipymGp wpwq
dquunud L dkyh:

UtinwnGtph bijunpnGuphl mtiunipynind pnugb-LnptGyh nb-
umpynl) tGpwnpdmd t, np dhwnwnitpmd yu wquin byunpnGwhG
quq, pun npmy wpunwphl nuwnh puywliuympyul nypmy bky-
npnlGlipp juunwpnd b6 jjupquynpdud ghpiwihG wpdnud: Up-
wwphG tbywmpwliwi nuynnd btwpnGGhph ehipdwjhG Jwpdiwbp
gnuiwpynul & nnnopnwd 2wupdmyd b wowewlmad k Eitunpuywb hn-
uwfip: Glpwnpynwl k, np fjunpnGGiph pwhinuiGipp Shiywly htan
Juptih L wlwnbuby, huy hnGGGph htwn pwhadbihue biYnpnihpg wipnn-
onyhG GpuGy GG hunnppmy wpunwphG Hbjupujui guanmd dtnp
ptipwd tGtpghwG, nph himlwGpny dhewywjpp mwpwlmd & wlpun-
ymd bt gnmpwG ebpdmpymG): Uyu tGpwnpmpymGGiph hhdwG ypw
Juptith t puywwnpl Oth

] =AE (3.16)
L 2nmy-LtGyh

q=\AE? G.17)
optiGpGLpp, npwntin j-G hnuwGph fuwnmpymGa t, g-6° Sheunjwjph Shwinp
owjuymyi dhwynp dwiwGuwymy wlipuwwnywo etpdnmpjuG pwlGwuyp,
-6 vnunnhy hwnnppuywGmpymGn:
Onthnfuwwi bEmpuljub gunmd hwnnppulwnpntGp juowd
L nwywnh o hw6wiumpynGhy b Yuy § hwunwnmid je) b E() Jyoy-
wnpGbph shel*

J@)=AWE@): (3.18)
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A (@) Yoduybtpu hwpoppujuwlimpyjul hwiwp GmjGubu wmbnh mGLG
3.1D-(3.14) mhwh wnGympymGGLp:

UatGp, np £(@), 1), A @) Yniuybpu dEompymGGtph hpwiwl dw-

utipp pinipugpmd G tjijuopuwdwqbGhuwyuG wihpGiph ypnwip dhew-
Juyptpnud, huy Ytnd dwubpp’ Shewyqwjph Yiwlng hwinympymbGtpp:

3.1

3.2

33

34

3.5

bGiGtiny plinhwGmp nunnnnipymGGiphy npnytp, pt hwununnnil
LiEyunpwub quywnnd hGy ntup niGh ny putinuighG nhtykYwmphy-
fitph (‘o) nhtitjinpuywd pGywnGuynpimip:
Quntip wnnnih y, putinuyytiihmpymGp, tpt LiLiwnpnGGepp zwpd-
ymud &G 2pewbwqowihG mnkoptpny:
QpwdGh wwnndmd ttyupnGuhG wiwh funmpmbp GYywpw-
qpymud £

p(r) = —% el

na

pwlwdlny, npuntin e-6 wmwppwywb thypl t, a-6 hwunwwamG t:
Npnptip wnnth Y, putnwydwb gnpdwlhyp (pLtnwyybihnpymGp)
hwidwphiiny, np LEwnpnGw)hl wiuh mbupp dnd t wihnhntu:
LuwjwGwywGnpymbp, np p nhynjpwjhl indtGnny ingbymip wp-
wnwph( quwnh htin YYuwqdh dOQ SwpdGuyhG whljwb dhe pjwuo 8
wilymb, mpymd t AnydwGh pwtuning’

dw=Ge ¥ ®/T g0
opuntn G-6 ywihwpbpiwG hwunuwnmGa t, #W(S8)=-p-E thont-
pymGp’ p nhunth b E nuwh thnjuwqnbympjub tGpghwG, k-G
Lnydwth hwunwnmbp, T-G Shpunjw)ph eptwumhéuGn: Oqun-
ytny PnpydwGh pwptunulhy hwytp dheunjwyph nhtibwnpulws
pAYuymGwympmbp p nhynimyhG InikGnny Ynyw nhwniGtphy
Juqiywd pUtnwjhG nhiitynphynui: UnwGdhG  pGGwpytp
p-E<<kT up-E>>kT nbupbpp:
CGnmGhiny, np hqnunpny nhtitwnphhh Gipumd gnponn E’ nb-
nuyhG nuzwnp E wpunwphG nwywnh htn juwyws t E’ = E +4nP/3
wnGynipjudp, wnwybp Juy €@ phtyunpuwe pwihwytihn-
pjwG U % £°) nhtiyunpuwiw6 pYwnGuynpput shet Gum-
qhnw-Ununnhh wnfympymG):



3.6 Oqubiny LtiGywmpwunurnhy nwiwmh tGepghwih jfuwmmpyub
w=E-D/8n wpmwhwjnmpjmGhy, ynyy wytp, np €, nhtiby-
wpwlwi piiqnpp hwiwurh e, =€,

3.7 Npnatip @, ubthwwl hwwenpjuip (hypwynpiwd nwpwdw-
JwG ouyhyunnnph nnwnwlmibhph hwéwhumpyniGp B hwunw-
wnmi dwqGhuwuwb guynned:

3.8 Lwytip B hwiwubn dwqGhuwlwl nwinh shwydwé dwiwGuy
dwiwoqwo dppYuhG tibjnpuywt quwmh Yynqpdhy wnniwlub
titYwnpnGhG hwnnpnwd AP hdugnijup:

3.8 Lwitp B hwiwutn swqbhuwlwb nuynh dhwydwl dwdwiuy
duwoqud dppywhl tiEYunpuiwl nuwmh junwpued AA w)-
luwwnwGpp 2pewGugdwihG mnkdpny wpdyny wnndwlwb tjhy-
wpnGh Ypw: GGpunptp, np tijuipnth 0y wilymGuyht wpwqni-
pywG thnhinfunipynilp 2unn thnpp t:

3.10 Lwytp dhewwjph titnpnGGtph Lwpinpjwb upnangnmy wwy-
dwiunfnpjwo dwqGhuwijpw phtimuydwG I Ytjnnpp (phuniwqGh-
uwynui);

3.11 Oquytiny Gwjunpy fuGph wpnymGphy b LyupnGuphG wiwh
JuwnnipjwG hundwp 3.3 fuGnpoud pipdwd pwGwdthy® hwgtp epwd-
Gh wnniGtiphy Yuquigwe Shewwjph ¢ f,?) dwgGhumywb pGlurnt-
GwlympynGp:
3.12 Luipytp m, SwqbGhuwlwl dndbGinny SnihymGophy Juqigwo sh-
ewjuwjph dwqGhuwlwl putnwydw I Jtjunnpp pupudwqbh-
uwynul):
3.13 8nyy wnytip, np By wpnwphl hwuwnwnnmG6 SwqGhuwiwb nuznnud
qufynn wwpwiwgGhuGpmd I SwqGhuwydwb YLijwmnpp 2ppw-
GuyhG wpbybuhw b Yunwpmd B, Ytijunph ngnmpjwb Jntpgp:
3.14 GGty WhwnumGtph dpmnh-LnphGyh tbnpnGwihG nbumpymG
npmypGhiphy
w) unwytp hnuwph fpnmpyul L wpnwphG b Ewnpuliwb nuwh
rupjuwompjul j(E) ufujuontpynifip: LGGwpytp thnpp b dLd
nu2nbph ntupp,

p) winuytp hwnnpnhsh dhwynp wjwymd dhwynp dwiwGuymd
wipwnjwd otipinipjwb pwGuyh q(E) juwjuwdmpymbp wp-
wmwphG tibnpuwi nuwowh E jwpwompmbhy,
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q) 8myy wyjtp, np tpt hwiwubtn, hwwnwnmG B dwqGhuwlwG
nuuhG nqnwhwjywy, Gpup, d (wjmpjuip tStwwnjwu dw-
wwykGh bplpujGpny wbybmd b j nnipjuip hnuwGp, www
dwywytiGh tiqptiphG wow9wGnid t Ag ~ j Bd wnwntiGyhwy Gph
wmwpptipmpymG &nqih Ltu):

3.15 CanmGtny, np qbphwnnpnh;Gipmd Gynipwwé hwwuwpnid
mGh
c
I= 4nA,

wbupp (LnGnnGGeph hwjwuwpmy), npntn j-6 hnuwGph fuwnni-
pJmGG t, A-G' Julnnp-wnnbGyhwp, A, =mc?/4nN e?, N,-G
LitywnpnGGtph funnpymGa b, ymjy utip, np dwqGhuwlwG nuwnp
sh pwthwlymy qiphwnnpnhsh Gepup Wwjyubtph LPLlwm):

3.16 Qwyybp m quiqwony U q (hypny phofuwgnnn SwuGhyGliphy
Juqiywod Gnup quqgh x . @) nhtitynpulwb pGYwimGuympymip
U (@) nhtpiyunpuywb puhwbythngpymGp:

3.17 Snyy wytip, np YLd hwiwlumpjwip tmhnjuynn bbjunpudwugbh-
uwlwl guynmyd ponp Gympbph €(@) phtijunpuywi pwihwi-
ytithmpymGp npnymy t Gwjunpn juGnpmyd vnwyqwd wnGym-
pjwip, npwntin N-p dhewwjph tiiyunnpnGGtiph funnpymGa t:

3.18 (ipnytip Gnup, ny putinwjhG nhtiiunphyGph x , (@) pGYwniGwynt-
pymip be(@) puwthwbytihmpymbp: Gpunmimi £, np ®; hwwhum-
pjudp tiwnpnGGph hwpwpbpulwb phyp f; t, U np tijwpnG-
Gtph Ypw wgymd L Gpwly wpwgnmpjubp hunibdwnwlub nh-
dwnpmpjuG md:

3.19 bGywb®u Yhnjudh (@) phtitywpuywb punhwGybihmpymbp ny
putinujhG nhtnphymd o, ntignGuwGuushG hwiwfunmpjwip dmn
hwéwhunipymGGLph niypnud’ LnptiGyh wpyniGupup nugnhhwy-
Juniwndp:

Y|

3.20 Uhpww)pp Juqijwd t N luinmpjundp wnwdquijubnptl Yuw-
Jwd jhypuynpwd dswuGhyGbphy, npnGy wnwdquijuGmpyuG
qnpdwlhyGlpp wwppbp 46 Gptp thnfununubwywy nunnnipyma-
Gupny: Gnbp shwyw)ph €, @) nhtibyupwiwé punhwiybihm-
pjwl pilqnpp:

3.21 Lwpytp 1wy hwnnpnhy dhewduyph A(w) hwnnprulwGmpynibp,
@) pGyuwpmbuympymbé m (@) puhwbytjhmpymGp’ huiw-
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pbiny, np hwnnppujwinmpjwib tibyunpnGGaph wpgbpuldwi pninp
wnnytuGtpp Ywpbih t Gwpugpl] GpuGy wpwqmipjublp hw-
dhdwnwyuG 2thdwG nidh dhgnyny:

3.22 Cun Yhipwjh, putinuhG nhtytywnphyGhpnud E, bjsynpulywi pu;-
wnp thwyGhjhu phtibywphyp pltinwlimd t wunhSwGwpwnp,
P(1) =P°(l—e""/ *) optiGpny, npntin -G nbjwpuwyhwh dwiwGu-
Ywdhenyl t, Py =x P E, skionipniGp pubinwydwG Yuiyni Guyfwd
wpdbpG t E, hwunwumb nuynmd, bpp >> 1, x @ -6 winwnhy
nhtiywnpwlwb pehwinGuympmbp: Lwpgtp putnwjhG nhtyby-
wphyh e(@) ghiupuiwe puthwGyb hnipymGp:

3.23 Lwinqytip, np putnwjhG phtityunphyh e(w) punhwGybihmpyub
hpwlw6 b Ynd dwubpp pwjwpwpmil 66 Lpwitpu-Lanthgh nhu-
wtpuhnG wnGympynGGtphG:

3.24 Oqunytny (3.12)-hy" (3.13) nhuwbpuhnG wnGympimbp GEplusjuey-
ptip hwdwumpjwG dhw)G npuwlwl wpdtpGph whpn pmy hGuntiq-
puwih wnbupny:

3.25 btipunpnGGiph N hunmpymGG wpnwhwjntp (o) Ynduybtpu
nhtitywpwwi puthwlyb hmpjwb Yind Swuh dhenyny:

3.26 Lwipdbny YinhnjuwwG gwnnd epdinipjul duny whlguwumjwud
tGtpghwjh funnipymGp, ynyy wnytp, np e(@) b p (@) pwihwbytihm-
pymGGph Ytno dwubpp pGmpwgpmud &G tGpghwjh ny nuipdbih
YnpniunGlipp dhowyuwyptipnd b np Gpwlp o npujwl bwswhunt-
p)nGGtphy Ywhedwd npuywb $mGyyhwbtp LG:

3.27 8myy wytp, np unmwnhy phtjjwpuwywé purhwlytjhmpymbp
dhown dLd E vbiyhy:

3.28 Mwpwiwqihuwlwb shpwjwypp mtnuynpjwd t B= B, + b wp-
wwph( dwqGhuwywb gunny, nph B, pwnwnphyp hwutnwnnG
t, b-G inhinfuynud t © hwdwlumpyunip, pua npmt By +b =0 U
b<<B,: 8nyy wytp, np tpp w-G hwywuwpynud t B, nupnmd
twqGhuwlul dndtiGnGtph wpbybuhwjh hwéwhuntpjwip, wtnh t
mbGtlnud dhowjwjph dwqbhuwlwb pltinwydwl pkqnGwGuwjhG
wé (upuiwugGhuwlub niqnGuGuh Gphnyp):
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aLntu 4
tLsusruuUsSuUsShyu

Zwuwnwunnb biunpuyul guiwnh E jwpdwdompiniGp b D hGnody-
yhwi pujwpwpmy LG
rotE=0, 4.1)
divD =4xnp 4.2)
Uwputith hwjwuwpnmiGliphG: Ujuntn p-G wquw hypbph junm-
pImGaG k: hgnunpny phtinphlGbpnul pmj) nunbtph nypmd
D=¢E, 4.3)
nputin €-p shpwywyph unwnhy ghtiupwlyul puhwGytihnipntG6 &
(bppnpn gilumd wyn Tdnipjwl hunfwp oguugnpot) bip e G2wlw-
ymdp):
4.2) hwjwuwpiw@ hGuntqpuy nbupp Yngmd £ Gwmuh pnptd®

{D-dS = 4anqs, @4)
S

npnln S-p uwiwjywlwG hwy swybpumgp t, gs-p wyn wytphnph
Ghpumd wwpmbGwyynn 1phy thypp: Lhyptph pwptudwG npnzwih hw-
dwywthmpymGoiph phuypmd Gwnmwuh ptnptidp Gpuly uwnbnowd
nwzwun htizuinipjudp hwytint hGwpwynpmpymb t nwihu:

Lwunuwnm( titmpuwlut qupwp pGmpwgpnud b6 Gl @ uljwijwp
wynnbtiGyhwyny, npp wwhdwiiymd

E =—gradp (4.5)

wnlympjuip:

Snpjwd E puanht hwmdwupunwujuwing @ wninblyhwip npo2ynud k

r
or)=- j E-dr “.6)
%
pwwdlny, npntin re-6 wnntiyhwih qpnywywl wpdtphG hwdwujw-
nwufuwbng Jwnunihn YejunnpG t ¢, ) =0
Swpwdnmpjwl tpynt Yhwntph dhel wnntiGyhwyltph ¢,— ¢, wnwp-
plipnipjniGp hwywuwp b dhunfnp thypp wnwghG Yhnhy tplpapn Yhnp
wnwuilnt dwdwbwly Likjupuwiwt punp junwpwd w2luwnwiphb:
Zwidwutin Shpwjujpmd ¢ ynintGyhwip pujupupnmy t MnuwunGh
hwjwuwmiuGp'

M:-%p: @7
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bph (hypp V dwjuimd puzfujwd t p(r) SunjwiwghG unmpyuip,
wuyw ynntlGyhwip ﬁtipl{mjwytmui L
! dVI
o(r)= I pe) )
fr—r
wbupny:
o(r) dwytpunpwshG funmpjwidp, S dwitiplntjpny putudwd thyph
unbtndwd nuwh ynnblyhwp npnzqnui t
o(r')ds’
or)= 4.9)
I jr-r|
pwiwdlm|:
Liwb duny, x(r) qdwjhG funmpywip, L ynpnyg pwztujwd thyph
untindwd nuwnh ynntGyhunp llmphl_h L GhpYuywybbg
o(r)= I 1(r')dr (4.10)
fr—r|
wnbupny:
I pimpwgnuijwG yunhtinny thyptiph hwiwlwngh e(r) wnunbGyhwip
r>> | htnunnpmpym GGLph Ypw Yuipbijh b Ghpljuyuy Gty

q>(r)—— s Quxie @.11)
r3 2r’
qmquihwinn 2wpph nbupny, npwnbn -6 hudwywngh ppy hypa t, p-6°
hwdwlywpgh tiEYwnpwlwb nhuynpwght dndtGnp'

p= j rp@r)dv, “.12)
huy Q -6 hudwywpgh tibynpuyws plwnpmuyng dnitGnh phGqnpp”
Qu = [Bxx, 1’8, )p(r)dV: @.13)
Bpym dshpwjwjptiph pwdwbiwb vwhiwGhG gopdm bG
El‘( = E2t > (414)
D2|I —Dln =4m (4'15)
Jud®

@l =@z, (4.[6)

o9, __ %9,
£y ———— =L a4 —= = 4”0 4.17
1T 52 5, .17

wujydwGGhpp: Wyuntn Gpwnpymi t, np dwlbpunyph A Gnpiwyg Y-
wnpp manywd t wnwehG Sheww)phy tpypnpnp, » hGntipuny G2wGwy-
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Ywd b6 JulwnpGliph pununphsGbpp # monmpywi Ypw, t-hGnkpuny’
dwytipnyphG 2nzwihnn nunnipjwG ypw, huy 0-G wqunn thyptph
dwytpimpwjhl fuwnnipym GG k:
ptitpnphlGinnd Yuupwd thyptiph py,, ,, luanipmtp wpnw-
hwjpnymd t Ehjwpwlwi pbinwyiw6 P Jtywnnph Shenyny’
Puuny = —divP: 4.18)

Uhguywjptiph pwdwGiwG uwhdwGhG Yuwupjwd thypbph o4, 4,
JwytpunipwjhG fmnmpymGp npnynul t

om =P}n _le (‘.19)
wnGynipjwdp:
YnGptGuwwnph mGuympintG Ynymd t
c=—1 4.20)
@ -0,

hwpwptpmpjniGp, npwbn ¢-G L @;-p phptinGiphy nplit dtyh thypG m
wynwnbGyhw)G GG, huy ¢,-p’ Yymu phpinh wnntiGyhwyp:
Eityunpwumwnhy nwwh tGipghwG ¥V owdwinud hwjwuwp t°

W=ijE-DdV: @21)
81ty

Swpwdmpjul vwhiwbwihwy nhpmypmd pwzfudwd thypbph hw-
dwywngh Hyumpwumwinhy nuzwnh tGinghwG wipnng wwpwonipym-
Gm uptih E hupdty

1
W == [p)otr)av “z)

pwlwdlny:

p(r) dwwiwjhG funmpjuip pwzfufwd thyptph hwdwywpgh U (r)
wnnblyghwiny wpunuwphG ttYmpujmi puwiwh dinfuwqpiynpyuG
tGtpghwl npnpymy &

W= I p (r)pr)dV “.23)

wnGsnipjudp:

4.1 Qunbtp p SwjwipwihG funnipjunip hujwuwpuywih thypwynpwd
w) R awnwynny qhnh,
P) Rwnuninm] wGytpg quuh,
Q) 2a hwuwnmpyuip wGlbpg vwih
untindwd Lityunpwlwl nwinh E jwpjuompntGé m ¢ uinunbi-
yhwin wwpwonipjwb pninp Yhwntpnd: keGnhpp imotp tpynt bnw-
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4.2

4.3

44

4.5

4.6

4.7

4.8

Guwyny’ QGwnwuh ptinptidh (hGnbgpuy tnuGwy) & MnuwunGh hw-
JuwuwmiuG dhenyny (phdptipGyhwy inubwly):

G.nbp 6 dwlbpunpwiphG funnipjunip hwjwuwpwwi thypwynp-
Ywo

w) Rwnwnny qlinwjhG dwybplnyph,

P) Rownunny wGytpg quubuyhG dwybpunph,

q) wGtpg hwppmpjul

heywpwlwl guiwmh E (wpjwdnmpmbi m ¢ wnntGyhwp:
~uGnhpp (motip tpym tnuGwyny’ Gwnmuh pnptsh U MmwunGh
hwjuwuwpdwl shonyny:

p owjwiwjhG unmpjuldp hwyjwuwpwsuh thypwynpud R 2w-
nunny qlnh Ghpunid YhGupnGhy a htnwynpmpjub ypu Yu r
2wnwynny qlinwjhG funnny (r + a< R): Gwbip biEynpuwywi nuywmh
(wpywonmp)nilp junnngh Gpuma:

Lhypp pwotudud t p =p (r) YiGunpnGwhwdwswih optGpny: E1by-
wnpuwunwwnhy nuanh @(r) wnntiGyhwiG m E (r) jupwdmpyniGp
wnpunwhwjnbp p(r)-h shenyny’ pun r-h Shwwwnhy hGintignug-
Gtph wnbupny:

bpym hwiwlytGunpnl R; U R, R, <R,) zmnwtumﬁb[mq qGnwjhG
twytiplm jpGtiph dhol thypp puzfudwid t p=a /r? opliipn: G-wntip
hwiwyungh (nhy ¢ 1hypp, ¢ wmnbkGyhw)G m E nuzwunp wdpnng
wnwpuwompjwub vtig:

Npnatip 9pwoGh wnnth titYwnpnGwihG punubGph untindwd wn-
wbtilyhwyp, tpk hhdGwlwb JhGwymd titwnpnGh thypp nwpwont-
PJwi ibg puafuwd t p(r) =—(e/ na> e >/* opbilipny (a-G hwunw-
wnntG t, huy e-6° mwppwijwG thypp):

Aipn2tip g thypny hwjwuwpwjiwih thypwnpijwd 21 tpupmpjunip
hwwnyjwoh ¢ wnnbiGyhwip b hwdwwnnbGyhwy SwikpunypGph
wnbiupp:

YpYyGwyh Litjuwpwywi ztpn widwmy b6 +6 U —o Ywytpm-
puhl fuwnnipjunip |hypwynpwd, hpwphy ! hinwydnpmpjwG ypw
nuuwynpjwud gniqwhtin JwitipumypGtph vwhiwlGwjhG hwdw-
YJupgp, tpp ! -0, 6 - o, umhwyG ol=X Ytwnnph WEdmpymGp
UGmd t hwuwnuwnmbG b ysppwnp (I yiunpp nupnwd t puyw-
uwjwb thypwynpywd Swytpunyphy nbwh npulwiGp): Unwytp
pwlwdl Ghwl hwiwmiwpgh wnwnbGyhwih hwiwp, wjé wpnw-
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hwjntiny ypyGwyh 2tpinh Z hqnpmpjwidp: Smyy wjbp, np wn-
wnblGyhwi 6 wju niygpmd mGh juqmud:

4.9 Zwiwubn YpyGuyh tjinpuyub tpnG mGh R 2ununnny uljw-
Jwnwyh wnbup: Z wnwlypG moqnuhwjywy b ufjwjwnewyhG b why-
Gt t uwywnwyh YEGnpnGny: Lwdwpbing, np YpyGwyh skipnh
hqnpmpym GG mnnywd t Z wnwbypny, quntip timpuljw puzwnh
@ ynutfyhw(G nt E jupjwonipynmn Z wowGyph Ypuw:

4.10 UpyGwyh HYwnpwlwb 2kpnG mGh Z hwiwywhnpyjuwld wowiy-
pny YhuwgGrnuiyhG dwybplum jph ntup, nph YtGwnpnGp hwdpGlyGmd
t ynnpphuwnwiwG hwiwfupgh uyqpbuytnh htun: YplGwyh
2tpwnh X hqnpnipymGp Ynpnyny hwuwmwnmG t b nnjwd wnw-
yhn ytyunph mynmpjwudp £= Xr/ r: Gnbip tiijunpulwi nuwnh @
wynunbiyhw 6 m E jwpjuwdmpimbp Z wnwGyph ypu:

4.11 (y =0, x 2 0) jhuwhwppmpymGp YpYyGwyh LE{npuliub 2bpn E,
nph £ hqopnipymbGp mnnjwd t Y wpwlypm] U hwunwwnmG t:
Qantip bibYwnpwlwi nuwnh ¢ wnntGyhwiG m E jpupuompymGp
wikGniptip:

4.12 Lhypp wwpwompjub dkg puyfudwd t p(r) = ry cosax cosPy cosyz
wuppbpuywb optlpny: Npnztip tiijwmpuywlG nuywh ¢ wynnbkl-
yhwiG m E jwpjuwompymbp nwpwonpjul ympupwlyymp fb-
wnm:

4.13 Lhypp pwlujwd t XOY hwppmpjwl dk9 o(x,y)=0 ¢ sin ax sin By
wuwppbpwlwG optiGpny: Npntp titwnpwywb nuwnh @ wynnks-
yhwil nt E jwpjwompjmGp:

4.14 Qantp R wnwynny qlnujhl Swytipinyph uwntindwd ¢ ynunbG-
yhwiG nt E jupjuompymap, tipt Gpw ypw dwykpimpwjhG jhypp
puplujwd t ¢ =0, cosS ophlipny:

4.15 x; LUy, thuph QowhG pwtunmiay tpym gniquhtin jwptph htinwyn-
pmpymGp 2k L Qanbip Gpwly hwiwymnbGyhwy dwybkplnypltph
huJwuwpmip: UnwGdhG pGGwpybp %, =% =X, X3 =-A2 =X
ntiwptpp:

4.16 Muwpqtp, pt hpwphy h htnunnpmpjwub Ypw qunGynn q; L q,
ytiunwyhG (hyptiph hwdwlwpgh hwiwymntGyhw) dwytplmp-
Gtph pymud hGy wwySwGh nuypmd YihGh qGnwihG dwytplnyp:
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Qnbp YupohGhu YhGwnpnGh nhppp b 2wnujhnp: hGsh® t husjwuwp
wnnbtGyhwy G w)n dwytpbnyph Yypw, tiph ¢ (©)=0:

4.17 Gutip o vwliptmpwjhl funnipjudp hwjwuwpwywh jhypwynp-
Jwd R, GtpphG U R, wpwwphl wnuwyhnbtnny hwpp onwyh ¢
wnutifyhuy6 nu E (wpjwdmpymbp onwih hwppmpjwGl nu-
nwhwjwy hwiwsuhmpjwl wnwlyph ypw: Hhumwpytp uwh-
YwGwjhG niwphp’

w) wiytipg pupwy onwyh nuawp R; -R, =AR<<R,),
p) hwpp ujunjwnwih nuanp R, - 0),
q) (hypwynpywd hwppmpjwi nbwpp ®; - 0, R; - ).

4.18 R 2wnuninny pwpwly onuyp juqijwd t tipym, g L —q (hypipny
hwywuwpwywh thypwynpywd YhuonuiyGphy: Npn2tp tiunpw-
Jwb nuwnh ¢ wnintiGyhwiG m E jwpwdmpymbp onwijh wowby-
phl dymn Yhnbpmd: h°Gs pGnyp niGh nwzwnp onuihy 2unn htinm
Ybwntipnud:

4.19 Gntp g thypny hwjwuwpwywih thypwynpywd R 2wnuninny pw-
pwly oquih ¢ wnwbGyhwil m E jwpjwompjniGp mwpudmpjub
Juwdwjwmiw Yannud:

4.20 Npnytip 1hyptiph pw2fumdp tnwpwdmpjui the, tph Litiwnpwuwnw-
wnhy nuwnh ¢ wnntGiyhwG niGh htimbjwy nbupp.

[ ax x>0, - ql/r (r>R),
w) ¢(x) = {-ax (x< 0), P o) {C =const (r<R),

npuntin r-p hinunjnpmpymG6 t YynnpphGuwnGbph uyqpiwytinhy:

glnr (r>R),
r)=
¥ o) {C—-—'const (r<R),
npntin r-p hinwynpnipymGG £ OZ wnwGyphy:
Ujuwbn a, g U R dtdmpymGGhpp hwuwnwmnmGGhp bG:

4.21 Lhyptiph hGswhuh® pwzfuniing t untindywd qGnwhG YanpnhGw-
wnujwul hwiwjwpgmyd

o(n=2 e"'/"(f + 1)
a r
wntiup niGhynn wnnbGwyhwiny nuaap:

4.22 Lwtp R 2wnwynny b g thypny hwywuwpwswth 1hypwdnpgud
qGnh U qfnu)yhG Jwhtpumyph tjLyjnpuwununnhy nuwtph tlp-
qhwG:
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4.23 bpuwphy a htnwynpmpjwG Jpw qulynn bpym qlnbp hypwynp-
Yuwd GG g, b g, thyptpny: Lhypph pwzlunuip qlGntipmd YhGunpn-
Guwhwdwsunh t: ipnptip gGnbph thnfuwqnbympjwG tGhipghwG:

4.24 8mjy wytp, np vhw)G tijwpwunmwnpy mduph wqplynipjul

wwy thyptiph hwdwlwnpgp sh upnn qunGyk) Ywynié hwjwuwpw-
Yrompjwb Yhswymd (hplGynmh pnpbip):

4.25 Uyywymytp, np wnuntlyhwip sh jupnn Gjuqugnjé jud wnw-
yLpuqmyl wpdtipGbp pGnnuGty hwnnpnhshy ampu qunGynn Yenb-
pmud:

4.26 g YtwmwujhG thypp wntnuynpjwo t R; U R, 2wunwyhnGtpny tpym
hwiwlklwnpnG hnnuyywo hwnnpnhy qGnwjhG YwytpumjpGlph
dhol, YtGwpnGhy R htinwynpmpjul ypw [R; <R<R,): Gubp
qlnuhG dwybpuntpGhph Ypw Swijwdywd thypbpp:

4.27 q YwwhG (hypp wknwynpygwd t hpwphy d hinwynpnipjwG Ypw
qunfiynn gqniquhtn hwnnpnghs hwppnipynuGGhph dhel, hwppnipymi G-
Gphy WGYhy | hinwynpmpjwi Jpw: Gnbp hwppmpymGGtph ypw
dwywowd thyptipp:

4.28 q [tunnwhG (hypp qnGymd t R 2wnwynny hnnuyyjud qGnwujhb
hwnnprph YaGwnpnGhy d hinwynpnipjui ypw: Npnptp biijnpu-
unwunhjuwywl nunh ¢ wninkGyhwip nwupwompjub dbe, tw-
Yuodywd 1hyptiph 6 o GwitipnipujhG junnipymGp qGnh Ypw, qlinh
Ynnuhy q thyph ypw wqnnn F nidp: R — © uwhiwGujhG wydwb
dhenyny quitp hwnnpnhy, wGytpg hwppmpymbhy U upwGhy
h =d-R htnwynpmpjub ypw qunGynn q thyphy Yuqidud hudw-
jungh ynnkGyhwyp:

4.29 Lwlunpy juGghpp imotp w)G nhwpmd, tpp gmbnp Seymuwyud t
umGh Q (hyp:

4.30 R 2wnunnny hnnuyydwd hwnnpghy gmGnp mtnuynplwo t E,
hwiwutin Litjnpuiwi qunmd: Npnptp LjEyunpulwi guwnh @
wnuntiiyhwip nmwpwdmpjub she:

4.31 Uyywynwybp, np tipt (hyptiph hwiwlwpgp bjklnpustqnp t, wuyw
wjn hwdwjwpgh gnuiwpwihG nhwyniwjhG dndblGnp uhgwo st
YnnpnhGunnGtph uyqpGulytinh pGunpmpymGhy:

4.32 Uwwymytp, np tipk thyptiph hwiwlwpqp Litjunpwskqnp t b Gpw
gqnuiwpwjhG nhynjwjhG dnitGunp hwjwuwp t qpnjh, www wjn
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hwiwywunpgh pyunpmwn; WnikGmp pGqnpp Yupudwe st Yanpnh-
Gunn(ibph uljqpGuytinh pGwnpnipymGhy:

4.33 q YtwnwjhG (hypp quGyma t v, 2unudhn Yaunnpny Yanmy, huy p
unitiGnny titYywpwyws nhynip’ r, Jwowyghn Yykiunnpny Yhnoned:
Npnzbp thyph b ghunth W BinfuwqbiynipywG tGpghwG, nhwnth
Ypw wqnnn F mdp U K mdh dndblwnp:

4.34 p, unttiGunny LitiwnpuywG ghynp quiymd t YyonpnhGuwnGtph
uliqpGultinnud, huy p, dnikGunny thunip’ ry 2wnwyhn Ylpunpny
Yhwnnwd: Npnptip Gpwly hnjuwgqpympyul W tGepghwG, pnipw-
pwGymp nhwnih Ypw wqnnn F ndp b K mdh dnubGup: dhung-
Gtph hGywhuh® nuuwynpmpjub ntwpnud thnfuwgntiympjwi tGhp-
qhwG U nidp Ym GGl wnwykjugni 6 wpdtp:

4.35 R pwnuynny hwjwuwpwswih puinwyywd qigh shunjnp ounjwth
nhynjwihG dndkGunp EGEwpuiu pltnuydw6 Jbiunpp) Pt
Qunbp Litjnpuwiwi nuznh wynnbGyhwp:

4.36 £ phtjiywpwywb punhwbybihmpjudp qming wmbnuynpjwd t
wpunwphG tiijunpwlw6 quwnmy, npp qinhy 2wwn htinoy mhpmj-
pnud hwdwutn § b mGh  E pwpjwompimG: Npnptp E pwpyjw-
onipjmGnp L P putinwynudp ginh Gipunud:

4.37 Npngtip timpuwlwt nwanh E' jupjwdnipymGp hwiwutn plb-
nuyqwd € puwthwlybjhmpjwdp nhtituphyh Gepunid hwigwd
qnwdl funnnynui: Ghpwnminud &, np funnnsh wolwynipniGp sh
tinfumd ghtitlwphyh phnuymup:

4.38 R, GbpphG U R, wpinwphG jwnwyhnGtp mGhynn qGnw)hG Yonba-
uwwnph Gipumd ghtibynpuiw punhwybihmpymbp pwpfujud
t htanlyjuny opiGpny’

e ___{s, =const, @, Sr<R),
€, =const, (R<r<R,),
(R < R< R,): Npn2tip YnGnbGuwwnnph C mGwympymbp b uupjwud
thyptph pwzfunuip: hGsh® t hwuuwp gnuiwpuhG Guupue
Lhypp:

4.39 g YtwnwjhG (hypp mtnugnpjwd t €, W e, phtibijunpuiwi pwhwd-
ythnpymGGtpny tpym hwdwubn, wGytpg nhtityuphyGeph hwpp
uwhiwbh Yypw: Gubp Lithnpulwi guanh ¢ wynnwlyhwip, E
twpqwompyniGp U D hGnmyyghwl: Mupqbp Yuuplwd thypbph puy-
luntip b gnuiwpuiyhG Yuwuywd thypp:
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4.40 a wnuwhn b q thyp mGhynn hwnnpnh;s qGnh YeGunpnip quGymad &
tpym wlytpg, hwdwutn, €, b €, ghhjkjnpwlut pwhwbybihm-
pymGGtpny pht tywphyGph hwpp uwhdwGh Ypw: Gnbtip LLY-
wpwiwh nuwnh ynintGybwyp, qGnh dwytipnyph 4pu wqun L
Juujws thyptiph pwztuntip nt gnudwnpuwishG uiwyws hypp:

4.41 g YtwwjhG jhypp qnGynui t g, be, phttYwnpwlw bt puthwGybhnt-
pimGGEpny wlykpe, hwdwubtn shewwyptiph pwdwiiwG hwpp
uwhdwbhy a htinun]npnipywG Ypw® wnwghl shewywpnud: Ypwnus-
ynpiwG dipnnny npnzbp ¢ wnubGyhwip, juwwd |hyptph o 4,
junnipyniGp b gmiwpwjhG Yuwuydwd hyplpp z=0 pwdwGiwb
uwhdwGh Yypw m q thyph qunGytint Yewnma:

4.42 8mjy wybp, np judwjwljw wihwiwute phtitjunpowiw thew-
Jujpmd ry Yhnmd qnlynn thyph unbindwd ¢ () wynnbGyhwip
r, hnmd hwjwuwp t ey Yinmd qunbGynn Gnyyl dhompjwdp thyph
unbndwd @, (r;) wnnkGyhwihG r, Ynnud:

4.43 Snyy wytp, np tipk |hyptiph wpdwd hwiwlwpgh uintindwd gunh
dhg WinyGhlp shqnp nhtywphYh Gwnp, nph phtbYwpulwG
pwihwlybtihnipyniGp 2pgwuywinh pwithwbybihmpjniGhy nwpptp-
ynud t 3¢ thnpp Shompiudp, wupu wpwohG dnnmwuynpaipjunip
hwdwywngh tGpghw)h thnthntunipmGp YhGh®

SW=—_L [E%5eav:
8n

4.44 8nyy wnytip, np tipt |hyptiph hwiwywupgh vntindwd nwwh dhe
Wiy GLGp sthypwnpwd hwnnpgh;, wujw huniwlwngh tGpghw6
YyGjwqgh:

4.45 E jupjudmpjudp hwiwutin wpnwphG tiympuiwi gunmd
qunGynn vwhiwlwithwy wnhpnypmd thyptiph SwqwiwyhG fuwnm-
pyntGp p(r) t: Lhyptinh b wpunwphG biiyupuwiwi guznh thnjuwg-
ntynipjwub 4.23) wnunbGyhw) tGbpghwl wpwnwhwjntp (hyptph
hwiwlwpgh p nhynpuyhb dndbkGinh dhenyny:

4.48 Npn2tip YwnwjhG thyph nunp €, nhttipnpulwi puhwiybine-
pjunip hwdwutin wihqnnpnuy Shewjuypmd:
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aLNtu 5
uuauhuuusushuu

ZwununnntG dwqGhuwijwG punh H jwpdwompimbp b B hGnmly-
yhwé pwyjwpupmd GG

=25, .1
C

divB=0 5.2)
Uwpuytith hwjwuwpnuiGphG, npuatin j-6 (hyptph dwywiwjhG juwnm-
pJntGG t: hqnunpny nhwiwgGbnhYyGipmd b wwpuwiwgqGnhyGhpmd
pnyL nw2wnbph nhiwypnud

B=pH, 5.3)
npwbn -G Gymph SwqGhuwywb pmq:mﬁghmmpjmﬁﬁ t (tppnpn qlunud
wyn dGompymGp GpwGwyk) LGp ¢ -ml)

(5.1) hunjuwuwpdwG hGintigpwey wbkiupp Yngynud t Wdwtiph optiGp’

g’u dl= 71 (54

npntin I-G L vhwly Ynph ypw htGgnn udwpoiuG swybpungpony wiy-
Gnn (nhy hnuwGpG k:
Zwununnn G SuwiqGhuwljw nuwnp Yuptih b pGnipugpty 4 Ybunn-
pwlwl wnntkGyhwiny, npp uwhdwGynd £
B=rot4 D))
wnlympjuip: A Jtywnnp-ynntGyhwih pnpmpyjul Yudwywyhwulim-
pJnilp vwhdwGwhwytim Guwwnwyny Gpw Ypw gpynud t
divd=0 (5.6)
(nwymyh; wwydwbp: Lwiwutin sheunjwptipmd A-G pujwpupnul t
4y
c

AA=— ICX))

MnuwunGh hwwuwpdwGp:

BSwywwjhG hnuwGpGtph Ytiwnnp ynintiGyhwié m Jwqbhuwywb
nu2wh JwpjuwompynmGp hwiwutn dhowduwjptpmd Ywpbih t Gup-
Yuywy by SwjwiwjhG hGnbgpuGtph wbupny’

Ar =t j‘]("

" (5.8)
jr—r]
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H@E,0)= .1 Im av’, 59
¢ r-r)’
Mtpghbu ~hn-Uwywph optiGpa t):
ZnuwGpGhphy dto htimuynpnipynGGtph Ypw
mxr

A= . (5.10)
)
npwntin m-p hnuwGph dwqGhuwlwb dndtGnG t°

1
=— |(@'xj)dV’: .11
m=_ [e'x]) G.11)

bpym vhewjwjptiph pudwGiwG vwhdwGhG qnpomd 4G
B,, =B,,, 5.12)
AxH, —H,):fft (5.13)
c

uwhiwlwjhG wuwjiwGGbpp:

Ujuwntin -G hnuwGph dwytpumpwhG futnnipym@a t: fi-p Gnpdwih
vhwynp yeywnna t, npG ninniwd t wnwehG shewjwjphy tpypnpnp:

Swpwompjwl uwyb Ytwbpmd, npwnbtn j=0, pwjwpwpynd t
rotH = 0 hwjwuwpnuip, htnbwpwp H-p upbih t GeplwjwuyGly

H = -grady (5.19)

wntiupny, npwnbn SwqGhuwjwl nwynh y ujupwp wynnbGyhwip
H = const nphiypmy pwjwpwpmy t Lwujjwueh hwjwuwpdwGp:

Znuwph. Idl wmwpph Ypw wqnnn mdp npnymd t Udwbph pw-
Gwalny’

dF = !-(d!x B): (5.15)
c
UwqGhuwywG nuipwh tGpghwa V owjuymd’
W=ij'B-HdV: (5.16)
8n,

Lapowynp nhpnypnud pwzfuywd hnuwlpGtph nbupmd
W=t jj .AdV: (5.17)
2cy
j () dwjwjwihG lunmpjudp pwptujwd hnuwlph b A(r) yuy-

wnnp-ynntiGghwin] wpunwphG nuwnh thnjuwqnbynipjwé tGepghwi
hwnjwuwp &

W =2 [)(r)-A)dV: .19
Cy
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6.1

5.2

53

5.4

85

5.7

8nyy wytp, np I/ hwY hnuwbph untndwd WwqGhuwywl nuwnh
hGnniyyhwa Jupbith E hwzyty

=Y
c
pwlwdluny, npntn Q-6 wy6 YwpdGwihG wGlymGa t, nph wnmwy

nhndwb Yhnhy Gpunwd £ hnuwGpuwnwp YnlGwnipp:
Oquytiny Gutunpy fuGnph wpnyniGphy wvinwytp Udwbph optiGpp’

LY
gndx cl.

R ywnunnny wGdbtpg quuGwihG hwnnpnhynd, nph dwqGhuwlwiG
puthwGybihnipymGp p o £, wlyGmy t I hwuwnwnmG hnuwGp: Lw-
nnpnhp 2pgwwunnnn Gymph dwqbhuwywl pwihwGyihmpymbp
pt: Opnotip I hpuwGph untindwd H dwqbGhuwywb qguywntG nt B
hGnmuyyhwG: Gohpp imotip ipym tnwlwyny’ oqunytiyny Udwtiph
optiGphy (hGwtgpuwy tnubGwy) b A Jtljnnp-wymntGyhwih Shenyny
(nhdtiptiGyhwy tinlwy):

R, 2wnunnny wljtipg qpulp wtnuynpjwd t R, Ghpphl U R; wp-
wnwiphG pwnwihntp mGtyng wiybp quuGwjhl junnnyuyh dtg,
puwnn npnud GpuwGy wpwGypGipp hwdpGyimad GG6: Fpwlynyd hnunud
LG hwimnnywod, pujy JEdmpjudp hwjwuwp I hnuwGplbp: Npn-
26p hnuwGpGph untndwd H dwqGhuwlwé nuywnp, B hGnmy-
yhw(, hGyutu Guh 4 Jtnnp-yninbGyhwip mwpwdnpjwi pninp
Yhnbtipnud:

R, 2wnuynny wGytpe hwnnpnh; quubh Gepunud Yu R, 2unwdnny
wlytiny quubujhG funnng: Lpwly wnwlypGlipp qmiquhtn LG,
wnwGypGlph dhel htinunjnpmpymip’ a: Npntp dwqGhuwlwb
nw2wunh pupjwdmpimGp junnnym:

Q.ntip I hnuwlpny wGybpy tpjup ninquighd jwph uintindwd Jwg-
GhuwjwG nuywh ¥ ujuywp wnnbklyhwp, Swqbhuwywl nupwnh
H pupjwdnmpjub U A JLhjnnp-ujnntbGyhwih pununph;sGhpp:
Npn2tip wigbnpg hwppnipjul untindwo H dwqbhuwlwb nwywnp,
tpt Gpwlny wlylimd t i dwltpumpwjhG junmpjunip hwlwutn
hnuwp:

Npnatip hpwiphy 24 htinwynpnpjwi Ypw quubynn bpynt gniquhtn
hwppnipynmGatph wintindwd dwqGhuwljwl nwownp, ipt Gputyny
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wiGyldmd t 6nyb i pinmpjuip dwhbpumpwjh6 hnuwGp: Shuwup-
ybp bpynt pliygp.

w) hnuwGpGpl mGG6 Gnyh nunnnipyniGp,

p) hnuwGpGlipp hwwnwly GG myntwd;

6.9 pnytp tpym wiGytpe, nunughd, hwynnnjud I hnuwGpGhph
untindwd 4 Ytywnp-ynublyhuyl m dwqbhuwijwi nuwh H
(wpjudmpyniGp: LnuwlpGtph dholt hinwdnpnipyniGp 2b t:

.10 fipn2tp Gwjunpn juGnpmd Giwpwgqpyud hnuwbpikph Shwynp bp-
JwpnipywlGp pwdhG plYylnn thnfuwqnbynipjuG ndp b tGipghwG:

8.11 (luyquiqhd, wiytpe kplwp phptinh jw)GnipymGp a t: Phptinh bp-
YuwjGpny hnunui t puyGmpjunip hwjwuwpwgunh pwzfujwd I hn-
uwGp: fpntp hnuwbGph untindwd H dwqlhuwlwé nuowp:
Shwnwpytip vwhdwGwhG gbugp, bpp a - ©: b6y Yunwyyh a - 0
uvwhdwGnud:

6.12 {wywnwy nuyniwd Gniy6 I Shdnpjuwndp hnuwGpGhpp hnumd LG bp-
ym pwpuly, wlytpe tpuwp gniquhtn phptinGpm|, npnGp hwd-
piYGmd GG mpnubymb Yupdwdp mbtynn wiytpe wphqiwjh
hwywnhp Gpumtph htw: Ehptnlhph (wjimpymbp a t, hul
htnwynpnipymG6 hpwphy' b: Qntip H dwqGhuwlwl nuwp U
phptinGtph dhwynp tpYupmpywip pwdhG pGYylGnn hnjuwqntyn-
pjul mdp: Yhnwpytip vwhdwlwjihG ntwp, tppa— 0

8.13 Q.untip a wnwynny pwpwy onuyny hnunn I hnuwGph untindwd 4
Ytyunnpuywmb wymntGyhw)6 nt H SwqGhuwywl quwnp: Fhuouwp-
Ytp dwulwynp nbtwp, tpp nhndwd Ytwnp quuGimy L onuyh
wnwyph Ypw: Uhewquwjpp hwiwube t b mGh p SwqGhuwywb
pwihwlythnipyniG:

5.14 a; U a, 2unwyhnGtpny tpynt hwidwnwbyp onuiGtnny hnunu LG
huiwyuwwnwulbwbwpwp I; b I, hnuwGpGhp: OnquyGhph YuGn-
pnGGtiph htnwynpmpymGp b t: Gubp onuyltph thnfuwqptiyne-
pjwb mdp: Uhpwwjph swqGhuwljwG punhwblybihnpymbp p t:

5.15 Spjwd t ytpewynp ¥V dSwjwimy hnunp hwumnmunnmG hnuwiph
J=j(r) dwjwjuyhG pnmpymGp: Hhnwplyynn dwyjwihy gnipu
nuunwpynipymb t, huy Gepumd j(r) PmGyyhwG wlplnhun t:
Uwwymytip, np

j jdv=0:
v
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§.16 Uywyniytip, np j =j(r) dSwjwiwjhG fuwmnpjudp hnuwGph m
dwqGhuwywl dndbGinp Yuisjwd 3t YonpnhGunblph ulqpGu-
Ytwnh pGunpmpymbhy: GGpunpymy t, np m-h wpdbpGpp Ytp-
ounnp tifi:

$.17 B jupjwontpyuip hwidwubtn wmnwphG dwqGhuwlyut nunbid
quniyny vwhdwGunhwly wnhpnypnud hnuwph SwjuyhlG fuinm-
pymGp j(r)t: <nuwlph b wpinwphG Swqbhuwlwl pwzwnh thnju-
wqntyntpjub (5.20) LGhpghwl wpnwhwpntp hnuwGph m WwgGh-
uwljuG dmitiGnh shenyny:

6.18 Luwlunpn lulnph wwjdwGGtphG pujwpwpng j(r) hnuwGph Ypw
wgqnnn nidh K dndtGunp wpwwhwjintip hnuwiph m SwqGhuwmywG
dnitiGunh dhonyny: Uwpuymytip, np K-6 wfugwd st uyqpGuytanh
pGwnpmpymbhy, nph GYwwniwdp w)G hwyfynud k:

6.19 R pwnwynny, Q thypny hwyjwuwpwywh thypuwynpywd quubp ©
wllyymGuihG wpugmpjudp ypumnymd t hp wnwbyph 2mpep, npp
B wpnuphl guizwnh htn Juqinad t o wilgmG: Opngtp quusGh b
wpuwphG SwqGhuwywl nuywh hnfuwgpbynpjwa tiipghwa:

42



aLntiv 6

LduUghusushnLUN
ELEUSrUUUGLhUULUL NUTS

Eiyupuiwgqhuwlwb nquznp Ynggmd t plughunwyhnGwp, iph
w) qu2inh o hwwjimpjuGp hwdwwunnwupuwbinn A = c/e wihph
tpjwpmpymbp 2w ¥4 L thowplynn hwdwwpgh ! suhtiphy*
w<< c/l, (6.1)
p) 2tniwG hnuwGpp Yupbih t wlnbub) hwnoppuwGmpput hn-
uwiph GYwwndunip’
18D < A X

——

c ot c

q) Showuwjpp pmpwgpnn dtdmpymGitpp (€ 4 p puhwbybtihnt-
pymGGERQ, A hupnppulwlnpymGp) mGhG Gyl wpdtpGhpp, hGy hwu-
wnwnmi nuntpn:

LywghutnuyhnGwp LibnpwiwgGhuwyuG npuznh hunjwuwpnis-
6hnG LG

62)

rotH = 4_1g.. , 6.3)
c
10B
=—c, 64
P (64)
divB=0, 6.5
divD=4np : (6.6)

(6.3) u (6.4) hwjwuwpmuGhphy Yuwpbih t uvnwGuy bpipnan Yupgh
nhytptiGyhw hwjwuwpmiGtp E U H yayunopGbph hwdwp'
4npd oH

o’
4mp) OE
2 o

Upinwphl thmhnfuwfuG dwqbGhuwfwl guiwnp punhwbytiing hw-
nopphsh vt EitywnpuniwqGhuwlwl Swliwddwb tpunyph hwdwdw)
unbindomud kdppywyh6 hiahmpuub nuwm, npp hp htpphG wnwewyGnud
t dwjwiwhG hnuwGpGbp (dbnynjh hnuwbpGlp): @ hwiwlumpjudp
thmhnfuynn nuizinh pwihwlynuip hunnpnhsh dte panpugpynud t

AH =

6.7

AE =

(6.8)
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C

\/ 2npA®

dtompjwip (uyhG 2bpinh hwuwnnipyunip):

Einqe ) YnniGuyhG ttnpuwpd nd wwpniGwynn C mGwym-
pjwdp, L hGpniynhympyudp, R nhdwnpmpjudp uey 2znpwymd I(f)
hnuwlpp U YnGntGuwwnnph 2pgwnhph q(f) (hypp pYwqhunuyhnGun
dnnwynpmpjundp pun[mpwpnui LG

8= 6.9)

1 dq
- L— +R— =&pnnd » (6.10)
c2 di*  dt C q tond

1,4l +R¥, _11.-.-__‘1&“'"'"
cz 4,2 d C dt
hwjwuwpmiGphG:
LtpnuGwy ontGpny thnphnfudnn &ppg ~ e ™ ynqiGujhG tyymp
nwpnud I(1)-6 U & ()0 Yuuwwid b6
1) = —g""’; ©

wnGympjunip, nputn Z-p Ynydmy t 2npwyh Ynduyitipu nhdwnpnipymG
(hdwytinuGu) U hwjwuwp t*

1 oL
Z=R+i| ———|: 6.13
(CDC cz) €1

(6.11)

(6.12)

Bymnquynpwd npwGtpnul wnw@dhG mtnudwutph hnuwbplGtpp
qunlGLnt hwdwp Jupbih t oguyt Yhpluhndh YuhnGGtiphy

1) 2npwyh jnpupwGyymp hwGgmyynud dnGnn b nnpu iynn hnuwGp-
Gtph hwGpwhwyywub gniiwpp hwywuwp t qpogh,

2) §ymnuynpywd npwjh jmpwpwlyymp YnGonmpmd papnp wn-
pympGph tom-Giph gnudwpp hwyjwuwp b jwpdwG wGymdGtph
qnuiwphG:

Gpt QOwyhG 2npwymy kpm-6 wntindymud t EEYnpuiugGhuwljwb
dwjwdiwh Shenym], www wjG Jupbjh t hwagbp Dwpwuntjh optiGph
oqlimpjunip’

s = -%i—? , (6.14)
npuntin ©-G Jwqlhuwlwb hGnmyyhwih Jeywmnph hnupl t 2npwyny:

Gpt npjwd GG hGnymynhympjunip juupdwd sh pwth ynpubhp,
wwu i-prp 2npujny dwqGhuwywh hnmyyhw)h (phy hnupp npnzynud t
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o, =131, 619
C

pwlwduny, npuntin I, -6 hnuwGpG t k-pny 2npwynud, L 4 -tipp thnjuhGnmiy-
yhussh (i # k) b hGpGhGnmlyhush G = k) qnpowlhyGbpG bG:

6.1

6.2

64

6.7

6.8

Npn2tip hnuwGph mdh thnhnfumpjwG optilipp R nhiwnpmpymGhy,
L hGnniyunhymipiniGhy U € tznt mGhyng hnuwGph wnpymphy
Yuqijwo thwy 2npwih w) ShwydwE b p) wGowndwG dwdwbwuly:
Quntip ubthwjwl nurnwbniiGiph ©, hwwlunpymbp hntwjw-
Yl nwnwinquywl YnGunnpnud:

G-ntip 1hyph ¢ () dwdwGwyu;hG Juppp R wiwnhy ghiwnpnpjunip
nwnuinnuijwl YnGunnipmy, tph ¢ = 0 wwhbhl YnGntGuunnnph

thypp g, t:

Qunbip I(f) hnuwGph nudp Ghpru2Gwy optiGpny thmhnfuynn tibly-
wnpwwnpd md wwpnbwinn R wijwhy phdwnpaipywdp viwunwGn-
nuywb ynGuompnud:

Quntip I(t) hnuwGph nudp R wywmhy nphdwnpapyuip nwnwGnnw-
w6 YnGunipmd, tpt ¢t = 0 wwhhG Shwnid t &, hunnunnm G bby-
wnpwwpd nudp, huy YnGntiGuwnmnph uyqpeGuajut thypp g, L:

L, C, uL,, C; yjmpunitwnptipny tpym

hntwpuywi mwnwinnuiwi YnGunngp- C C,
Gtip Yuuyywo G Ly, thnluhGmyyhwsh

qnpowlyny hGgniynpynipjwdp: pnzip &7 L, L
LiGyunpwiwé wunnwinuiGeph  utithw-

JwG hwSwpumpmGitpp: LGEGupYtp

uwhdwGurhG ntwp, tpp L), — 0:

L,, C, W L,, C; wwpunitwnptpny tpym
hnwjwjwt mwwnwinnuijwb YnGwnnip- YA
Gip Yuuwd 6 Z hiybtnuGu nuitynn
wnwppny, hGywbu wyuwnybpfwd b GY{w- L
pnud: Uwnwytp hwjwuwpm, nphé pw-
Juwpwpnui b6 wjn hwiwupgh ubthw-
Jut wunnwinuiGph hwéwjumpymG-
Gbpp:

Uwwytip Gwiunpny fluGnpmd Guwpugnjuwd hwiwywnpgh ubthwijpub
hwéwlumpnG6kpp, tph Z nmwppp w) L hGymjumhympymGt, p) C
mGwulnipymG t:

11

=C; G+ L,
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6.9 Snyy wytp, np tph GHupmd yun- —0 8o

ytpdwd npuymd & Litynpwywnpd

nidp thnthnfuyma k GippwGwly optl- C
pny g = c/ Jic hwswhumpjunip,
wuww R nphtwnnmpjudp wlylnn hn-
uwlpp Ywiujwd 3t wyn ghiwgpot- R
pJwl dtompymGhy:

6.10 B, hwuwnuwnniG dwqGhuwliwi gunmi gunGynn hwnnpnh; oquyp
® hwunmwunmbG wGlynGwihG wpwgnpjudp wwnnymd t hp
wnpwiwgdh 2mpep, npG mynuhwjwy t By -hG: Gwbp I(f) hnuwGph
mdp onuimd, K(t) wpqtijwynn mdh dndtGup U wpnnywmp
wywhnytiim hwdwp wihpwdtiyn P shohG hqnpmpjmGp:

6.11 R, L, C wwpwitwptpny U S dwytptuny hwpp YnGunipp hwu-
wnwwnntl wilyymGuihG wpugmpjwidp upnnymd t By hwunnwwnm G
dwqfihuwjubG nunmy, win puanhG mopnwhwjwuy b YnGwnniph
hwppmipjwl U9 qunGynn wmuGyph mpgp: Qwnbtp K thohl
wpqbijwlynn nidh UndkGunp:

6.12 7 (1) =7 je”™' hwiwubn thnhnfuwlu Swghuwlwl puwnnug
wbtinuynpud t A hwnnppujwGnpyniG U g SwqlGhuwlwb puthwG-
yb hnipynmG mGhynn wGytpg tplup, R zunuynny dtunwnyu qpud,
nph wnw(ypp qmquwhtn t nuwh mnnmpjup: Gwtp biby-
wpwiwgGhuwywl nuwh E U H pupjwonipymGGhpp qpuéGh Ghp-
unud b nounud:

6.13 Quntip hnuwGph j fuunmpjuG puwzfumdp Gwhunpn fuGgpntd Ghw-
puqpiud quuimy: LGGwpytp vhd U thnpp hwwlumpynmGGtph
nbupbpp:

6.14 R 2wnwynny, A hwpnppuyuinpjudp, B dwqGhuwlywt punhwi-
ybhmpjudp wGytpe tpYwp dnwyw quulbp quniymd t hwu-
wnwwnnl, hwdwubn, quubGh wowGyphG qmqwhtn 7 , ruwnnui:
dwiwlwyh t=0 wwhhl dwqGhuwlwl gurnG wipwmimy t;
Qntip dwqGhuwlwb quynh Swpdwl Jwppp guuGnud:

6.15 UGyYtipp tpYwp, 2pgwGwjhl Yunpwopny hwnnppujwpny hnumd t
o hwswjumpjwip I hnhnjuwwG hnuwGp: G-ntip hnuwGph juwnni-
pjwl pwziunuip hwnnprwwph Ghipumd b ynyyy witip, np 6o hw-
SwlumpymGGtph nptiypnid  hnuwGpp hhiGwliwimd  YuwGyGh
hwnnpnhsh dwytipinipwjhG pwpwy 2tpunny (UYhG tHhyum):
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AUSUUULLEP

QLN 1
UURGLUUShYULUL LEMUDNHR3NIL

111 w)E=bxa, p)E=a(d-r)+b(@-r)-2r(a-b),

@) E = (a-r)ksin(k-r)-acos(k-r), n) E= 3p sl')r P
r

[,d8. o Y dg .
b) E= (fd gdr)r VE=ten®

1.2 w) Yuwphiht' rotEy =0 divE,=0
p) shjwuplih’ rotE=bxa, divE =a-b,
q) Ywplitht ShwjG alb ghupmy' rot E=0, divE=3(a-b),
1) shYupbih’ rotE=axd, divE=-2(a-b),
k) sh Ywplijh’ rotE=3(a-r)k—(a-k)r, divE =a(kxr),
qQ) shfupbkih' rotE=3(rxa) divE=-2(a-r),
k) shjwptyh’ rotE = (bx a)cos(k-r)—(b-r)kxa)sin(k-r),
divE=(a-b)cos(k-r)—(a-kXb -r)sin(k-r),
) Yupbiht' rotE=0, divE=0,
pP) Jupijht rotE=0, divE=0:
1.3 w) Yupbiht’ rotH=0, divH=0,
P) shjwphih’ rotH=(¢, +¢&, +&,)a, divH=),
@) Jupbiht® rotH=0, divH=0:
2

r e
14 wp==, po=L, gp="-.
4n n na

n) p=pocosd (r<R), p=0 (r>R)
b) p=pocosa (r<R), p=0 (>R)

16 w) j ———[f() & ——"‘(;r""

Q) jr=js =0 j¢=:’-t-8in9 (rsR), j=0 (r<R),

c
] ) 1-5[3@*)5-(0'5)'].

1,20, =2, j, =% s J=0 (>B),
2r 2n
17 W) (53, 2)= g8~ x0)3/-30)8 ~20)
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p(.8,0)=—1—38(r—r,) 8@ -9,)8(@ —a,),
rosind

p(r,a,z) =18 (r-r))8(@ - )3z ~20),
To

p) p(x,y,2)=2Ra8(x? +y* +2* -R?), p(r,9,a) =08 (-R),
p(r,a,z)=2Ro(r* +z2 -R?),
Q) p(xy,2)=2RAS(x? +y2 -R*)8(2),
A A _E
p(r,s,a)—ES(r-R)S(cosS)—RS(r R)&(s 2),

p(r.a,z) =A8(r-R)8(2),

) ‘Hjwpnyué nnpphGunwlpué hudwlpupg.
Lwth np \hypp pw2tudwod t z wnwlypny, www'
o, tpi x=y =0,
Pl y,z)={ 0 P XY

0 JGuwywo nbypbpnuf:

LawGwym t, upnn bGp gpbii”
p(x,y,z) = ad(x)8(y):

a qnpdwyhyp YqwGhGp wwhwlebiny. np dz bpYwnpnpjudp
twph dg thypp hwwuwp (hGh Adz-h: Lwh np

dg=dz [ [ab(xp(y)dsdy =adz,

wujw YunwlwubGp a=A L
p(x,y,2)=A8(x)5():

QGnuhG nnpphGuwuuljw6 hwdwluwpg.

Uju ghupnud

p(’,S)d): w’ bpb 9 =Ollu"-’3 =%

0 JGwywd pluplipnud:
Swnjwih wwpph dV=r’sin8dSda wpinwhw pantpyniGp hniznus t,
np wykth Gyuwwnwlwhwpiwp &t 9=0 jwd S=r wwpdwGGtpp
gptii  cos PnmlGYyyhwyh dhenyny' cos8=1 Luwl cos9=-1:
Y bipghGGGtipu Yuphkih t Shwynply* gplipny cos?9=1:
Ujuwntinhy Yhtanlh, np
p(r,9,p) = ad(1-cos® 9):
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a qnpdwljhyp Ywpbih t qulh’ wwhwGetiny, np [r, r+dr]
qlnwjhG tpwnnud wwpmGwyynn thypp thGh dg=2Adr: LwGh np

n 2=r
dq = 2hdr =r’dr [a8(1 - cos® 9) sin 949 [da =
0 0
t 1
= 2nr2adr [5(1-&;2 YdE = 4rr2adr [aa-g’)dg =
-1 0

Loy p2y 2
=2ur2adrlm=
0 &
1
=2mzadrjm=2wzadr-il,
0

I

wwu g =2A/n7, U JupgGuwlwGuubu’

p(r,s,a)=-&2-8(l—ooszs):
nr

QqubwhG YnnpphGurnwiput hudwlpupg.
£wGh np
o, bph r=0,

,9,a) =

Pl 3,00) {o, bpb =0,

wqw (hypli fuinnipymGp Ywpnn BGp GiplwywyGly
o(r,9,a) =a(r)(r)

nbupny: MwhwelGp, np [z, z+dz] hwnjwonus hypp thGh

dq = \dz:

@ 2x
Az =dz j a(r)S(r)rdr j‘ da =
0 0
1
= 2ndz 3 [a(r)r]’_o = u[a(r)r]’_o dz,

npntinhy' [a(r)r 1, =Mrua(r) =A/nr: UpnymGpnud
vwmwlnu LGp

p(r,a,z)= &-S(r) :
nr

b) p(xy,2)=08() , p(r,S.a)=§8(ws9)=§S(S-§),

p(ra,z)=c8(z)
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Q px,y.z)=2Ra8(x* +y* -R?),
p(r,9,0)=c8(rsin9 -R), p(r,a,z)=c8(r-R):
18 r, =ry +1 U r_ =ry 2wnuhn Jejunnpbpny Yhwbpmd qunGynn el
—e thyptiph dwjwjw)hG fonnmpymGp’
pir)=e [8r-r,)-8(r-r.)]:
Yudwjwlwl wowGybth f(r) pntGyyhwyh swpph Ybpmonpywma
fE+e)=fr)+E-V)f () +oE?)
pwGwdlhy, ymGLGwGp
3(r-r,)=3(r-r)-(@-V)8(r-ry)+o(l*),

npwntinhy
pi(r)=—e(-V) 5(r~ry)+eo?):

Yuwnwptiny ! - 0, e — o uwhdwlw)hl whymdy, junwGuip
pir) = lim py(r) = ~(p-V)S(r - ro):

e—w®

elp
€ 9
1.9 w) ¢P(")=T+Cz » P) 9@)=c In t8'2‘ +cy,
q) @) =c,a +c,, npntn ¢l c,-p hwunwnmGGtpG t6:
1.10w) ¢(r)=c;Inr+c,, p) 9@)=ca +c,y,
Q) ¢(z)=c,z+c,, npubtinci-p b c,-p hwununm GGG bG:

1.1 8mynud. wGhpwdbwn t ynyy wnwy, np wikiGmptp Ap=0, pwyh
r =ry Ytimhy, unp ry eV giygpmud IAtpdV =—4nq:
v

1.12w) ‘P(r)-'r_r—i
0

I(’ V) gy . | l'ﬁ(r) o

P |r rI rrl

=p~IV-de'—p-IS(r')V——- av'=
v

-r Ir-r1

=p-4mas' P [ W Ly =BT
sif- N £
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Ujuntin hwyh waGyby, op 8(r’) PniGyyhw)h 2Gophhy dwybplm-
pwishG hGubqpuip hujwuwpynud t qpogh, huy V-h ypwsh 2aphtup
ynyy t wnwihu, np wowbynip juwmwpymd t pun 2wphlujud
yYnnpphGwwnGtph: dLbpeGwwlwutu®
r.
o) =E7
r
9) SGnuihG YnnpphGunmuiuG hwiwyupgnd SunjwiwhG hGunb-
gqpwip nunGnud t

R 2K 2 .. )

p (') r'“ sin 9dr'd9da e g

)= =2rlp(')r'° F(r,r')dr',
;!;! !(r’ +r'2-2rr oos!i))'/2 “!

npuntn
2 (r>r')
n sin 949 r ’
F@rr)= I V2 o
o(r2+r'2—2rr0053)/ _2_ ("( rl):
r
YLtpghlGu wntnunptymy ¢(7)-h wpnnuwhwpnmpjub Sk, uwnwbwbp
4nR> 1
3 Po (r>R),
o(r)= 2 2
4npoR r .
—6——(3 - F) (" < R).
1.13 Oquntyny I"—'I = —grad |—1] wmGsmpymGhy U (1.11) puGnph
r-r r-r

wpnnuGphy, YuunwGubp®
divE(r)=4np(r), rotE(r)=0,

divH(r)=0, rotH(r) = 2% jr):
c
1.4 w) Thunwpyyny hGnbgpuyp pwqiwyuwnibing b YuniwjwljwG

hwunmunnmG YtYunpny b oquytyny (1.10) GnyGmpymGhy m
Q-untuh plinptivhy, JunwGwip

--b:-‘-{jf(r)ax(bxr)-ds+jf(r)a-rot(bxr)dv}:
2c H v
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hlnpmy Gdwd wujdwGh 2Gnphhy dwjtpimpwjhG hGnbgpwip
wGytpe htnymd dquumud t qpnjh: Oqunwgnpotiny rot (bxr) =2b
wnGympymGp, YmGLGuGp

m-b=1a.b[r(av,
¢ v

npntinhy .
=ﬂaj.f(r)r2dr:
€ o
P =i[ x[@xV)(r-ry)]dV =
v

= fr frx[@xv,, -] av =
.-.i(axv,c)x Ir&(r—ro)dl’:-zl:(axvro)xro =

-—{v *y-a)-a(v, r,)}_-—

1.16 8mymd Uyyuymytint hwdwp l[AdV hGuntigpup puqiwujunnytip
Juwdwjwjwl ¢ hwunmwnmi Jeyuonpny U ogquiwgnpdtip
¢ = grad(c-r) GnyGmpyman:

1.17 MwhwGeynn GnyyGnpynGGtpp uvinwlwint hwiwp G-wnu-Ounpn-
qpunuynt pnptdp Yhpwetp @ =Vy —-yVo b a =yVe ytljwunp-
Gtph Gyunndwdp:

1.18 GphGh wnweohG Gnyyimpjwb dhe (nbu Gwlunpn fuGnhpp) Ybpy-

GLindy = I" lr |hoquu1h1m[ 1.11 juGgph wprymGphy, unwGwbp*
—To
4np(ry) = §—— grade-dS +§—L—T_.as:
MUY sir- r|
°

Npubu hntigniwG S dwybplinyp JtpyGinyg R =|r - ro| 2wnugnny
qGnywjhG dwibpunypp b hwyyh welbiny, np

ggxad¢-ds=jmpdv=o,
S 14

Yqulp
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o) =—— f oS

4nRr? |
YbpeGwlwG wpnymGphG:

2
110 m)f[%-‘l]bimw(k,w), » f[a—"’—‘z'ﬁ]=«o’¢p(k,m),
ot ot
q) Flgrade (,1)] = ~ ik (k@) , ) FlAQ(,1)]=-k’0r k),

b) FldivA(r, )] =i k-Ap (k,0), q) FlrotA(r,1)] =ikxAg (k,©):

1.21 CGwnpkiGp qGnuhG YnnpnhGuwnwijmG hudwljwpg, nph 6 pitinw)hG
wGyniGp hwayynul & k yhuinph mynmpymGhy: Lwh wnGhyny,
np dV =r? sin 9drd9da , yunwGuip

- 5.4
oF (k)= J'cp(r)e”"dv=2n [ j ' % 1 gin 9drd9 :
14 00

Ulqpmud jwwnwphGp pun r-h hGinbkiqpnudp!

0 Qo
Ielb’ooss rdr = lim er(ikcoas—a)rdr=
a-»00

1 1
(ikcos9 — a) k® cos” 9

%r(")———' IsdeS - 41t

o Cos°9

1.22 jp (k,0) = 2revd (k-v —®):
1.3G(r, r')= T——l—'|+¢' (r, r'),npntin @ (r, r’) IlGyyhwG
r-r

A®(r, r') =0 Lunywuh hwjwuwpdwl jniomdG t:
1.24 Twjwdpbph hujwuwpdwl GR,t) ¥phGh ImGYyhw6 pujwupu-
npnud &
AGR, © )——w = —4n5(R)5(%)

ot
" hwuuwpdwGp, npmhnR r—r', t=t-t:Lwuth wnGbimy, np

1 3 i(kR-0t)
o = da’k\d ,
®)3(r) e [k [dwe
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1

GR.1)= on [d’k [dog(k @) ®*-*), m

Q-phGh mGyyhuh g(k, ©) dmphb-yunlybph huwdwp YuinwGwGp
2

(k’ -‘:—,)g(k.co)= 4n @

huwuwpnudp, nph  Mdnuip k? 20’ / c? ntypmd  mGh
41!/ (lo:2 —(02/ cz) wbupp: LYwwntiGp, np tph YbpehGhu gnudwplGp
dhw)G k? =(o2/ ¢? nhupmu qpnjhy wwppbpynn  YwdwjjulwG
Pmlyyhw, JunwluGp (2)-hG pwjwpwpnn Gop mdmy: Lawlw-
ymu t (2)-h pGnhwGmp ;momdp Jupnn tGp GhpYuw juy ity

Bh0) = + Oy @B a7/ ) ®

-0?/c
wbupny, npntin @y (k,®)-6 Judwypmyub Japguninp $nilyyhw t:
Uydd (2)-h oqGmpjwip hwpytlp 3-phGh ImbGyyhw6: Lwiu GphGp,
np (1) AuwiphnfumpymGp Yhpwnbing @, (k, co)iS(k2 —(02/ c?)
wlnuih Jpw vnwbmd GGp hGy-np Gy @R, 1) ImbGyyhw, npp Tw-
[uiptph hwiwutn hwjuuwpwl end t: {wh wunGbnyg wju
hwGquiwGpp, YgpbGp

GR,1)=G,(R,7)+G,®, ),
npwnbn
G, R7)=— [d’ke!™® ?d«»iz
4n’ o K-/
Cuwn 0-h hGntgpuip hwytinm hwdwp w)l GpYuyuyltip Unm
hGuntgpwih wntupny: GaphGuntiqpu mGYyhwG mGh tpym hw-
wmy Yo' o), =tck: t> 0 nhwypmd hGnbgpdwl YnGinmpG plwn-

@

Im(w) Im(w)
R+
-ck +ck
Re(w) <k +ck  Re(@)
'R+
w) >0 P <0



ptGp GYwnmd wwwnibtmjwd w) dum], huy 1< 0 phwypmy p) dum],
wjGyby, np R - o ghypmd $4d Yhuwzpgwbuwgdtpm] hGntgpunp
4quh qnnjh: Lwplh wnGhym}, np pGunpjwd whpm jpGhpms wylu
hwwnmy Yhwbp sywG, huy qpnih dqunn wnunjjmGipny thopp
YhuwppwGuqdtipm] hGintiqpu Gipp hunjwuwp b6 hunSwwunnwu-
w6 SGwypGhph YhubphG, YgphGp'

3 e-m e-lat
—————— do+sgn()ni ) Re{ —————;0,2 =0,
I k2 —w?/c? R '.g es{kz -02/c? ° }

npatinhy Yunwyyh'
—i
I k2 2 / 2
Ummgt[mtm wmtnunptym] (4)-h dhg U oqunltyny k-R = kR cos8,
d*k=k?sin 8dkdSdo. GbpywjwymiGbphy, hGwnbgptymy htann
JunwGw6p

GR, 1) =—l—{ (1—5)+8(t +5)} +G, (R, ):
2R c

bpt O, Juiwjwlws PmGYyhwb pGunpulp O, (k,0)= :t41tzisgn ()]
wbupm], wyw JunwyytG hwiwutn hujwuwminG

t R )=t {5[t-R|-5[ c+ R
Go(R,t)-iZR{S(t c] 8(1+c]}

mémiGhp, npnGp pmy YuawG npngty 3-phGh mawynn (Retarded) U
wnwg pGYann (Advanced) ImGyyhwGhpp'

P®1)= —5(1 -R)u GY®R,1) =-ES(1 +R)

- _do= —’;fs@(t) sin(ckr):

1.25 GR,0) =‘_1e'“
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QLNHu 2
ELBUSAUIhLUUNGUSE {hULUNUL ONPGLRLLIL
Nk Luduuueatvutre

2.1 Lwytlinhzh thnpdhy httmmumd L, np thypp pw2luyby t gGnh dwlk-
punypny: luGnph qGrnwjihG hwiwywthmpyniG6 ty pny) t wnwihu
wGntym, np wyn pwfunuip hunjwuwpwsunh b Yupbh b ymgy
wnwy, np qnh GEpund |hyp YuiGuwp shw )G wjG nhupnd, tpt hujw-
uwpuywith (hypwynpdwd qhnwjhG dwybpunyph Ynndhy qbnh Gep-
unid mtinwynpywd thyph Ypw wqnnn nidp qpnjhy wwppbp (hGep:
bpnp, wju nbypnd qGnh Ghpunid qunlyny thyph pwtunidp GniyG-
wtiu wtinp t qGnuwhG hwidwywthmpyntG mbGhGup, wuhlpl pwtu-
Ywd (hGup qlnwyhG tpnny: 3GnwihG 2tpamd qunlynn thyph
wwpph ypw 26pnh §ynt hypbiph Ynndhy Yugnh qubnquiluG nd
2wnwynuiyhG mnampjundp: UyGhwpn t, np ghwwplynn thypp
YuGwp qGnh Ghpumd dhuwG wjG nguygpm, Gph qGnh dwitplm jpha
hwjwuwpwywh pwzlugwd thyph Ynqihy wyn mwpph Ypw wanan
mdp (hGhp qpnyhy wwpptip: Uyuwhuny dunjwiwghb hyph puyw-
YwynipyniGp junumu t wyG SwuhG, np hwjwuwpwswtih thypuninp-

AZ Ywd qGnuyhG dwybpungph Ynn-

dhy qGnh Ghpund wnbnuinpwd

dS  thyphJpw wqnnn nidp hwjwuwp
t qpnjh:

q thypny hwjwuwpw;wth thy-

r ts/R pwynpywd R zwnuu[rlm[ qlnwjhG

' s dwybpumph dS=R* sin $dSda
wwnph Ynndhy ry Yinmd ntinu-

Unmjwd e thyph Ypw wanan mdp

da YihGh
dF =" G 34sda,
X 4nr
npwntn r =r, -R:
Uqnnn iphy mdh hwiwp YnGLGuwGp

rF=4 IM sin 949da., )
4r r

R
V]
~y

npuby r = (r§ +R? -2r,R cosS)VZ:

Lhunh mGkGuny, np f(r)r/r =V, y(r), npmtin y'(r) = £(r), (1)
hGuntgpuwin §GipuuyGtGp wyuuibiu’

56



2.2

x
=4 ; .
=3 V. !\v(r)sm 9d9:
hGjybu wbuGmd LGp, wqnan mdp hwyjwuwp t qpogh, Gpp
T
I= jw(r) sin 949 @
0

hGuntgpuin Ywhuwd st ro-hy: (2) hGinbgpuith ke 4 thnthnfuw-
JwGhy whiyGbiny r hmhnfuwlwih, YunwGwip

R+r,

1
I=— r)rdr:
roR,_l:w( )

Yuptith t yniyy wwy, np ShwjG v (r) = a+b/r $ntllyyhwh nivgpnud,
npntin a-G U b-G hwumnwwnm GGLp GG, I hGnbqpwip Yuwpugwo sh hGh
ro-hy: Ltwbwpwp Shwyb f@r)=y'(r)=-b/ rl Jujujwonipjwi
ntwpmy wqnnn nudp Gipumy hwywuwnp YihGh qpngh:

x, y, z wnwlyplGtpG pGunptlp wjGubu, hGyutu ynjy t vpjwuo
Gywpmd: Lwbh np fuGnhpG mGh wnwGypwihG hudwsunhmpyniG,
www pphwlpmpymbp pwhunwd 36Gp (hGh, tph pGGwpytGp
nwanp x wnwlyph Ypw qunbyng Yhntpnud: (x,0,0) Yhnmyd
dwqGhuwlwb nuywh hGnnyyhwG hwygwuwn YihGh qpngh

Jef@xmsm=o o

wuydwbh nhiygpnud: Oqunwgnpotiiny dI U R YtljwnnpGtph
dl{-asin ada, acosada, 0),

#Z R(x-acosa, —asina, z)

pununph;Gtpp, (1)-p Yanklp wjuwbu.

\a/q cj‘ zdz ’j'f(R) cosada =0, (2w)

¢ S

NTa

(R

o

-
L

Tt [r@sin oda =0, )

-0 -8

4551

a
1]

ujdz’j‘_f(R)(a—J:cosa.)dtz=0, (2q)

-
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opnbnR(x, z,a;a) = (1 +22)Y2, L(x,a; a) = (x? +a® - 2ax cosa ) V2,
huy a-G uniiGnhnh JwnunfhnG t: LwGh np R(x, z,a; a) $nGYyhwb
z-h qnyq dnmGyyhw t, wupw zfR) ImGyyhwld YhGh YuGun
$mGyyhw, nph 26ophhy (2w) U (2p) hwjwuwpmiGhpp
YpwjuwpwpybG Yudwjuwywb fR) dnblyhwih giypmd: (2q)-md
hwyh wnGling hGuntgpinn $mbGYyyhwjh qm)q thGtp b wayGliny
£ =R/L Gnp anthnfuwlwGh, junwGuGp

I(a xcosa) I LU(LE,)dé =0:

l/ 2 @

8nyy wwlp, np dhwyl fR) =C/ R* $pmGyypwjh nbwpnd wnbnh
ymGtGw (3) wnGsnpniGp: GGpwnptlp f(R) = cR®: Uju nhwpmd
(3)-0 yanyh wyuytu

&+
[(a—xoosa)L(x,a a)‘“du[ & I:‘;“;lz—o: @

'bl;mmhﬁp, np § # -3 nhypmd wju hun[uluu.lpmdn wntnh sniGh:
bpnp, Gjwwnh nuGaGuyny
OL(x,a;a) _ a—xcosa
da - L(x,a;a)
wnGyntpymGp, 8 # -3 bGpwnpmpjul nhwypnd YnGhGwbp

—IL(x,a a)‘*’da[ é ‘;?/2 =0,

=
wjuhGpl I L(x,a;a)*? do hGnbgpuiyp Yuwhnjwd st a-hy: UyGhwupn
0

L, np & # -3 nwpm YtpphG hGnbigpwip Ywuwd YhGh a-hy: hay
ybpwpbpmd t 8 = -3 niwphG, wuyw wju nhypmy (4) hwyjwuewp-
dw( dk9 hwGnku Gynn hGntigpunp YnwnGu

'.'[ (a—x cosa )da .
0&% +a% —2ax cosa '

npp, hGywtiu Yuptith & hudngyti, hwywuwp t qpnjh: Qjuughuny,
dhuwG fR®)=C/R® $mGyyhwsh nhupmd dwqGhuwlwi nunp
unjiGnhnhy nmpu hwywuwn YihGh qpnjh:
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23

2.8

Ghpwnphlp mGhGp p(r) juinmpjwiip hyptiph mwpwdwywb puy-
funui: r’ unwihn yuunnpny patpwignynn Ywh 2nipgp Yhpypwd
wnwppwliuG dV’ dSwjwmd qulGynn p(r')dV’ (hyph untindwd
tityupujwl nuywnh jwpywompimbp r wnwyghn Jtunnpnyg
Yhwnnud hwdwéw G UnynGh optiGph YihGh'

dE=£‘L‘":(r—r'):

dbpwnpiwG uyqpmbphy htnimd t,

np pnnp thypbiph untindwd nuzwnp
hwjwuwp t’

E(r)= [————p(l"x'r 5 ay,

npuntinhy’

. "nA: r-r’ .
leE(r)= Ip(r )dlvl—mdy .
Zwinth wnGtyny, np

r-r' - 1

»
|r-r1? |r-v

Junwbwuip
divE(r) =- j’ p(rHA l-—,-ldv'
Oquytiiny 1.11 fulinph wpnymGphy JtpeGwywGuuwbu®
divE(r) =4np(r):

w) ThnwpltGp @ = B- (v x E)/c Jbyunnpp: Oqundbinyd Uwpuytih
hunjwuwpmiGhphy YunwGwGp'

mta—-l-gE+—-( V)E, diva=-10.2B.

c ot c
Zwnlh wnbbiny, np E(r, )= E(r-vt), B(r,t) = B(r—vt) ymGb-
GwGp
rota=0, 1))

div¢=l2(o~V)(v~a): @
c
(1)-hy htuntnud £, np a-6 Yuptith & Gpujuy by a = grady nbupny,
npp wtinunpbiny (2)-h dte, YuinwGwip hwwuwpmd y-h hudwp’
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2.10

1
Ay == @-V)y: ®
c
Uwnwyjwd hunjwuwpnmuip puqiuuyunylip y-nyg U hGunbtgptlp
puwn unipnng nwpwdnpjub’
Jwawdv = fyvy ds- [Vy)’dv,
v s v

[\y(v-V)Z\de=o~§\p(v-vw)ds- j‘ (v-V)y)idv:
1 4 N | 4

Ujunbtn dwitplmpwjhG hGnbgpuwiGtpp hwjwuwp GG qpngh,
npnyhtinl (hyptiph vwhiwGuhwy hwwywpgh nhypnud dtd hh-
nwynpmpymGGbph Ypw Vy ~1r?, v ~1/r, huy dS ~r?: LywGw-
ymdt
2_ 1 2
[ovr-Levert|av-o
c

Lwlh np Shan v< ¢, wyu GhphGntqpwiwihG wpnwhwjnm-
pymGp qpnjh hwywuwn Y hGh ShwyG w)G nhupnd, ipp Vy =a =0,
npuntinhy htnlind © wywhwGeynn wnGynpymGp:

p) HhwnwnpytGp b = E - (v x B)/ ¢ ybywnnpp: Gpuw hwiwp
rotb=0, divb—c(v-V)w-b)= 4n[p——'2(v -j)],
c
npwtin j =po:
Cuwn fubnph wwjydwGh ghnwplymd 66 hwutnwwnmG hnuwGpGhp:
Lhyptiph hwjwuwpwywth 2wpddwG hwiwp wGhpudtn t, np

wwpwdnpjul pninp wyG Ytnbpmd, npntin p # 0 thyptph Ypw
wgqnnn LoptGyh nidp hwjwuwn hGh qpngh

F =e[E+—l(va)]=0.
c
Juwd b =0, npntinhy htimumd t, np wyn Yhwnbpmd p=(v-j )/ ck:
Lowlwlmi t mwpwdnmpjwb pninp Yntpmd
divb-— (v-V)(p-b) = 0:
C
UWyuyhuny fuGnhpp pipymud £ w) ntiwphGu b =0:

2
AL_EHO'A__4mp

ep _ .0¢
+— —=, Ap=-—p:
 of cj czzradat ¢=-—p
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2.14 GGpwnpbbp LitywpuiwgGhuwlwl puwh wnpjmpGbp hwinh-
uwynn wqun (hypipG m hnuwGpGtpp quuGymd &G S whlywpd
dwytplnypnd wuphwyygwd ¥V owdunud, huy Gpuly gnidwpwhb
dbjuwGhjwlwG hdwyniup p-t: biwynuh ywhuywinpyu optGpp
¥V dwjwynud Yupnn GGp qply

% +p.) =_4Hidsl 1))
ot 5
wbupny, npntin p, -G tnpudwqGhuwfwb nuwh pynyuG t V
owdwymy, IT;-G" tiEympuiwgGhuwlwl npunh hiuinyuh hnuph
fuwnmpymGp: Uymu Ynqihy, wnpynipGhph Jpw tibwmpuiwgGh-
uwlwG nwawnh Ynqihy wqnon mdh k-pg pununnphsh hwdwn wpng
uGp qpt.

op,

ot
Jud® oqunytiny G-wnwu-Ouwnpngpuinuym pinptidhy’

%{P,‘ + Ig*dVJ=§T,,dS, :
14 S

Uwnuyjwd wpnnwhwjnmpjub hwitdwnnmpyman (1)-h htin ynyy
t wwihy, np g-6 HmpwdwgGhuwliul nuywh hiunyuh funm-
pJmGa t, huy T, -G Hiaynpuiwqihuwlw guwnh hiwmiuh k-pn
pwnunphsh hnuph junnipymGp i myampjwdp:

2.18 “}hynip hwpnGh t E(r, t) ytwnnph nwubqbGyhwy pwnunphyp dw-
ytpumyph Ypw' E_ (r,¢) = f,(r,t): Gpunptlp Uwpuytith hujw-
uwnnuiGbplG mGs6E Gpym monmd® E, H u E', H'": Y bpym m-
onuiGhnG by pwjwpuwpmd 66 Gnyl uyqpGulyub b biqgpuhG wwy-
JwGGtphG: LywbGwymy t Gpuby E"=E-E', H" =H -H' wmup-
ptpnpymGGtpp YpwywpuptG htnbyug wuydwiGsphG”
w)E"(r,H)=0, H"(r,t) =0 unipnng dSunjuymy,

p) E!(r,t)=0 duiwGuwlyh ywGjwywd wwhh, V dwjwip wwp-
thwynn S dwybpunyph Ypw:

Uwpuytih hwjwuwpniiGtph qdwjGmpyniGhy htwntmi t, np E” U
H'" nuwntpp bu jpwjwpuptG wyn hwwuwpnidGhphG: LawGw-
ymd t GpwGy hwidwp Yupbth t qpty tGhpghwih hwytyonh
hwjwuwpnuip’

2 [GE"? +uH")dV = - [\E"2 dV - (B xH")-dS:
8nory v 8n

d aT;
=Jfde=IJg,dV+J—ax—':‘dV.
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p) WuwydwGhy hbnumd t, np SwhbtpunpwjhG hGintiqpuip hunjw-
uwp t qpnjh: Oquujtiny j =XE Ohdh optlphy, ytpuh hwyjwuw-
pnuip l]qph(ip w j uytiu’

81! ](a£'2+uu'2)dv--jw'2dv

Uwnwuyjwd mnﬁzmpjwﬁ dwju Ynnip sh llwpm] 1hGb| pwywuwywG,
huy w9 Ynnip” ppwywb: Lhwnbwpwp Gpulp hunjwuwp GG qpogh,
npwntinhy Yhtanbh, np E* =0, H" =0:

2.18 rotE ———la—B,
ot

c
10E  4n
rotB———+— + .

c ot 0 ]M)

divE = 41t(p+p,',w),

divB=0,
npnbn
P
Py = —4VPs  Jyumy -;+cmtl
_.32
2.20 ¢=.‘u E=-—————3(P ')' P'p:

r’ r’

2.21 Lwdwdw)G Gwjunpn juGnpned bt npuywG nhwynth wnnbGyhwih
hwlwp wnwywd pwlwdbh b Yepunpiwl uyqpmGph, nwpwont-
pjul r Younmd wnintiGyhwyp YihGh

P@r'Yr-r' '
npp Yupbph t pbptp htnbyug mhuph
P(r )dS' div,.P(r')
0= zj - ]
amﬁh npP(r) 1>mﬁllg]|mﬁ lII:b htnwynpmpjntGGph Ypw Gjuqmd

t r~2 oplilpny, wuyw dwybtpumpuijhG hGintignwip dqunmud t qpngh,

bpp hGuntigniwG dwwip dquumd t wlybpeh: UjGwbu np

o) = j——d'v P,f') av,

wjuhGpG untindym t u.ljﬁu{huh nw2w, npp Yuntnodtp p = -divP
owywiwjhG pwiudwdnipymG mbhynn biywpwywb (hypp:

dav':
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2.23 Oquitny YuynpwiwG hwagh grad(a - r) = ahwjnGh GoyyGnipynt-
Ghy U Gwnw-Ounpngpunuym ptinptithy, JunwGwGp'

p=-[rdivPdV = -{r@®-dS)+ [Pav:
14 N 1 4

Zwh wnGhiny, np Gymphy nnipu P = 0 YmGaGuGp
p= ] Pdv
v

wjuhGpG P-G Gyniph shunnp dwjwih tithwpwlwb ghwnjwjhG dn-
dlGwnG t, Yu, np Gm)GG k, tiaYmpwywb pltinuwydw Ytlpnnp t:
m Jtljwnnph hmdwp mﬁhﬁp

__j dV+ [(rxmtt)dv

Oquybtiiny L[bllmnpml;mﬁ hwygh rot(@xr)=2a GnyGmp)mbGhy U
QGunuu-Ounpngpunuym ptinptidhy, tpypnpn hGnkigpuith hunfwp
JuuinwlGwuip

[(rxroa)dv=-§rxaxds)+2j1dV:
1 4 S 1 4

Zwiyh wnGbiny, np Gynphy nnipu I =0, JbppGwlwGuwwbu Ym-
GEGwGp’

m-—j‘rx p dV+IIdV

wjuhGpG, Gpp puinwydwG hnuwGpp pu.lgu.lllm jmu t @P/ot = 0), I-G
dhuynp dwjuwih dwqGhuwlwl dndkGnG t, Yud, np GnyGa t°
dwqGhuwywi putnwydwa Jtljpunnp6 t:

2.27 CGnptiGp  quuGwjhG YnnpphGwwnwluG hwdwlwpq, nph OZ
wnwGypl manywd t B nuwnny, huy z = 0 jiwnnui qnlGym k qligh
YhGwnnpnGp: Gmbnp upnungmd t SwqGhuwwb quznh Swjuowd E
tityupuwlwl nuywnh wqnbynipjwl wnwy, npp mGh E, =E; =0,
E, = E (r, t) mtup: Uwpuytih (2.2) hwjwuwpnushy

10GEq) _ 128,

roor cot’
dbpohGu puwn r-h hGnbgphiny unwbmd bGp' E, =-rB/2¢c, Yuns
ytYywnnpwlwi nbupny’

=L ®xB): m
2c
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Ujuintin R-p qlnh YLGwmpnGp nhndwG YonhG dhwylnn 2wnunjhn
ytywnpG t° R=¢€,z+e,~ Mhin dwpiGh wumnwywh wpdiwb
hhiGwywG hwjwuwpiwl hwiwdw)yG

aQ
I,—=M, 2
LRy @

npntin I, = 2mR§ /5 qGnh hGtpyhwjh dmitGwn t YGinpnGny wiy-
Gnn wnwGyph Guwndwdp, Re-G qGnh wnunhnG t, M-p qGnh ypw
wqnnn nidh UnikGuinp’

M=j(kxp£)dV: [0}
(1)-p mtinunphGp (3)-h dbe b hGintiqpliip: YuwnwGwbp
M=-L0orE:
Sc

LtpohGu wntnunphkGp (2)-h Yt U hGntqptGp puwn dwiwbwyh:
UpnyymGpnd junwGwGp

=_9B.

2me
2.28 rotB(r,0)= 3% j(r, 0)~ i2E(r,0), rotE(r,0)=iCB(r,0),
divB(r,0) = ;, divE(r, n():) =4np(r, 0): ‘

1k By (,0) =2 ¢ (b )~ 12 Ep (6 0),

ikx Ex (ko) = i2 B (k 0),
C
ik-Be (k@) =0, ik-Eg (ko) =4npg(k0):

2
2.29 divA (r,o))—io—l(p(r,m) =0, A cp(r,m)+%—<p(r,c)) =-4np (r,®),
c c
2
AA(r,(o)+%-A ro) =-4—n] o),
c [+
ik-A¢ (50)~i= 9p (k@) =0,
2
K9r(.0)+ 5 05k o) = ~4npr (),

2
k’A;(k,m)+%Ap(k,m)=—5c’—‘jp *o):
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qLntu 3

tLEUS,rUhLUUPLUSH
LSNHRUWUL {uduuurntuLeNe

3.1 N putinwjhG nhtLpnphyGeph dnpiynGepmd wpnwphG nuwmh
pwywjwjinpjub nbwypnd thyph pwlunuip YhGnpnGwhwiwswih
L: dwdwpbiny, np wpnwphG guwnh wqgbynipjwl wwy kby-
wpnGGtph U hnGGhph x; 2innuiGtpp thnpp GG, Ywpnn tGp Glpw-
nptil, np GpwGy Yypw wqnmad t YpunupdGnn pjughwnwdquijwmb
-m ,-(of,,-x,- nud, npntin 0y, -6 m; quGgyuony i-pn bitYwpnGh hnGh)
pénipwqpuijwl hwdwhinpymG6 t: {wjwuewpwipnnipjul ghiy-
pmy i-py SwuGhyh ypw E’ wbinujhG nuwh Ynndhy wqnnn nidp
hwyjwuwpwyznynud £ pjughwnwdqujub ndny*

—m,m%ixi +¢,E'=0
npntinhy dnitymih i-pn SwuGhyh p; = e;x; nhynjwjhG WndtGwnh

hwdwp YniGLGubGp
2

i El .
- E'":
m;0g;

Uty vnjbynih nhwynjwjhG dcdtGup YihGh'

2
P=ZPI=1¢E" Y¢=Z elz
i i mQgy

e

Pi=

’

npunhn 7,-0 Wngbymh pibnwyybihnipymGa6 & b mGh Swywih sunhn-
nuwywimpymd:
Bpt nht twnphyh Shwndnp Swjwpnud Y N dnjbyny, www

P=Np=Ny E'":
Ujuwhuny xﬁo) nhijtnpwiwe pYuwymbGwympjwué b € phtyby-
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2
e
Te =M =N ——,

1 MWy,
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LwGh np v.-6 hwjwnwpd hunibiwnwywb t SwuGhyh quiquohd,
wuww %, -h dbg Yupbih t vwhdwGuwhwyyt| Jhw)G ttYunpnGGtph
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3.2

3.3

Cpowlwqdny wpdynn i-pn bblnpnGh Ypw shenyh ynndhy wq-
nnn YmnGyuG nudp Yunnwpmad t YhGunpniwdhq mdh ghp’

Zz ez _ 2
— =mrQg,

T
nputin 0, -6 i-pn tiwnpnGh u{mnumh hwwjumpymGa t, huy Z-p'
LtYywnpnGbunh pnjp: Wunbinhy' Ze / mal, = r,3 Oqunitiny Gw-
lunpn fuGnph wpnymGphy, llummﬁw(ip
e
i mmm

npntn wpmwhwjnmpyuG Yepuh hnphqnﬁml;m(i qohyny GywGwy-
Ywd t npw ShohG wpdbpp:
UpwuwphG E nuwh wqpbympjuip gpwdGh dhemyp (ypmnnlp
Ytqyh nwywmh maynmpuip: W36 yhwwuwpwyzmgh ry zwnu-
yhn-ybjwnpny Yownmd, npp puwyjwpupnud t
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wwdwGhG, npntn  E, -G tbljunpnGuihG wdugh nuwnG t:

Q-wniuh ptinptithy oqunitiny’ E, nuzwh hwdwn ygntGp

Ip(r)41|:r2dr
E,(r)= ;; ——T :

Omy wpnwphG nunh niypmd ry << a b hGntqpiwb nng wh-
pnypmy exp(-2r/ a)-6 Yupbjh & thojuwphGby 1-ny: YunwGwGp'

c("o)=“4e L I zd'
a’

ThynjwjhG dmibGwnh hwiwp YmibGubp’
3
p=ery= 3 a’E:
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34

Ye -—--i—a’:

VhwuwtGp, np thyph hwiwubn pwzjuiwG nhypmd Junwyybp
Y= R} wpnmbpp, npnbn R-p thyph hujwuwpwsunh pupjuswG
whpnyph ywnwyhnG t:

bpp wpnwphl gunp puywyuwymd t, punuwjhG ghpiwghG 2wp-
dnud unnwpnn Yn2wn nhyn)Giph nupnywdmpyniGp hunjwuwpw-
hwywGwljwé t b Showdwjph gmuiwpuijhG phuynjwjhG dndkGuinp
hwyjwuowp t qpnyh: UpunwphG nuwnp nhwyniGbph ninnyuonpjwuG

Ut YwpquynpnipyntG t dinyGmd, nph 2Gnphhy dhewywjpp nwzwnh
nmnnmpjwip dtnp t pbipnud P Litwpuyw6 phbnwymy®

P=pico39, =pNOTS,
i=
npnbin N-p dnjyny Giph phyS & Shunjnp dunjwimad, 8, -G wGlmGa
t i-pn dniymih p, dmiiGwnp b E nwwnh $holi, cos3-G 9, wblyjwb
YnuhGneeh shehGuywd wpdtpG t pun pnpnp dnpbym)Gtph: Lnpy-
dwbh pufudwl hwdwdw)
® PE %9
L Jcosde feoss sin9eT 49
cos9 = =2
Idw x . Em&
I sin e  d9
0
Yuunwplimy] z = cos9 hmhnjutulwGh thnfuwphlm b GauGwybiny
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coT9=cm¢—§l-L@

npunbn L(E)-6 wyuwbu Ynsjwd LwGdubGh $niGyyhwa t: Uyuuhuny
P=pNL@E/kT):
£bnmpjunip Jupbih & hwingyby, np
Iy bpt E>>1,
)= {5/3. bph E<<1,
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B Np, tpt pE>> KT,
Np2E/3kT, tpt pE<< kT:

PE)A P(E) pmGyyhwjh qpudhyp php-

3.7

Jwo b GQupnd: Midin quizunbph
PN === ntiypmy, bpp dnbynyh U wp-
wwphG nuawnh  thnjuwqntyn-
pJwG tGbpghwl 2w wiquy gb-
putlznnid t otipdwhG LGhipghwd,
»  pninp nhyngGp puuunnpyma kG
nwwh mpnmpjwip b P-G hwu-
Gnud t hwqbydwG wpdtiphG: pE << kT pny| nuwtiph ntupnud P(E)
Juup qowjhG b b upbih t Gipdadt) dhewyuwjph nhtibywnpuywt
piYuwimGwympjuG haujwynnmpymbp’
o _Np? 1

Xe=32"T (4jniphh optiGp):

N

e g ES_dm
1-4my /3 e+2 3

EpbywpnGh wpdiwb hunjwuwpnudG t
i‘+w,§r=——e-(va), m
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e=1

nputin e-G mwppwywG hypG t, huly v =#: Z wnuGypG mnntGp B
nwinh nnmpjundp b (1) hunjwuwpnuip qptGp wpnjtyyhwGtpm|
X +oax+ -0,
mc
y+oly - B0,
mc

¥+0iz=0:
LtpohlG hwjwuwpnudhy htinlimd t, np guwh nipnmpjudp nuw-
pwowlwl ouyhpjwwnnph hwSwjunipjntGp sh thnfuymd: UnyGlGp
€ = x + iy Gop (omhnjuwuGp: U6 pujwpwpnud t

E-2io§ +o5E =0 o)
hwjwuwpswbp: Ujuntin junwpt) k6p o, = eB/2mcGwGwymdp:
)-h (momup thGunpliGp e*** wbupny: Yuunnwbwbp
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0’ F20,0-02 =0
pinpugnpujwG hwyjwuwpmdp, npntinhy*

o= 1w, +mo,/1+mi/mg

Q-Gwhwwbtym] Yuptih &t huninqyt, np B << 10%qu Lwpywdmpyunip
nu2wntiph ptiypmyi wi / coﬁ <1l

o=mytw;:
©-p Yngymd t Lwpdnph hwdwjunipymé:

AP = —e]Edt,
0

nputbn e-G muppwlwG thyp t, huly -G B puzwnp shwydwl dudw-
GulwihenyG t, nph pGpwypmy Swimdyndt E = ~ ! aa—‘: dppyw)hG
[

Liywnpwijwl nuwn (4-G6 SwqGhuwlwl nwwnh Ytijunnp-wynnbkG-

yhwyl b): dbpohGu wmtnunpbiny AP-h hGntigpuuph dbe U hwipyh
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1
A=—-(Bxr),
2( r)
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AP=SA()=2 Bxr)=mo, xr,
c 2c

nputin © | = eB/2me-p (wpdnpjwG wlgnGuhG wpwqnipym6 t:
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YeGwnpnGmd: EiwpnGh wpugnipmbp’ v =0 ¢xr: Oqutiny
Gwlunpn fuGnpmy ppjwd wnGyntpymGGLphy U 0, << ©4 ywjiw-
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T e T )
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s Zri @y B@)=mri@, -0,
2c

3.10 i-pn wunndwlwG tibynpnth v, wpwgntpynGp B hurdwubn dwqGh-

uwlw6 nuznnd hwjuuwp
vi = v°'+ (c),_x ",
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npntin v,;-G wyr bblnpnGh wpuwgmpyniGG t quynh pwywluim-
pjw ghwypmy, ©; = eB/2mce-6 pupinpyu whljniGwhG wpwgni-
pniGG £ Winndh dwqGhuwlwb dndtGwnp B nuwnud’

m= ——ﬁ('g xv,)-——i(r ""m)"—i('a x (@, xn))

C ial l-l i-l
Uwnuyywd wpnwhwjnmpjui ﬁhg
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i=1
wlnudp wwnndh dwqbGhuwful dndbGnG & nuwmh puwywlwim-
pywl nhwpnud: bplpnpny whnunip®
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wuwnth pwpdnppuG wpbybuhwin] wwpiwiunnpwo swqGhuw-
Jul dnitiGinG t qhwiwqGhuwub dndblwn): Gpt YnnpphGunnu-
JuG hwiwjwpgh Z wnwGypG ninntGp B Yblijunnpny, www ym-
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i=l
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l-l 1-1
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:=l i=l i=] i—l
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—_ 2 -
= —i(oLZrzk =-2t 7/ B
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eNZr?

I, =Nm, =— 3 B:
6me
Zuwdwuyjwnwujpwi dwqGhuwlfwl pGluwimGuwimpjuG hudwnp
JuunwGwGp* _
2377 2
e’NZr
1 =- N2
6mc

hGswbu whulmd bGp, phwiwgGhuGbpmiy & Swqbhuwlwé pbljw-
mGwympymGp puywuwlwl sdmpyma t:

8.11 LwpinpjuG wypbytuhwiny wwjdiwunjnpjwd dwqGhuwjwb dn-
dhGwnh hwiwp ymGLGwuGp

m, = o [pOlrx(@, xndv: M

Zwizyh wnGhiny (hyptph pwzfudwG YLGinpnGwhwiwywh (hGhip
Gwunpn fuGnph GiwG wju phwypmy YunwGuGp®

m ——jp(r)r’dv @

Oquutiny o;=eB/(2mc) puwGwdbhy U 3.3 llnpnud phpjwd
pw2tudwG nbuphy, YqptGp'

2e B -2r/¢ 4
= e dr: (3)
" 3mc2a’ J
hGntgnmihy htwn uvnwyymd t*
2,2
e‘a
=— B:
" 2mc?
Uhowjw), Jmui winmiGtph funmpymGp GawGwlyting N-ny’ dwqGh-
uwlwG 9 pGjwpmGuynpyjwt hwswp YbpgGuywGuubu Yunw-
GuGp’
© - ezazN .
* 2mc?

3.12 vGnhpp (moym t 3.4-h GwG, ShwyG AnpydwGh pwrutwb due
W@E) dmbyyhwl wiju nhypmd W(@)=-my-B t, nptin B-G
wpunwphG dwqGhuwljwb guznh hnayyhwd t*
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[=N l{moB) Nmy, tpt myB>> kT,
=/Nm —_— =
KT ) |Nmy*B/3KT, bpk m,B<< KT:

oy nuwnbph niuppm I(B) YwhujwdnipymGp gdwghG t U Yupbih
t Gapdniot duwqGhuwlwb puwmGuinipju hwujwynnmpymGp’

=y @p O _Nm® 1 ,
I=x,"B, 1. W T (4ymphh opklp):

3.13 Oqunybyny vwqGhuwlwb dinttGunh

Ll =?l£;el('l xv;)
U hduymjuh dndtiGunh
1= m i xv,)

uwhiwlimiGphy 4 hwajh wnGhbiny, np wnndwliwl tihjnpnG-
Gbph hwdwp e;/m; =-e/m, junwlwbp'

Zwnjh wnGhiny, np m dwqGhuwywl dndtiwnh Ypw By nwowmh
Ynnqishy wqnnn mdh dndtGwp mx By L, dndtGwnGtph hwyjwuw-
pnudp dbY wnndh hunfwp YqptGp wjuybu’

dl

—_— m x >
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Y, np Gm)GG t*
dm e
—=———mxB,
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Uhwynp dwwih SwgGhuwut dindtaGnh GwqGhuwydwG) hwiwp
ymGGGwGp’

LYwwntGp, np wju hunjwuwpnuthy htnlmad kT 2 = const wwiwGp:
<£pptiny, np ¢ =o x r ghptiptiGyhwy huguwuwpmip Gupuwgpnid t
dnnnuny hwunwwnniG r Jtnnph yongunp © hwunwnnG wa-
PymGuyhG wpwgmpyunip, Juwpnn tGp wink), np I dwqGhuwyswb
Jtywnnpp

e
@o=—28
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hwunwinmb6 wilymGwih6 wpugmpyunip Qupdnppué hwéwpum-
pywdp) wuumnid £ By Jtjwnph 2ntpep:

3.14 w) Cuwnn ywhdwGiwG
=-Nev, m

npntn N-p LitYwpnGGtph YnGytGunpuyhwa t, v-p tiEYnpnGGaph
dhehG wpwgmpmbp: {wdwdwyl Lynunn6h tpypnpn optiGph p-
ym hwonpnuwl pwhumdGtph shel

mo=—eE:
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Ujuwntin v, uyqprGwiub wpugmpymbp titYyunpnGp dtinp t pipmd
dhowywjyph hnGGtph htim htppwwG pwhunuihy htivnn L Wkdnt-
pjwdp LityunpnGGhph etipdw)jhG 2wpddwG u ShehG wpwqnipjwG
Yupght vy =u= (8kT/mn)l/2:
LwpykGp tpynt hpwp hwenprynn pwjunidGph dheli wpwgmpyuG
puwn duwswGwlyh ShehG wpdbpp’

T
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0

Ujuntin -G ttYywnpnGh wquin Juqph shohG dwdwGwyG t: v-p
npn2tm hwdwp v, -6 wydd wtanp t ShohGwyGh] puwn pnpnp bkY-
wpnGGtph: LwGh np pujumiGtphy htinn tnpnGh dtnp ptpwd
v wpugnipymGp hwjwuwp huywGuiuinipjunip wpnn t mGL-
Gw) judwjwywG mnnmpyml, wwyw wyn ShehGuynuthy htinn
JuunubGwuiGp

v=-E: &)
2m
Zbhwntwpup (1)-hy’
2
Jj= Ne'x E: «@)
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bpt E-G w)GpwG npp t, np v<<u, wyw t=I/u, npwtin I-p
titwnpnGh wqun Juqph shohG GplupmpniG6 t: Uju niypmd ju
E utidnipjniGGliph dhol vinwyymy t qdwiyhG Yuuy (Odh optiGpp)’
2
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Eibyunpuyui quwh pupuwdmpjui hd wpdtpGhph nbupmd
hwiwdw)G G)-h T-p Whdwlmd t: T>>u (E>> 2\2mkT/n/er)
wuwjiwbh nhwpmd
1 _Nel
tT=-=—1
v oJ
LtpghGu wbinunpbiny 4)-h dhg unwGmud 4Gp j (E) ywuwom-
PJmGp Lo nuntph nhiypmd*
el . E
I 2m E E
U hywpnunGh optlpp:
Elijinpujw nupwh E ¢ wpdtipp, nphy htann (5) gdwjhG Yufu-
Yuwompymbp 6hown sk, Ynpngkbp v =u wuwjdwbhy: Ubnunbbpned
(wpowp, ynhGd)
1~ 107%ud, u~ 10"ud/lpl, © =15, =i/2u~5-10"4y;
UtGyujuyhG gipdwunhwinud T = 300K)

E s =2(2mkT/x)"? [er = 400 CGSE tpwy =~ 107 € /&
Ujuwhuh 860 qupmbpmy dtinwnGtp6 wedhgwugbu YgnnpawGwG:
OphGwy, wnGdh hwiwp wntjuGhywutu pmgunptih tiGYnpwyub
nwwh jwpjwdmpyniGp 0.15 LA t: LywGwymd t stwnwnGipmd
Oth opliGpp dh2wn 6hyw t: UwiluyG wpuqiwymy, npuintin b iynpnG-
Gtiph wquwn Juqph tpyupnp)nibnp 2unn §6o £, JipehGGtpu wpwg
dtinp LG ptpnud v 2 u wpwgmpyniGGlip, wiGuwbu np wyuwntn j (E)
YujujwonipymGp ny qdwyhG t b NthswpnunGh optGpp gnpdmud t
dho G unnipjunip:
pP) fwhuiwi dwiwbwly hnGhG hunnppjwd YhGhwnhy EGepghwG huw-
Juwuwnpt )

2 2.2
AE" =_"'_"’___mﬂ=_e: po.E+.e_t_. Ez:
2 2 2m
AE,-p pun pninp ttYnpnGatiph shehGuyGlihu wnwghG wlnunth
Gopnpnudp hwgwuwp t qungh’

UwnwyhnGup ntdhdmyd dhundnp dwdwGuymy, Shwynp dwjuymd
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Unp dwiwbuymy, Shunnp dwywymd wGounnynn g etpimpjuG
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yA_E‘l=N°_2"52
T 2m ’

yuwd hwyh wnGhiny, np dhnwnGipmyd T =1/u, wvnwimd bGp
Qnm-LtGyh optiGpp’

q=

q=\E%

@ Rubh np hitynpniGhph thypp pwywuwlwl b, wuyw Gpuly
nunnpnyud 2wpdiwb v, =Y nunpymGp hwjwowy t nugngud j
hnuwGphl: B dwqGhuwlwb nuanmd v, wpuqmpjudp zupdynn
tityupnGh Ypw wqnumi t LnptGygh F = - (e/c) (v, x B) dwqGh-
uwlwl mdp, nph wqntynipjuli wwy duwwyudtGh dh LqphG
pwywuwlwl, d§ymuhG’ npuljwub Bé
thyp t nunwljynud: Uju wpnytup —eE

YwpmbGwyyh, vhak np LoptGyh t i + + +
dwqGhvwljwb mdp hunjwuwpu-
ymih Ynunwhwd thyph wntn- v j
owd eE Lnpklyh tjtyunpulywb
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JbtpohGu puqiwujunytiny d-ng unnwGmy bGp

_JBd

Ap= =RjBd:
Nec

R = (Nec)™' stompymbp Ynpmud t £nyh qnpdwyhy:

3.15 Zwyh wnbGbiny rot4 =B wnGympymbp, LnGnnGGbph hunjwuw-

pnuip qphiGp
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Srotj+B=0

wbtiupny: Oquuytny Uwpuybih 2.12) b 2.14) hwjwuwnpmiGuphy,
JuunwGuwbp*

AB=A@B:
blpwnptbp, pti shewywjpp qpuntyimd t x > 0 jhuuwnnwpwdnt-
piniGp: Ujn nbypnud yipghG hwyjwuwpnuip nunGnud £

2
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B(x) = B(0)e A+
wnbiupp: YtpohGhy himbmdi kb, npx> Ay o 1078 ug lunpmpymGGph
ypw B(x)-p qnpdGwywbnphG hujwuwnp t qpojh:
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2 2

N (0]
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2
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m

3.18 QptGp E = Eje ™ nuanmd pjuqhwnwdquijuG nidny juwjwd
i-pny nhuih EiGYwpnGh 2wpdiwG hwjwuwpnudp'
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m
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m
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@
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npntnoe, = (4nNe? / m)"/2 -p wwqiwghG hwSwhuntpymGG t:
UGpwwnbiny € (0)-h hpwwb b Ytnd \imubpn, l;umm(imﬁp‘

e (m)-l+a)22 Ji (‘°°' -
T (% -0 ) +o? y,
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T @3 -0} +oty?

3.19 ®, nhqnGwGuwjhG hwwlunpjwhp inn hwdwuinipymGGtph nhu-
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P —
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2
o, f
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. 2 ez e 2 ez . 2 ez )
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GmpymGG t hwunwuomG tbywpuywié gunmd, npp dpm-
nb-LnptGyh wbunipjwl uvwhiwGGbpnws mGh A , = Ne?t/2m wbupp
(wtiu 3.14 fuGnhpp), npntin -G wqun Jugph dhohl dwiwGwy t:
LwGwynu t y wpupwdtnpp hwnnppuwGnipjw tkywnpnGatph
pwiundGph hwdwhumpywG Jupght (y ~ 1/1):
P =—-Ner U P =y , () E wnGympimGGbphy uinwbGn bGp

Ne? 1
Xe ((I)) so— .
mo @+iy
Yud wGpwwnbiny hpwljw6 b Yhnd swubpp®
’ A oY ] A oY 2
Le(@=- s Ae@= :
¢ o?+y2 YT o@?+y?)

78



€ (@) = 1+4my . (@) wnGsmpymGhy*

410&072
0@’ +y?)

@)= 1= g -
o? +y2

3.22 {wdwpbny, np E(t)=0 bpp t<0 b E(t)=E, =const, tpp t20,
(3.5)-hy yuunwGwbp

0, tph t< 0,
- t
PO=1E, [xerdr, tpt 120,
0
nputinhy’
xy=—-292_ :io) tph 1<0,
Eo dt |Xe—e?, tpht20:
(3.7)-hy l
0 © lie—]¢ ©)
x(m)=l°—je( Faet?
T 1-iot
nph oqlmpjyunip’
4ﬂx(o)
e(m) = 1+4ny(w) = 1+ —=—
1-iot
©) (U]
&' (@)= 14 —Xe -, e _4mmc.2:
1+ (1) I+(wr)

‘j’- e"(@)do’ _ } £"(@')do’ +'je"(¢o’)d¢o’ -

¢ ¢ g
- 9O (D-(Do(!)(l)

- ;um{ i e,
o -0 (o-Ho o @ -a?

nph ogGmpyunip (3.13)-p Ypunbw®
£"(@) o' do’

£'@)-1= u!—,,—,—

o -0
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3.25 GGpunpblp o hwiwhunpymbp wwn 6o L U np ' hwlwlunt-
pinuGGhpp, npnGy nbwpmy JulGnuip qqwih t, pudwpupmd GG
o' << ouwiwbha: ujq nbuipnui th ynndhy 3.17 julGnph hwdwéw)G
£(@) =¢ () = 1-4nNe’ /mo dmu Ynnshy 3.24 |Julinpmud
uwnuyywd weGympimGhy l[mphlh k qpbi

£@-1= _:_Z? Ia'(o)')m'do)',
™" o
Uju bpyawh huibdunanipyniGhy vwnnwbnd bGp

?e'(o)’)m’dm' :

m
N=—r
2r%e”

$.26 ‘ThunnwnytiGp dnGnppniwinhy tibunpuniugihuwlw nguiwh nbue
p0' E = Ege ™', H = H e *™: EGbpghwjh thnhntumpymGp Shunjnp
duiwfwnud, dhunfnp Swduipmd npynud

divS = (c/4n) div(Re E x ReH)

pwGwdlny, npntin S-p MnjGinhigh Yaunp6 t: Cun dunfwlwlh
ShohGunywd —divS ShompniGp huruwuwp YhGh b bwpuiugGh-
uwfwl nw2wnh wnpympltph Ynnihy thwynp dwdwGuynd show-
Ywjph dhwynp dwiwihG wnpjwd tGepghwjhG, npp dwluuymd t
tGtpghwjh YnpnuunGhpp stiqnpwyGtine Ypw, wjuhGpG wjG hunjw-
uwp YihGh dhewywipmd shwynp dwdwGuynud, Shwynp dSwywimd
wiownywd q 9hpdmpjub pwGwyhG:
Zwiyh woGkiny, np

ReE:-;-(Ew‘), ReH=-%(H+H'),

ExH =(EyxHy)e %™ =0,
E'xH'=(E  xH,)e*™ =0,
E—xI-I—:=ExH',
E'xH=E"xH,

ymGhGwGp
g=-div§ = ——dlv(ExH +E'xH)=

=-X Rediv(ExH " )=—— Re( " -rotE—E-rotH ) :
8n 8n
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Oqunytiny
rotH = -iee(a))E, rotE = igu(a))ﬂ
c c

Uwpuybih hwjwuwpnuiGhphy, YuinwGulp'
9=~ Re(u@IH ' ~ic" @) B*)=

=—% Re(i@' +ip") H*-i' - ie")| E|? )=
=2 W H | +¢"| E]?):
8n

Uunwyjwd wnlGympymbhy htinlmd t, np ¢ (@) U p (@) dhdmpmG-
Gtpp Gluupugpmud GG tiYnpudwqbGhuwlw wihpGbph juGnuip
vhowywjypipmd: fwyh nputhy, pwbh np g wigwwnywmod 9tipin-
pjwG pubwyp npulwl ddmpymb t, wywe"@) > 0, u" @) > 0: Wyu
htinumpymGGtpp 6hown 66 Gudwjwlwl hnthnjuwluw6 nuynbtph
hwdwp, ninghtint dmphti Yhpindmpjwl Shenyny Gpwby dhyw
Jwptih L GipYwjwylly WnGoppndwwhy wihpllph qonuiwph
wnbupm]:

3.28b= boe“i"'lhnmnlu\ull\uﬁ nuzunp wnjwympjudp thowjwjph swq-
Ghuwljwl putinwynudp Yupbih t GopliwywyGly

I1=1,+1,(9
wbupny, npuntin I, =% @ By-6 SwqGhuwyiw hwannunnm6 punw-
nphyG &, huy I, (1)-6° b(t)}ny upujiwuninpywd dwub t, nppb<< B,
wujiwGh 2Gaphhy GnyGuybu Ypwwpuph I, )<< 1) wpuupiwGh:
3.13 fuGnpp Gowmpjuip Yupnn GGp qpby
a__e BxI):
dt 2mc
UwhdwGunhwyt)ny b LI, thnpp ShompimGhtph qdwjhi winuni-
Gupny, Ywpnn bGp qpbiy
dl b _ € e .
—a— —-2—";(80 le)+-i'—n-c-(bxlo) :
Zuplh wnGting, np I, =x @B, U oquytyny Lwpinph wyjm-
GwjhG wpwgmpjul o ;= eB,/(2mc) pwGwdlhy, Yqptlp'
d,

7-_.(0" XIb—x,(,‘,»(u)L xb): (§))
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(1) hujwuwpdwl ymomip thGuphbp I, =1 ,,oe""' wbupny, npp
wbnupptiny htinn junwbwGp®

—iol), =0 xIy ‘Xg.»(ml_xb): ¢
U.Ju hwjwuwpmip dwfjuhy Yujumnpuwbu puqiwuwunnlbing
0, /o Jtwnpmy b unwywd hwjwuwpnnip qnuituph[nq (2)-p6,
YniGGwGp’
© —mi)lb ="Xg) ‘°§, b, —iwxf.?’(m:. xby )
npntn b, -p b nuywmh’ ® ; Lwpinph wllyymGujhG wpugmpuG6
nunuhwjwy pununphsG k:

Ujuyghuny’
npnbn
1@ =1 2 m‘ 2, ge)=a g,
(0,_ -® 0)'- _(0

(3)-hy htinumd £, np b nuzwnh by tpYw)Guwljwl punwnph;sp qdwjh
dnununpmpjwip I,-h Ypw wgntympymb sh pnnlnud, U bpb wjl
mGh B, hwunnwnmG nquinhG nipnuhwjwy b, pwnunphy, www
o — ©¢ nhiypmy nhuynud kI, -h niqnGuiGuuijhG wé: GGpunptiny,
np pijupnjwG YnnpphGwinwyjuG hwiwwpgh z wnwbypl nun-
Ywd t By-ny, (3)-p Ywpnn LGp gpby
Iy =x aby

ptGgnpulywG wnbupny, npwntin ;-6 GwqGhuwlwG pwthwbybtihm-
pJwi piGanpG t*

x ig 0
Xa=|—g x O
6 00
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aLnthu 4
rLeusruusushyl

3 3

2 2
01 w) E =3 o 2R "[3—%} ¢<R),

P

9

4xR%p r 4nR%p 1
= — = - r2R):
3 r3, P2 3 r ( )

E, =2mpr, o, =np@®R*-r?), rsR)

E,

E, =2uR2pL2, ¢, =2R% R, 2R):
r r
E, =4npxé,, ¢ =-2mpx’, (xS a),
E2 =4nap(x,|xl)ex » @2 =-2npala-2x|), (Ix|2a),

Hajuwnunywé YnnpnhGunwywi hwiwywpgh uyqpiwytinp wwh
hwppmpjulp qnuquihtin hwdwyunhmpjuG hwppmpjuG kg t, hul
x wnwypl nuquwhwjuy t GpwG:

42 w) E, =0, ¢, =4nRo, (r<R),

)

9

_4nR%

r
E2=41tR2073-, 0, = , 2R):

E, =0, ¢, =0, (r<R)
E,=4Ra L, ¢, =4nRol>, (2 R):
r r

E =2n0 |Tx|_ é,. @=-2rc|x|, wjuwnhn x-p thypwynpjwud

hwppnipjwlé mynwhwjwy wowGypl t:
4x

4.3 Junonsh Ghpumd puup hadwubie t’ E = Tpa :

4.4

()= 4= Ip(r')r'zdr' +41tfp(r') rdr',
r
o r

E=2T [oryriar:
r3 0
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45 g= 4M@2 —R‘ ).

-

q R,
In—=, b r<R,)
RZ—RI Rl Ph ( l)
.,,(,)=<_‘1_(1_R_l+m5£), tph (R, ST<R,),
R, -R, r r
1 bpb (r2R,):
r
0; hPh (rSRI)v
Ee)={q""X " tpn @® srsR,)
RZ-R] rl‘ ! 2
1, Wb (r2R,):
. r

46 o(r) =5e‘2""(2+ l)-f- :

a r r

4.7 bpt hwnywdp qpunbyind t YnnpnhGuwnwlwG hwiwlupgh z
wnwGyph [, I] Swup, www

+1l+r
¢(x,y,2)=%ln 2=

npwby 1, =\j(z :I:l)2 +x? +y2:
qx 1 _ 1
* ra-l+r)) rGz+l+n) ’

]
E =2 1 - 1
x ]
2 rz(z—l+r2) r|(z+l+r,)

’
z—l+rz

@0 wnuntiGyhw) mGhynn ytantiph tipypwswhwlwG ntinp ynpnth

z+l+y @ +1)? +x% +y? T

z—!;h/(z -1)? +x2 +y2

m
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4.8

hwijwuwpnuiny: (1) hwjwuwpiwG we b dwju Jwubpp puqiw-
wuwnytny dwju swuh hwpnwpwnny, sh Ynnd ntinuinjubing wp-
dunnGlipp, pwnwiynuh pwpdpwyGhing b uwnwpbing pswmnmd-
Ghip, YunwGuGp'
(1+C2)(x? +y2) +2C(@z2 ~12) = 2Cy(x? +y? + 22 +12)2 -4z ;
Uwnwyywd hwjwuwpmdp Gophy pwnwimuh pwpdpuyGhip:
QuunhnjumpyniGhy htnnn funwGuGp'

2 2,2
23 o, @
a? b?

npinbn
_C+1 b 2

a==2", b=ee—: 6)
c-1 Jee-y

2)-p ypnundwG tihyuhnnh hwywuwpmd t, nph YhuwnwGypGbpp
npnymd GG (3) wnlympyniGGtpmy, hul YaGnpnGp hwipGyGnd t
thypwynpywd hwujwdh bpypuywdwlywi YeGnpnGh htn: C-6
wpnwhwjntny ¢,-ny, YmGEGwbp’

a=lcth 20 po_t .

q sh’ﬂ'..
q

UwhiwGnuhy htinumd t, np YpYyGuyh tjtyunpwlwb 2tpnp hw-
dwpdtp t dwytipumjpny pwtudwd nmuppwlwb nhwn) Gbph hunjw-
husph, npnlGy ghynjuyhG dndtGwnGepG mynjwd LG Swytplunyph
Gnpiwih nupnnipjunip: dS* dwytplnyph mwppp YnGlGw

dp’' = ZdS’ m
nhynqwjhG dndtGwn, nph wynwntGyhwyp r
2wnunjhn-ybipnnpny Ytnmd YihGh

do= (r —r')~(2(r")dS'): @
fr-v'|
Zwgh wnbhiny SwpiGujhG whlywG
,_ (@' -r)-ds’
e
uwhdwlGmudp, YentlGp

aQ &)




4.9

o) =-[Z@E)dQ" @
S

bpb ynYGwyh 2bpinh hqnpmpyniGp Ynnnijny hwunmwnm t, wyw*
@(’ ) = _m’ ()
nmntin Q-G w)G YwpdGujhG wiyymGé t, npny tpumd t YpyGwyh
2tpunp:
qslﬁl?ﬁp uwhiwGwjhG yupiwi ynnbtGyhwih hwdwp: GpYGwyh
2tpwh Ypw quGynn r’ wowyhn-ytyumnpny Ytwnh 2mpep dwnyh
wnw(dGwyGhlp ypyGwlh stpnh whybpg thnpp dS’ dwybphu:
UnlyGwyh 2tpnh SGwywd dwuh Ynnihy 7’ Yannd vntindjwd
nwywnh wynnlGyhwip GulwykGp @y (r')-nyY: dS’ wtpg thnpp
wnwpph untindwd quyuh ymablGyhwih vwhdwlwjhG wpdtpp r’
YbwnhG YpYGwlh 2tpnh npuljwG bpbuhy yJnwnbGwihu Y hGh

¢, =2n(r'), (O]
huy puywuwwG bptuh Ynnthy
QL =-2nX(r'): )

LhpunpdwG uyqpmibphy oqunybtiiny YplyGwith tinpuyw6 tpinh
wnmnkGyhwih hwdwp YqphGp'
9, (F') = 9o (r') + 27Z(r"), ®
Q_(r')=0o(r') - 2rZ(r'): (&)
Uwniuyqwdhy tplmd t, np YpyGwyh tiaywmpuyuwb 2tpnh 4pw
wnunbGyhwip Yypmd £

9, (r')-o_(r') =4nZ(r') (10)
prhp:
Unnpnhwwnwliwl hwiwiwpgh ulqpbu- ZA
YtnG pGunptiGp vywywnrwyh YGnpnGmd b .9,
oqunytGp Gwlunpn fuGnph !
o=-IQ m
wpnymGphy: z
z< Onbwypmd
Q =-2ncosd|y' =-2n(cosY; -1)= Qo
LS
-2 I_H_} @
\/R2 +22
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z=0nbupmd Q=0:
z> 0niypmd

Q =-2rc0os8|%: = -2n(cos9, +1)=- 1_;}
JRZ +z2
Uyuughuny*

LM[I_L} b 2<0,

\/Rz +z2
P = 0, hph z=0,
2"2[1-—2—} tpt z>0:

R? +22

RZ

Ex =Ey =0, E: =2ﬂzm:

4.10 4.8 tuGnph (5) pwGwdth hwdwduyG
¢=-I0Q,

npntn Q-G w)lG SwpiGuighG wilymaGe t,
npny Gpunud t YpYyGulth z6pnp: Q > 0, tpl
bpunud t 2tpnh puywuwiwG (hypwynp-
Jwd tpbup' z< R, u Q< 0, bph bpum k
npuiwG bptup*z >R:

z < R ntiypnuf’

(6)]

@

©

Q=-2rc0os9( = 2n(1-c0s9,) =

=2 1+;}
VR? 422
z >R nhwypmd’
Q= —2_1:0058]" ==-2 l-———z—}
: VR? +7?
z = Rnbypmy*
Q= -2m:os$|:;2 =-cos9, =2n:
Wyuuihuny'




—21:2[1+—‘_}, tpb z<R,
R? +22
o={—2rz, bph z =R,
210:[1-—’—-), tpt z>R:
| R +z?
2nZR?
E,=E, =0, E, o
4.11 4.8 juGnph mO¥wG hwiwduyG (o}
(p=_20$

npnbn Q-6 w)G JwpdGujhG wGlymG6 t npny
bpunwd t YpYGwyh Gpnp: UwpdGughG
wly)ymGp npn2tim hwiwp pGnptGp nhndwG
Ytwnh YuGuinpnbny (x’, y’,z') odwlinwy Ynnp-
nhGunnwliwt hwiwywpg:

XY

n 2n
Q)= [sins'as' jda =2|n-aj:
0

n+a

Zwiagh umGhiny, npQ < 0, bph bpunui & npwjwt bpup(O<a <) b
Q> 0, tph tiptmy t pwywuwlwb tptup (< a < 2x), jupnn b6p
anby

Ujuwhuny

Q=2w-x)

_[2Z(r-a), uph O<a<2m
M 0, tph a =0, 2=n:

E, =E, =0, E,=-1%_2%.

LwwntGp, np (=0, x20) hwppmpjwl Ypw ¢ wynwbGyhwyl
hujwwytu mGh pohsp*
o@ > 0)-¢pa — 2n)=4pXL:

4n
4129 (x.y,z)=—2--‘:°—2 cosax cosPy cosyz,

a‘+p°+y
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4np o
a?+p?+y?
4np P

a2+[32+72

E . (xy,2)= sin ax cosfy cosyz,

E,(x,y,2)= cosax sin By cosyz,

4 .
E, (5,3,2) = — 21— cosax cosfy sin 1z
a’+p%+y

4.13 MnuntGyhwip z < 01 z > 0 YhuwwnwpwdmpniGGEpmyd npnaymd t

Ap; =0 (z<0) U A, =0 (z>0) )

Lwujjwup hwnjwuwpnuiGbphy, pun npmd @, b @, ImGYyhwbbipp
pujwpwpmy b6

op, o9,
g’zn(ib —E—L =0 mine (x’y)’ @

?,(x,5,0)=9,(x,y,0)
uwhdwlwjihG wyuwdwGGtphG:
LwGh np Lwujjwuh oyipwwnnpp wqnbtny sin $mbyyhwih dpw
Gpw wbupp sh thnfunwy, wupw (1) hwywuwpnuiGph MOMIGEPp
Yuwpbith b thGwnpby

01,2(x,,2)=$,,(2) 0 (x,y)

wntiupny, npnlp ntinunpting (1-h dbg ¢, U ¢ ,-h hwdwp unwbng
hGp

3%,

Py -2%,,=0, @z=#0), (6}

Al=a?+p?:

Lwth np phy SwytptnpwyhG hypp hwjwuwp t qpnsh, wyu (1)
hwwuwpnudGph imdmdGtpp whinp t Guqbt |z] > © nhypnd,

nph 2Gnphhy

$,2)=Cie™, $,E)=Cre™
) vwhiwGwjhG wwydwGGhphy Yhtankh C, =C, =2n/A U Jtpg-
Gulwiwubu YunwlwuGp

<P(x,y,z)—— Mg (x,y),

E,(y,z)=-22 . e cos(ax) sin(By),



E (x,y.z)=—2%‘*e‘”" sin (ax) cos(By),

E, (x.y.z)——ﬁe Ml g (x, y):

4.14 Unwohl btnwlwy: Q-GrpuwjhG YnnpphGwwnwiwl hwdiwlywpgnud
gnwd Lwujjwuh owbtpunnnph pluinwyhG dwup wqntym] cos8

$mGyyhwyh Ypw Gpu nbupp sh thnfumd: G hGwpwynpmipyma t
mmmu MmuunGh

[ 26q>(r,8)) 1 [s acp(r,S))
28?‘ or r sin 8 09 o9

=416 ¢6(r —~R) cos9
hwjwuwpiwG monuip théwptk) @, 9) =¢ (r) cos$§ wtupm|, nph
2ununjnuijhG Swuh hwiwp junwGulGp

240),280) 2 _
e T 40 = 4o B -R)

hwjwuwpnuip: Udpnne muxpmbmpjuxﬁ by, pwyh 7 =R Ytwnbphy,
wju hwjwuwpiwG ymdnuip thGwnpkGp ¢(r)=ZC,,r" wuwnh8u-
GwhG wpph wbkupny, npp ntnunptiny Ytpuh hwjwuwpdiwG vt
n-h hwiwp vnwGmy bGp n(n+ 1) =2 pmpugpuul hwjwuw-
pnuip: Quinbinhy unwlmy bGp 7-h bpym hGwpwinp wpdtiplbp’
n; =1, n, =-2: Uyuyhuny wynuntiGyhwih sunwynujhG dwuh pln-
hwlnp (ndnudG t°

¢(=Cir+ S :
)
r - o giypmy ¢(r) - 0 wpdwGhy htwum k, np r> R nwypmd

C, =0, huy qlnuwjhG dwytpunyph Gipumd ¢-h Ytpouninp (hGoym
wwpiwGhy' C, = 0, pp r< R: Ujuuthumy

¢|(r) =C"', (r< R),

+= ¢2(r)=%, ¢>R):

C, uUC, hwuwnunnntGGpp YqunGuGp

= 09, __6&
¢ R)=¢2®R), e =

uwhiwGwjhG upydwGGhphy' C, =470 /3, C, =4nR%s, [

=4no,
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YLhpgGwlwbuubu upmnbbGyhwih huwiwp junwbwbp®

ilt-a'r‘,rcass, (r<R),

o(r,9)= 3
gc‘,g—coss, (r2R):

3 r2
r>R nbupmd qGnh wnnbGyhuwip hwiwpdep t p = @n/3)o R®
UndbtGwnny Ljkyumpulw6 nhunih wynnbGyhwihG:
Ebyupwul nuwmh jupjwonmpjuG hwiwp junwGuip

E,=—‘;—“oooos9. Es=i;-[°osm9’ Eq =0, (r<R)

3 3
Er =-§ECOR—WSS, Es =—41t<!°£—sin3, Ea=0, (YZR)
3 r3 3 r3

Gpypnpn tnwlwly: Yhwnwpytlp Shwnbuwy zZh
R 2wnuwynny +p b —p dSwjwqwjhG funm.-
pnGGtpny hujwuwpwwh hypwynpwd
tpym qGnbph hwdwlwpq, npnGy YtGnpnG-
Gbp6 L6 hunfwwwwnwuhnuGwpup +z,/2 U
-24/2 (zg<<R): Mupq t, np gnuiwpwjhG
thyptiph fuwnnipyniGp qGntiph Yupunpwd
dwunud Y1hGh qpn: 8 wGlyjwb wnwy tipluwynn
Shuninp dwlbptuhG pwdhG pGyGnn (hypp
YthGh z op cos9:

Gpt JuwnwptlGp vwhiwGuwihG wiynui, nph
dwiwbwly z, = 0, p — o uwlj)h z op wp-
wwnnuip $Gmy t hwunwnmG U hwjwuwp 6 §-h, www gGntph
hwiwlupgp YulylGh 6 =0, cosd dwltpumpwhG funnpjunip
thypwynpwd qGnuwjhG dwytplintph:

Oquntiny hwyjwuwpwywih jhypuninpwd qGnh bbnpuywe
nu2wnh (wpjwdnpub (nb'u fuGnhp 4. 1w) wpnwhwpnnipymGhy,
r £ R whpnijph hunbwp YqphlGp (nb'u 6Y. )

E=E, +E_ =‘—; rp(r, —r_)= —%npnoéz -—gﬂ:coé‘:
Twnp qlnuphG Jwitipingpny vwhiwlwthwyywd whpnypmd

hwidwutn t U z wowlyph6 hwijwrwly nnqpjwd: AGnhy noipu
wnwpuwdmpymbmy (z >R) quawnp jhwdpGyGh

91



P= g ﬂR3p2 05, = g ﬂRJC 03:
nhwnjujhG dndbGnny nhynih quiwnh htwn'
3r@, -r)-é,r’

rS

4 .3
=—nR"c
3 0

Ujyuughunmy
—-;nooé,, tph r<R,
; ﬂ3°o3r(éz-r)—étr2

»
rS

tpb r2R:
MNnntilyhwih hwiwp YnGEGwbp’

-:—ncorcos9, tph r<R,
o= 3
iuoog—coss, tpl r2R:
3 r?

4.15 Gipwnptip (wptpp YnnpohGuwnwljub hwiwjupgh OX wnwGypp
hwnmd &6 -h U h Ytwbpmd, huy OZ wnwlypp qniquhtn t
punbphG: Gyph hwdwswihnipyniGhy htanbnud t, np qwpkph gm-
dwpuwjhlG ynnbGyhw)p z YynnpnhGunhy Jwhnjnd 3t b hwdwuyn-
wblyhwi dwibpunypltph SwuhG iphy wtinkynipyniG YunwGubp,
tpt nhunwpytiGp GpwGy wnpnjtyhwbtpp XOY hwppnipjwuG Ypw:
XOY hwppnipjwi (x,y) Yownmd pwpbph untndwd wnnbGyhwip

hwdwéwyG 4.1 fuGnph YihGh®

O(ny)=-21 Inr - 2%, lnr, ==In[({)* (3)*],
npnbnr, =y G+h) 2 +y2, B =yG-h)?+y:
ZwdwynubtiGyhw) SwybpumgpGiph hwywuwpniG t’

(r?)* ()™ = const:
Uwulwynp niwpmy, bpk x; =%, =%, utnwlmd GGp'
x* +y* +2x2yr o2 4 2nY 2 +ht =,

npntin C-G judwjwyw haunuwnmoG t:
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X1 =~ 2 =% nbupnyd huniwuynuabGyhuy wybpnmgpGuph hunjw-
uwpnuip pupGmy

x-a)’+y?=R?,
npntn
4G, p2_ 4C,h?
1-¢," " a-c)*
huy C, -p yudiwjwlwb npujwl hwuwnwnm t:
Ujuwhuny tipghG nhwpnid hwdwununtGyhuwg dwybkplngpGpp R
2wnunnny 2ppwlwhG quuGltp LG, npnGy wowlypGtipG hunnmy
b6 X wnwlypp' x> h Yhnbpmy, bpp C; < 1L x< —h Ynbpmy, tipp
C\ >0

4.16 UnnpnhGunwljuG hwdw-
Jwpgh Z wnwlipG myntGp
YtwnwihG (hyptpp dhuy-
(nn qdny’ pwywpdwy wp-
dtpny thnpp 1hyphy ntiuh
pwywpdwl wpdtpny dhd
thypp: lGnph hwdwiw-
thnipymGhy htnlmy t, np
bpb qnympymG mGh hw-
dwymntiGyhwy qGnujpG dwibpunyp, wwyw Gpw YaGupnGp
quimd t Z wnwGyph Jpw: Apubtu uyqpGuytin pGuplGp
thGunpynn hwdwwnnbGyhw) qnuihG Ywitpunyph YLGunpnGp:
fuywpéwy wpdtipny thnpp ¢thyph YynnpphGwup Gulwykip
z,-ny: q, thyph YnnpnhGunnp YihGh z, =z, +h: MwhwGekGp, np
qGnwyhG dwybpunyph Ypw

¢=q_l+_q_2_
n n

wnubGyhwp, npuntin r,, = JI;Z +zi2 -2Rz, ; cos9, Ywfugwd 3ih-
Gh 9 wGlyymGhy: UwpbdwwhlynpbG nw hwiwpdtp £ $-h popnp
wpdtpGtph hwdwp

@ _o

dcos9
wudwlh pwjwpwpiwbp, npl wju niypmy mGh

a=h

qlil +q2:2 =0 )
n n
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4.7

wbupp: Mwngq t, np wy6 Yuwpnn E ppuljwluwtuw) shw)l mwpwbmb
thyptiph ntwpmd (q,9, < 0): (1)-p Ypunhnjutiiny cos3-h Gyuwn-
dwip gowjhG wptnwhwjnmpyuG b wg m dwh Swutipnd hwyw-
uwpby G ny cos9-h thunnbuwy wuwnh6wGGlpny winuiGtph qnp-
owlhyGtpp, YunnwGwGp

‘Ifzz=qu|a )
2|22 =R2:

Lmotiny (2) hunjwuwpnuiGph hwiwwpgp, Ywpbih t npngt z4,
2, U R dtdmpymiGhpp’
2 2
Z|=—i-ql—2h, Z, =—2—q?'—2h R=—I¥%h: 3)

92 -9 92-9 92 —qi
Ujuwhuny, hwdwwynuntiGyhuy qGnujhG dwybtpumyp qnympymG
YmGhGw ShwyG, tpt |hypinp wwppbp G2wGh (hGGG: Uyn hwdwwn-
wnbGyhw) qGnwjhG dwlibtpunypny wwphwipjwe nwpudwlwl
whpnyph dtig pGYwo YhGh pwywpdwy wpdpny thnpp thypp:
Zbwn b unnmghy, np wyn qGnuhG dwybplnyyph Ypw @ =0
Gpt z, b z, YnnpphGuwnGhph thnfuwpkG gnpowdtlp qlnwjhG
dwytipunyph dhpdwljw Ytwnhy (Gupmd® z =R YnnpnhGunny
Ytwp) q, L g, YwwnwihG thypiph hwiwywnwuuwGupun
hy=R-z; U h;=z,-R htnuynpmpymGGtpp, wupw  (3)-p
YnwnGuw®

'y 2= :
19,14 q,) la,1H g2l

q; = —q, Ywulwynp niwypnud qnwjhG Swytplunpp Ypuoynud &
bnym hyptphy hwywuwpwhtin wGytpg hwppnipjub’
h h

2-q, Roo, h ->= hy->—:
92 9 173 2 2

P@)= 2m(,/§§ +22 - R 422 )

1 1
E,=E, =0, E,(z)=2roz —_—
¢ JRZ+27 RE 422
2nR,cAR 2nR,cARz
] E (z)=———2 1 > 3/2:
Ry +z%)

,2 2’ O F
R|+Z
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p) R, -0, cp(z)=21ro(\/R§+z"—|z|),

E, (z)=2n0| 2 -—— |:
Izl JRZ+2z2

@ R, 50, R, 5, E,(z)=2ml’—|:
Z

4.18 z wnwlpG mnklp onwyh hwiwywhmpjwl wnwGypny, uyqplw-
jun plnptlp onwyh YuGunpnbp, huly wnwlypltpG mnntGp w)G-
whu, np +q thypny Yhuonuyp gpunth y>0 whpniypp: Onwih
ynwnblGyhwip mupwdmpjwa (x, y, z) Yhwnnud hujuuwp YhGh'

?xyz)== ] da -
Tl \/(:T—R cosa)? +(y—Rsina)? +2z2

2%
B da .
x \/(71:—Rcoset)2 +(@-Rsina)? +22}

Onwih wnwGyphG dnwn Ybwnbpmd x, y<< R: GlphGinbgpwy wp-
wwhwpnnpjmbp 2wpph Ybpimotiny puwn x-h b y-h b vwhiwGw-
thuygtiinyg wnwght Yupgh winwiGbpny, junwbuGp

0= 4qRy
mR? +22)¥?
npunbnhy’

0. E o__ %R o 12Ry
Bt e B T g
|z|>>R nbwpmd vnwimd bGp' ¢= 4qRy/ nz>, wjuhGpG vhd
htinwnpnipymGGtph Ypw onuip hwiwpdtp t p = 4gRé, /x un-
dhGunny tbympulwb ghwnih:

4.19 UnnpnhGuwnwywl huiwiwpgh Z wpwGypt pGunptGp onuiyh hwp-
pnipjwll monwhwjuy, wyGwbu, np uyqpGulytinp qubyh onuih
YtGunpnGmy: Lhypwynpjwd hwdwlwpgh quubwjhG hwiwywthm-
p)ntGhy htinumd t, np @ wnuntiGyhwip Yuuuwd 3k nhndw6 Yhwh o
qluGuijhb YnnpphGwwnhy: LywGwymd b, wnwby pGrhwGpnipniGp
juwfunbpn, nhindw6 ftwnp Yuptih E pGnpt XOZ hwppmpjul dae,
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quubuw)hG hwdwliwpgh (r, 0, z) Yhunmid: 1‘2
Onwyh dl'=Rdo’ wwpph wnuntGyhuyb 0 z
wyn Ytanmu YihGh' (z0z2)
=9 do’
do 2n r’
npntin

r =\/Rz +r¥+z2-2Rrcosa’:
Onuyh wnwbkGyhwip phndwlG Ghnmy
Yihth X

q'] do’ )
o2)=2 | : m®
TovR? 412 +22 - 2Rrcosa’

CGnhwGmp phiypmd (1) hGunbgpwip wwppuiwi Imbyyhwisph
dhonyny sh wpnwhwjynygnud: Uja Yuwntjh t GiplujuyGhy

r/2 d‘l’

Kk = [ =t

! \/1—k2 sin? y

wnwgehG utinh |phy tjhyunwywb hGintigpwith Shenyny (wt'u hwyt)-

Jwodh (£.3) pwbwdélp): hujwugtiv, juwnwpbinyg o’ = -2y thmhn-

JowlywGh thnfuwphGmy (1)-p lpupm} tp GhplwjuylGy
29 "¢ dy

1|:‘/(r+R)2 +z% 5 \ﬁ—kz sin?y

@

o(r2)=

wbupny, npntin

k2 = 4Rr .
(r+R)? +22
UpnymGpmy* vjuywp wynnbGyhwih hwiwp unuwGwuip’
qk
onz)= Kk): (©)}
m/Rr
tyupuywé nwywnh E  jwpjwdmpymbép hwzdtym  hunfwp
YoquujtiGp
®__E®) XK ®
- 2
ok k(1-k*) k
wnGsnipymGhy, npntin



n/2

E(k) = ]J %sin’y dy

dhonipymbp Lpypnpn nbnh 1nhy tthupnuwijwb hGwnbqpunG t* (£.4):
Oquiytiny wnnbtiGyhwih (3) wpunwhwywnnipyniGhy U hwyyh wn-
Gbny (4) -p, YuunubwGp®

2
E,(r,z) =% =L{K(k)-a+$—f(k)}
r: +z

o 2nrRr
E, = o 0, ®
6«: qk z
E =- €(k):
! " wRr R-r)? +2° ®

Onwyh wnwGyphG dnun Yhntpmd nwywp npnzbym hunfwp (5)
wpnwhwjpnmpymbGGtpp Yuptih t 2wpph Ytipimdt; pun k hnpp
wwpwitwnph: Utfp wytjh Gupuwwnwiwhwpiwp 66p hwdwpnug
wnuntGyhwih (1) wponwhwyjmmpimbp wpph Jbpimodt; puwn
r/ VR*+z2«< 1 wwpwitwph®

2_4,2
o, z)= 4 1+ R -2 r |
JR? 422\ 4R?+z%)?

E nuiznh haiwp wju ghiwypnl jmGhGuiGp®
qR?-227%)
2R} +22) ¥

ez [, 33R-22 ,
E, (r,z)= 1- :
z (R? +zz)3/2!_ 4(R2 +zz)z

E (nz)=-

4.20 W) o = a/2n JwljbpumpwjhG junmpjudp thypp pwzjuud t XOY
hwppmpjub ypu:
P o = g/4nR? Swybplmpwhi funnippwsp (hypp pwoluwd t R
2wnunynny qGnwishG dwybkpune jpny:
Q) s=q/ 27R? Swybplnpwihl funmpyup (hypp pw2hujwd t R
2ununjnny wtpg qubwihG dwybtplnpny:
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4.21 p(r) = e8(r) - (e/na’)e™2/%: e YounuyhG thypp quuGymud t Ynnpoh-
GuwnwiwlG hwiwlhuwpgh ulqplwybtinmd, huly Gpw  2npep
p(r) =~(e/xa’)e*/* mwpwowywt funnpywidp hnd pwztufwsd t
~elhypp:

q q
. pw=_L
P R

1
2
4.23 WM = —

4.26 Lunnpnh; qGnu)hG SwhtipmypGuphG Ywywdywd q,, 9, thypipp
66 (hntugh, tpk g YhwnwhG (hyph thnjuwpkG nhnwpytiGe R
2wnuynny qGnuyhG dwjipbnypny hwjwuwpwunh puwbudwd q
thyp: Unuyqwd Gnp hwdwlwpgp mGh jphy YiGunpnGuyjwl hw-
dwywhmpymbG U Gpw wnunbkGyhwip quGkm fuGnhpp ndjwpm-
pym i 3h GhpYwjwylnd: Oquybiny

PR)=0, ¢R,)=0

uuyiwGGtiphy, Yunwbwlp
_RR, _R)q =_R2(R-R|)q,
RR,—R) "~ ' R®-R)"
VLYwwtlp, np
9 t9;=-¢
.27 Q -———(I—L)q. 92 =-Lq’
d d

npntin q,-p g thyphy ! htinwnpnipjwG Ypw qnGynn hwppmipywl
ynw Swlwdjwd thypd t:

4.28 Q-GnwjhG YnnpnhGwwnwywb
hwiwlwpgh  uyqpGuybnb
pOwptGp qGnh YhGwpnGmy,
huy OZ plutinwjhG wnwiypG
nunntGp g hyph mnnnipywdp:
hGnph quubwjhG hwdwsw-
thmpjniGhy htitnlmd &, np wp-
nymGpp Ywhugwd sh 1hGh o-pwjwlywl wilynGhy: vGnhpp notlp
wpnwynpiwl dtpngny: GwGlGp wyGuihuh @ 4 (7,9) Pmbyyhw,
npp qGnhy nmpu whpnypmd puwjwpwph MnwunGh hwywuwp-
dwGp, huy qGnh dwybpunyph Ypw @o(r,8)=0 tqpuihl wwy-
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dwGhG: Eklwpuwunwnhljugh bqpuighG luGnph modwG Shwpdt-
prpjwG 2Gnphhy wyG YihGh wyus fuGnph monuip: hGyutu ynyy t
wupjwd 4.16) fjuGnph modwb dke, pym wnwpwlimbG Yhwnwh
thyptph hwiwlyupgh hwiwwynntGyhw; dwybplnypGtph pyntd
Yu qlnwishG dwytpuntp, nph ynw @ =0:
QGnh YuGunpnlp g YhwnwshG thyphG dhwylng hwnywoh ypw,
YGwpnGhy z'<R htnwynpmipjuG Ypw yYbpyGhGp wyGuhuh q'
wuwnytip-thyp, np hwdwwnuntGyhw) Swytplnypp huninGyGh qGnh
dwytpunyph htiv: 9-Gnhy nnipu whpnypmd
¢0 (",S) =i+q_9
n n

npwntin

r, = +r? -2rdcos9)¥?, r, =(z'? +r* =2z c0s9)V2:

Nwhwlotyny, np 6-h pnnp wpdhpGtph hwiwp pwywpwumih
?o R, 9) = 0 wujytwbp, yunwGwip*

2
,_R*

R
. ¢ =-=q: 1
SR it m

Uyuughuny®

R
0o (r,9)= 2 d

2, 2 dr 4 2
Vrt+d*-2rdcoss 4 [ R'  R?
@ d

@

Lhyptiph o, dwytpumpwyhG pwlumdp qGnujhG dwytipuniyph
Ypw Ynpnaklp o 4 = —(1/4m)@p, /6r)ir=k uwhiwGwjhG wwjswGhy'
g9(d’-R?)

R(d? +R? - 2Rdcos9)¥?
0 o (9) PnuGlYyhwG puywpdwy wpdtpny hp wnudbjugm)G wpdtpl
pGnniGmd t 9 = 0 piwpnud b 8-h w6h htnn puwywpdwy wpdtpny

Guqmu t: ¢ YawmwghG thyph Ypw wqnnn mdp hwjuwuwp t gu g
1hyptiph thnjuwqntynipjub mdhG’

6o(®)=- 3)

2
' Rd
Fo=—4 . 4= . C
d-z") @ -R%)
VLljwuntGp, np (1)-p Ywpbith & wpunwhwjnti gl Ajtpunyph
z=R (O) Ytanhy q u q' thyptiph h=d-RUu h’ “owynpm-

pImGGEpnY"
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R R
h!'=—h . '=——g:
d q 4 q ®)
bph R > o U thwdwdwluly d—» o, wjGubu, np h-p Gw Ybp-

ewitjnp, www (5) -hy vuinwuGnud GGp

h'=h, q' =-q:
Uju vwhiwlwihG nbupp hwiw-
wwwnwufuwlimd t wjluhup
uGnph, tpp z < 0 Yhuwwwpwont-
pjniGp yqwd t hwnnpnhynd U
Z ¢ = h hinwynpmpjwub Ypw nbnw-
Unpjwd t g YnwghG hypp: Wu
ntiypnud wnnbGyhwip Geplupuy-
ynui k&

] z<0),

L4 (x,}'.z) =

° k| - d G>0):

sz +y?+@-h)? sz +y2+E@ +h)?

wnbupny:

Q+q% Q+q%
4.29 @(r,8)=0,(r98)+ , 0@)=0,8)+ 5 )
r 4nR

Wuwtin @ (r,8)-6 U 0@ )6 hnulhyywd glnh wninbfyhuG m
dwhbplinpwphG thyph pw2tundG %G ntiu Gwlunpn luGnhpp):
_4q|, qR*@Qd*-RY)|
LI Q 2 _p2v2 | @
d d(d” -R*%)

Uwnwyywohy tpumd t, np d>>R nbwypmd Gpypnpy wGnunth
Gtpnpnudp Yupbih t wGnbub: Uju ghypnd uinwyynd © Gpyne
YtanwishG thyptph thinjuwqpbynmpjuG F, = qQ/d2 UmnGh opkG-
pp: QGnuwjhG dwibtpumjph dbpdwyuwpmy* h =d—-R<<R (d=R),
tpYpnpng wnup qepulznnn t U F, = -q2/(4h?), wyuhGpl mdp
dgnnuijwG pGnyyph t wGwhue wyG pwGhy, ph (hyptpp GnyyGwGmb
bG, pt mwpwlGmaG:



UhwdwiwGuwly (2)-hy plund t, np Q U q GnyGw6mG (hypbph
huniwlwngh hwdwp gnynipyniG mGh wyGwhuh d, hinwnpntpymG,
nph ntypnid ndp hwjwuwp bt qpnjh: d>dy nbwpmd thypp
JuiGynui £ GnyGwlnG hypny qGnhy ( F, > 0), hulj d< dy niypmd®
dqynud GniyGwlmG thypny qGnh Ynnshy ( F, < 0):

4.30 GGpwnptGp qGnh YLGwnpnlp qunGymd t YynnpghGuwwnmwwu hwdw-
YJungh uyqpGultinmy, hulj OZ wnwbypG mnnwd t E, nuwnny:
Zwidwubin quwnp Juptih t GnyyGuyGh) wikpe himmd qunGynn
npujwb b puywuwlwG (hyptph bbYmpwumnmwnmhply nuywnh htwn:
bufuwbu, tipl g U —q thyptpp qunGymud G z = —d 1 z = d Ytanbpmd,
wyw YnnpnhGuwnGhph uyqplultimnid z<< d sjwihtpny whpmy-
pnui t[bumpwllwﬁ nunp hwidwpw  hwunwnmG t, mGh
Eo =2q/d* jwpquompyniG b pw mquéhpn hwdwpju qniguhtin
tG wnwGyphG: d > o, g o,q/ d*= const uwhtwGnu nw2wnp
62qnunpbG Yupbih t hmummmmﬁ U hwdwutn huiwpty: Lwiw-
dw)G 4.24 Julnph z =d Ynmd mhqu.u[npqmb —q \hyph q, =gR/d
wunnytip thypp qnGymud t z, =R?*/d Yswnmy, huy z =-d l]humui
wbnuynpywd g thyph q; =-gR/d wwwnlbp hypp' z, =R*/d
Yhwnnu:

P(r,9) Yanmd wnnbGyhwip hwyjwuwp ¢
¢(r,9)=—l+q_'+i+.q_z 9 Rq q R q
n n rn n rn d n rz d r’
apunbn
n=d*+r*-2rdcos9)"?, r=(d*+r* +2rdc0s9)"?,

‘ 2 V2 4 2 12

n [B—-+r2-2R cosS) r —(R—+r +2"R cosS)
d? d d? d

Zwzth wnGbiny, np hwdwdwyG Yuplimd wpjwo GGpwnpmpjub

a>>r, umwngo wpnwhwjypnmpynGp fuwpnn tGp 2wpph t[hg[mbhl

puwn R?/ rd hnpp dbdmpywG, nphy htann, hhptiny, np 2¢/d* = E,,

YunwGwuGp

3
¢(p,9)=-s.,(r-52-)eoss:
r

Ujuwntin —E4r cos9 = —E yz wbnwip E, hwiwubn nuawh wynnkG-
yhwG t: Gpypnpn gnudwipbihG wunybp thypbph, Ywd, np GnyGat’
qGnh dwltiplntyphG dwiwdjwd o (r,9) funnipjunip thyph vintin-
owd ynntiGyhwyb t:
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c,9)=--L22| -3 E coss:
4nor| p 4n
4.33 W=—q!;ka (R='2—'|)»
R3

4.34 Yhymp p;nhuynip qunGymd t YnnpphGuwinujwl hwiwywpgh
uYqpGuwltiinmu: p, nhynip yunnbpuyGhGp npytu +el —e pym
thyptph hwdwljwpg, npnlGp qulGymu &G, hwiwyunnwuuwiw-
pwp, ro+p,/2e U ry—p,/2e Yntpmy, pln npmy e — o p,
nhunih vntindwd titYwmpwuwnwnhy quwnh pwpjwdmpymbp ry
Ytanmd GwGwytiny E, (r)-ny, p, nhwnih ypw wqnan nidp YgptGp

wjuujtiu
. P2 ) 5
F, =lim|eE,| ry+—= [—eE;| ro ——= ||:
2 ¢-m[ l(o Ze) l(o 2 )]

Oquujuny E, pniGyyhwyh
E (1, +P2 |=E (r))t L (@, -V, )E,(ry) +0 p:
11 ¥0 2e 10 2e 2 n 190 2 2

€r

Jtpimompymbhy puwn p, /er, wGyjbpg thnpp dhonpjwb, Yymbh-
GuGp*

F,=(p;-V, )E (r):
Zhobynt, np E; (r) = 31y (py 7o)~ py 72 )/ v (nbu jutinhp 2.20), gh-
wnih ypw wgnnn nmdh hwdwp YuinwlGubp

3
F, =-F, =‘r—7{"5'o @1 -r)p2 1)+
°

+’3[P2(P| 1) +P (P2 7o)+ 0 (P2 -p )}

P2 nhunih ypw wennn mdh dndtGwnp wyn ghynih tpypw;wihw-
Juil YLGwnpnGh Gunduwdp rp Jtljwnpny pGmpwgminng Ynp)
Yynpnzyh

K, = lim e&xE, ro+£2- +(-e) -B2 x E, ro-—P—Z-
o | 2e 2e 2e 2e
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wnGsnpymGhy, npunbnhy’
3y xro )Py 1) ~(2 xP1) 78 .

o

K; =p,xE (ry) =

Liwh dumy| YunmwmGubp*

K, _3@1xn)p; ) -, xp,)r3 .

5
o

4.35 Oquytiny p vwppwyw ghuynih wnntGyhwih ¢= p-r/ r wp-

wnwhwjnnpymbhy L JbpuwnpiwG uyqpmbphy, JunwGwlp
lp(l')= IP(r )'(r_ar )dV'.
v lr-r

npuntin hGnbgpnuip yumwpymd t puwn qlinh ¥ dwywih: Oqunytiny
Qumu-Ouwnpngpunulm pinptidhy U P = const wjujdwlhy ¢(r)}p
YyGhplywjwyGlGp SwhtpunipwjhG hGmtigpwih nbupny’

P.dS _ (Pcos9ds.
¢(r)=tsf"_r.‘=‘sf

fr—rf
Wuwntin hGwnbgpnuip Yuwmwmmy b pun R 2wnunjnny qGnujshG
dwytplunyph, hulj z wnwGyplG muynwo t P Ytijuunph mnnmipjunip:
Quunnpbl ¢(r)p o (3) =P cosY dwltplimpuwhG funmpjudp thy-
ptiph pwplumdm] qGnuyhG Swibtpuniyph wnnbGyhwiG t: Ldw-
dwdéwjh 4.14 juGnph

4—":Erooss (r<R),
0¢,9)={ >
’ 3
4nPR cos8 (r2R):
3

Q.Gnhy nmipu (r 2 R) nwanp hwipGyGmyd L qGnh YLGwnpnGnd
nbnunnjud p = @R’ /3)P UndtiGunny mwppwlwG nhungh nug-
wh hbw:

- 3E, P 3 e~-1

, =—E,—:
€+2 4an e+2

E=E+¥p-t2pg
33

npntin E-G wpnwphG nupwnG b ghtibinphyh Gepund, P-G tihy-
wnpwlwi putnwydwb Yayunnpp:
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~1
.38 c=(A{ L 1) 1f1_1
€ R, R €y R Rz

Guupjwd thyptpp Ynunwipymi 6 phtybnphyh w6 Swutpmy, np-
wtin wihwiwubnmpymGGtp Yuwb, wjuhGpl YnGnhlGuwnnph phplin-
Gtiph htin hupiwG SwytpunypGlphG (r =R,, r =R,) U pudwliwb
uwhdwGh ypw (r =R)

c®) = _9€ -0 ey _9€:-D ® __49 (l 1}

—— | — — e

el 4nR,e,’ oy = 4nR2e, "™ 4sR?|e;

UWyuntin -G GlpphG 2pgwnhph thypa t:
Qnuiwpwphl uwupwd thyph hwdwp ymGhGuGp’
Qpmy =0 oy 7R} +o 520 -4nR} +0 8 -4nR? = 0:

4.39 iput dhgwywjpnud E nuiawnp w)n shewywjpm g Yunw)hG |hyph
U nhtitnphyh vwhiwGh Ypw swjwdjwd SwytpumpwihG jhy-
ptiph untindwd nuwwntph gmuiwpG t°

- Le. g0

8nyyy mwbp, np wju piwpmd dwitpnipwihG Yuwywod thypp Yb-
wnwjh6 t U quGymy t q YunwphG thyph wldhowwG ypgwlwypnud:
D ytyunph mnnwhwjwy pununphsh wipGnhwnmpjuG wpwjiw-
Ghy bwppmipjwl pninp YLwnbtpnid, pwywnmpjudp 7 =0 Yhwh,
D,,z=0)=D,,z=0) Ywd &,E,;,(z=0)=¢,E,,(z =0) DHhiby-
wphYGlph pwdwbiwG z = 0 hwppmpjw6 r1 Yhnnu, npinkin T-6 wyn
hwppmpjwG dhg pGywd Shwynp YunnpG t, mGuGp

E)="1S+E®¢t), B b= "’2 +EP@%):
&r Ear
Ujwbu, np E, =E©, E,, =E: 2htjtynphyGtph hwpp wwh-
dwGh dna Juuwwd thyptiph Ynndhy uintindywd nuznp YhGh'
E® (1) =-2n0h, EP(r1)=2m%,
npunbn o'-p uuwd thypph Swytpumpw;hG funmpimG6 t r3
Yhwnnus: Lwoh walibpny ybpphGu, D Ybijwnnph nuipnwhwjuy pw-
nunphyGeph wGpGnhwwnnipjwl wwjdwlp YoptGp wyuutu’
€210’ =g, 200",
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npwntinhy Yhtnbh, np puwdwGiwG uvwhdwGh pninp Yhnbpmy, pw-
yunnipjuip z = 0 jtwnh,0' =0:
Uyuwhuny, Yuuyjwd (hypbpp dwywdynd t6 g YwnwghG hyph
wGdhowlwG 2ppwhuypniy: Linmbwpwp, unbndydwd nupwnp YniGh-
Gw YGnpnGwlwb hwiwswhnpinG: fipytu hGntqpdwG dwyt-
punyp YbpyGtGp qGrpughG Swyipumgp, nph YEGupnlp hudplyGnud
t g YanwihG (hyph htw: Oquuybtim] QGwnu-Ouwnpnqpunuim
ptnptidhy, YniGliGuGp’
22D, +2nr’D, = 4ng: m
fwyh wyn E ytliunph 2nzunhnn pwnwunphyGiph wipGghunnt-
pjwl wwjyiwlh hwiwéw)l' E, =E,, Yywd D, /e, =D, [e,:
Lwyh wnGhiny, np pwdwliwG uvwhdwGh Ypu D YtijwnpG mGh
2nunhnnh npnmpyntG (D, = D) jumnwGubp
€2D| =G|D2: (2)
(1) U 2) hwyjwuwpnuiGeph hwiwuntn MOmdp wmwihu t D, W D,
duompymGGtpp
D, = 2qg, L, D,- 2q¢; r .
€, +€; p’ €, +€, o3
Qb jupywdmp)niGp tipym Shewwjptipnud b Ynpnath
E-—2_ &
SI +ez r
wnGsnpjunip: MnintiGyhwih hwdwp §nGLGwuGp’
2
& +32 r )

=

9

€ +E 1 ’
o) ='—“"—’"zqel » O2 -"“'—zqe2 ’

2ra” (€, +€3) 2ra” (€, +€3)

[Tl IS (C Tl I
Zmz(r., +€,) un 21m2(el+ez)
GmudwpuhG Yuupjwd hypp YihGh

Qyung = -9 (1-2/€) +€2)),

hGsp hunipGyGned t Gwjunpn fuGnph wpryniGph htwa:
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4.41 OqujbGp wpuwynpiwG Stpnnhy: MnunbG- A \

yhwip wnwghG dhewdupmu, nputin g (hypé n
t, thGuptGp atg /n
P = i +£ 1) £

eEn gn —>

wbiupny, huy bpypnpn dhowtwjpmd’ & / Xy
-a
0, =20 @
€2h

wtiupny, npuntin a b B-G hwutnunnmGGtp UG,

n =\/xz +y2 +(z —a)z, r =‘/Jc2 +y2 +(z -i»a)z

o U B hwununnmGGtpp YnpnotG

E\, =E;;, Dy,=D,, 3)
uwhiwGwjhlG yuydwGGtphy:
(1)-h U (2)-h oqinipjunip hwytiGp puywntph jwpduompyntGGlipG m
hnntyyhwGtpp'

g g L 4
E|=—V0l=——Ql +aq§, Ez=—v¢2=Bq|3,
en eyr; 324

DI =8'El, Dz =82E2:
3) quptwGGhphy o-h U f-h hunfwp Ym GhGwbp
€ —€, 2,

a=—, B= ’
€ +€, €y +&,

npnlp wntinunptiny (1) b 2)-h $he, YumnwbGwlp ynmntGyhwiGhpp
tpym shounjuypbpmy”

4,575 4 (>0,
e \ry & +€, &1y
2 4 z<0):
€ +82 n
PudwiiwG z =0 hwppmipjwG ypw Ywupwd hyph pwzfunuip
YihGh®

ok, y,2)=

=1 (%_é‘v_x) -_9a_ _&1-€
z2=0

T 2mrd £,y +E;)
npwbn r = yx? +y? +a?:
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Qnudwpuwijhl Yuwywd thypp Gny6 hwppmpjwuG She*
qliew = 9@, —¢€3) .
€ +€3)
q thyph quGybym nbinnul wnwwywd Yuwupwd thypp YihGh'

o _ 4 — (1 gy ~1 _“el—l
Vg = IdedV— Idw( y D,)dV— , q

Wdpnne Yuwupywd 1hyph hwdwp junwGwlp
gy ) _ [ 2
Qyay = Qyuny + Tyuny q(l £l+82],

npp hwipGhimy t (4.39) juGnph ntiwpnd €,, £, puthwlybihm-
pInLGGEpm| dhownjwjptinh hwpp uvwhdwGh Ypw qunGiynn q YtinwjhG
thyph dwjwdwd Yuupwd thyph htn:

4.42 @, (r) u @, (r) WnbLGyhw Gpp punjwpwpm GG

divie grad ¢, (r)) = 4ned(r-rn),

div(e grad @, (r)) = 4ned(r—r;)
hwjwuwpnuiGephG, npntn €-p Shewwyph phtiyupuljwi pw-
thwGytihmpymG6 t: UnwehG hujwuwpmip puqiwwwnytGp
@, (r)>ny, tipypnpnp @, (r)}ny U hpwphy hwGkGp. junwGwup’

divep, Ve, )~ divep, Ve, ) =
=4ne[Q, (r)d(r—1;) - ¢, (r)8(r —ry)]:
Uju hwjwuwpnmidt hGnbgpbtip pun wipnng wwpwdmpjwub b hwy-
yh wnGtGp, np YanwihG thyptiph nuznt widbpenut dqumaid t
qnjh: Gunwbwlp’ ¢ (1) =@, (n ):

4.43 blpunptiGp E-G b D-G nwwntpG GG vhGyu nhtjkywnphy dnybtyp,

huy E’-p U D'-p’ htnnn: Fwpwh tGbpghuih thmhnfunipymGn YjhGh
W= [ D'-E-D)aV, (1)
8n

npntn hGntgpnudip junwpnd & pun wdpnne wpwonpyuG:
8njy mup, np IE -DdV = I E-D'dV :hbujuytiu, oqnugnpdtiny
Qunmu-Ounngpnuinuym pinptiip, Yo GLGwGp'
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IE-(D -D")dV = -Igmd(p-(D—D')dV =
v | 4
=- j divie(D -D"))dV + ]‘ odiv(D -D")dV =
| 4 | 4
=—Jo(D-D")-dS+ Itpdiv(D—D')dV =0:
S 1 4

Lwbh np wnwehG hGutgnmip wwwpnd t pun wlybpg

htnwywd dwytplum jph, huy thyptph pwlunuip bpym nhupma &y
GnyGG £, wmwypu divD =divD’: Ladwd duny Yuptih t ymyy wnwy, np

[E'-D'dv=(E"Dav:
Oqunytiiny wju wnGynipymGGLphy (1)-p Yqptlp wjuybu
1 1
W=— |[(E'-D-E-D')dV=—— |('-c)E’'-EdV:
8n I ( ) 81|:.I ( )
Lwbh np qpnjuljwi dsnnwynpmpjunip E' = E, www nhtitlipwmphy

pwthwlytiihmpjw ¢ = ¢’ —¢ wlytpg thnpp thnhnfumpjwé nhiy-
pnui tGpghwjh thmhnhunpniGp wnwighG dnwnwynpnipjwdp Y1hGh

oW = [SeE?dV:
8n
4.41 Glpwnntlp V-6 hwnnpnsh qpunbypwd whpnyph t, huy ¥; -p’ hw-

nnpnghy nmipu quGynn whpnypp: PGywbu Gwjunpn juGnpnid,
tGbpghwjh thothnfumpymGp YihGh'

8W=—l-J'(E'-D'—E-D)dV:
8n

4wjyh umGliny, np hwnnprsh Gipumd (r €V,) E'=D’' =0, Ym-
GhGwGp'

W= [@&-D'-E-D)dV-_- [E-Dav
8n v, 8n v,

¥, ounjwih hwiwp Yhpwnbinyg Gwmu-Ouwpgpunguym pnptnip,
hwytGp htwnljw) hGnbgpup

IE'-(D‘ -D)dV =- Igrad(p’-(b‘ -D)dV =

v, v,

= —g ¢'(D'-D)-dS- cj ¢'(D'-D)-dS + [ ¢'div(D’ - D)dV =0:
S, S. | 4

]
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U2blp, np wnwehb hntigpuiip hwywuwp t qungh, pwlh np hwnnp-
nh So ywytipunyph ypw ¢’ = const, huy hwnnprsh (phy thypp hw-
Jwuwnp k qpnjh: Bpypnpn hGntqpnuip qpnyh & ppmy, pwGh np
Juunuwpynud t wGybpg htinwywd Swytpunypny, Gpponpnp' npny-
htinl thyptiph wmbnwwpd wtnh jh mbhyly (divD =divD’): Yju-
whuny’

[E-D'dv=(E"-DdV:

v, v,

Oquytiny wju wnGympymGhy, YniGhGuGp'
W= [€'-E)-Dav-_ [E-DdV,
8n v 8n v,

Ju, Glpunnh mGaGw)ny, np ¥, wnhpnypmd nhtibnphy punhwG-
gy hmpjwl thnthnfumpymG watinh sh mGhyby €' =€)’

oW =L I(D'—D)»EdV—-l— [E-Dav:
8n,; 81rv.

LwGh np jB'-(D'-D)dv=o wuw

v,

§W =-L [(0'~D)-(E'~E)dv-_ [E-Ddv<0:
81(,,1 81!,,.

4.45 W=-p-E, npmtin p= IprdV:

4.48 UGhqnunpny Showwypmd D, =g, E; = —€,, 0¢/3 x,, npp nbknwu-
nntiiny Uwpuytih 8D, /0x; = 47ed (r) hwjwuwpswi dbg, junw-
GwGp’ \

En axaia:k = ‘4“308('),
jwd pbjwpnywé ynopphGwnwliui hwiwhungh wowGyplGhpG
ounbiny € 5 ptiGqnph qfuwninp wowbGypGlph nupnmpywidp’

2 2 2

e® 0 P e® 9 q’+8(3) u=-4ne8(r):
ox? &’ oz’

bpl whyGhGp

x'=

x y' = y z'= z
Je® Je® Je®

(np (impnjuwlwGGhph, Yepth hwyjwuwpndp YnunGu
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e az¢ e 4ne

8(r),
ox'? ayﬂ az'1 \/e(")eme(‘)

npp thwuwnnpliG e’ =e / Ve®e®e®) ytinwhG (hyph untindwd
wnuntiGyhwih hwjwuwpmib E guunwpyntpjuG dte: Ujuuhuny
= e N
JeOeEx? 102 L @00,
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8.1 Phn-Uwywph optiGphy

5.2

qLNtu 5
uuguhuuusushul

B=&ch‘dr>;R !E_IA’
¢/ R c

nputin R = r —r’, r-p nhundwG Ywnh, r'-p
thwy hnuwGph IdlI' wwupph wnudhn
tlipnnpGlipi LG: A qdwjhl hGwnbgpuyn
hwytim hwdwp wjil puqiwuwunnytGp
Juiwjwlhwi a hwuwnunnmG Yunnpny U
oquutiGp Uwnpuh ptinptivhy’

R-dS’.
=2

Rxa
= |rot' ——-dS8'=|(a-V')—-dS'=
[ ;,<- =

Wyuntin rot & V ouipunnnpfitiph ypw 2wphjup GawGwym t, np
wowlynuip juwnwpdnd & puwn 7' YnnpghGuinh: Lwyh wnGhiny,
np R yJbtywnpp $' dwybtpunyph dS’ wwppp nhndwt YhnhG
vhwyGnn JulwnpG t, Yqptp R-dS'/R® =-dQ U funwGulp
a-A=(a-V)Q=agradQ,
npnbtnhy winwiyymd t ypwhwloynny wnGympynGp:
B= u gradQ
c
LGwnpbbp nplt L thwy YnGwmp, npp C Yb- ,
wmy hwnmd bt Gwjunpng fjuGopmad pGGuply- L
Jwd L' ynGunmpny 2powthwljjwd S dwlh- ﬂ\
punypp: L'-p 2ppwlydwb nuynmpymGp 9‘9); P
hwipGyGnud t 7 hnuwGph ninnmpjwG htin,
hulj L-h 2ppwilydwl mynmpjnilp Gpw htan
Juqimi £ we ynnuunwYwjhl hwdwywpg:
Thunwplytlp L

§B-di=" {gradr-ar
L i
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53

5.4

sh.

5.7

Ynpwqhd hGuntqpuip: Uymnbtn sh Yuwphih oquyty Uwnpuh pbn-

ptvhy, npmjhtinb GiphGuintigpw wpnwhwpnnipynGp wiplinhunn

t: Q GwpdGuyhG  wGlmGp, nph wwl P Ytnhy bpumd t S’

dwytpunypp, YnGuompny §GY (phyd wwnyn juwmwptne ghupnud

4nh hwjwuwp pnhsp t Ypms: LwbGh np § gradQ - dl -p Q dwpd-
L

GuyhG wiyywG thmhofumpymG6 t YnGummpny dGY iphd wnnywn
Yunnuuptip hu, wupu winulnd LGp

43.&:4—ng .
i c
H, =H, =0, ,
ir, bpl (r<R), Mr, tpt (r<R),
R? R?
Ha= C Ba= C.
2 2l
—, bph (>R) -, tpb (r>R):
cr A e
H, =2, B, =20 gery,
CRI CR]
H, =2, B, =2 ®<r<ry),
cr cr
2I R} -r? R} -r?
= ABIT B =BT @y<reRy),
aR3 "Rz cr R;“Rz
H,=0, B,=0 (r>R,);
Tonnnymd quanp hwdwuto t* H = ——?T:
c(Rj -R3)
V=‘E, H, =£, H,=H, =0, A, =-——2£—Ilnr+coml:
¢ c

cr
2hjwpinywt YnnpphGunGhpny’

2 2 [ 3
H, =—-;2-y, H, =-c—rz—x, H, =0, npnbn r=4/x? +y?:

YUnnpphGunnuwjué hudwywpgh X wnwlyp ninntiGp hwppnipjuG
Gnpdwny, Z wnwbypp' hnuwGph mnnnpjudp: UwhiwGujhG
wwjdwGGhphy Yhtnup
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5.9

—Ei (x<0),
c
E i (x>0):
c
UnnpphGuinuwluG hwiwlwpgh uljqpGuybtinp ntnulnptGp hwp-

pnpjniGGtph dtgwbtnnuy, X wnwlypl nuyntGp hwppmp)nGGLpha
nunwhwjwy, Z -p’ x = a hwppntpjwG hnuwGph nipnmpyudp:

-3, @<-a), 0, (<-a),
c
w) H,={ 0, (-a<x<a), PH, = —i’-‘i, (-a<x<a),
[
A x>a): 0, (x>a)
[

blpwnptlp jwpbpp YnnpohGwwnwmb hwiwywuwpgh X wnwGypp
hwnnmd GG /2 U -b/2 jnmbpmy, Z wnwbypG mnntGp x=b/2 Ytnny
wGyGnn hnuwGph mnpnipjwdp: Oqunytiiny z wnwblypm| nunywd
wGytpe tpyuwp I qowjhG hnuwlph unbtindwd nuwnh Jtjnnp-wyn-
wtilyhwih 4, pununphsh

A =- ﬂ Inr
c
pwGwdlhy (int'u julghp 5.6) U YepunpiwG uyqpmbphy, Yqptlp®
A s == 2_"1_ In _r_l_;
c n

Ujuntn r-p U rp-p nhndwl Yhnh htowydnpmpymGGipG b6
huniwyuwwnwujuwluipwp x=b/2 b x=-b/2 Ytwntpny whylnn
{wpbphy

rly =(x¥b/2)* +y%:

Upuuhum|* -
A, My G#b/2) 4y
¢ (x-b/2)*+y?
H,=1% _ by
n oy cnn
H, __1%_=_£ x+3/2_x-l;/2 . H, =0
B ox c r n



6.10 UnnpnhGwwnwiwl hwiwlwnql pGunpblp Gwhunpn luGpph GlwG:
x=b/2 Ytinny wlyhnn hnuwGph unbndwd nuwnp tpypnpn hnuwG-
pwwwp jwph ypw YihGh

. S
e (x-b/2)% +y?
_H_ﬂ%____ﬁ

Y e k-b/2)?+y? b’
H,, =0:

Oquytiny Udwtiph niéh dF = (I,/c)(dl;x B, ) pmGudlhy U hwah
wnGtny, np I, -p z wnwGyphG hwjwnwy b ninqjwd, tpynnpn (wph
dhwynp bphwpmpjwbp pwdhG pGYGnn nudh hwdswp junwbwlp®

I I I
fx=_B|y =‘i_’ fys-;lezov [y =0:

EGtpghw( YihGh®
212
Wi, =—2!n b +const:
(4

5.11 UnnphGuwwnwiwl hwiwywnpgG pGwnptGp wyGuwbu, np phptinp (1,2)
hwppmpjwG dhg qpuntyGh -a/2<y<a/2 whpmjpp, hul hn-
uwpG nuynywo (hGh z wnwlypny: B hptinh [y, y' +dy’] wiytpg
pupwy 2tpnh vintindwd quwh hwiwp 5.6 fuGnph hwiwdw)G
ynGLGwlp’

dH, =-H gy Y=Y
ca’ (y-y)?+x?
dH, =2"dy’—Lz_2’
ca” (y-y)+x
dH, =
Quuwptiny hGntqpiwG qnp(mqmp ynGp, YunubGwip
1 9=a/2) +x?

T ac (y+a/2)2+x

A +a/2 -a/2
H, =—-(arctgy 2 —arctgy ), H, =0:
ac x

p 4
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a — o ghypmuy*

"2_ui$ (x< 0),

lim H, =0, lim H, =
. e H. x> 0)
Ifa—i c ’ ’

npp hwdpGyGmy t 5.7 fuGnph wpnyniGph htn:
.12 UnnpphGuinGtph  ulqpGuytnp  pGunpkGp YA}

phptnGtiphy dtyh howbnmu, Z wnwGypl  a/2

nuntlp Gpwlny wGylnn hnuwlpny, X-p’ Y Fdy
PhptinhG manwhwjwy, wjGubu, np bpypnpn by
phptinp hwwnh x =b Ytanmy: UnwughG phph- o X
nh quzwnp tpypnpn phptinh [y, y + &) w@- )OI -I®

ytpg pwpwy 2tpnh ypw YihGh fuGnhp 5.11)
10 &= a/2)? +b?

ac (y+a/2)2 +b?’
2 +al/2 y-al2

H|’ =;(arctgy——b——a.rag b ), Hl, =0:

Oqujtiny Udwtiph mdh dFy; = (I,/cXdl;x B, ) pmGwdalhy U huy-
yh wnGny, np I, hnuwGpG manjwd t z wpwGyphG hwjwnwy,
bpypnpn phptinh [y, y +dy) 26pnh Shwynp bpywpmpyuG Yypu wg-
nnn nudh hwdwp YqptGp®

I I

dfx =——Blydy’ dfy =—_ledy’ ‘y‘z =0:

ac ac

LwGh np B, $mblyhwb llhﬁln t mphd(i‘
fy=-= j By dy=0:
€ _an2

Yunnwptiny hGwntiqpnudp, mdh qpnjhy wwppbp f, wpnjtiyhwh
hundwp YmGEGwGp’

al’p a b a?
2_ 21+
Je= ac? [arc'gb 2a ( b2 )]
a = 0 phwypmyd winwyynui t
W
fx == 2, °*
cb
nnp hwdpGyGma t 5.10 fuligph wpnymGph htn:

Hlx
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.13 UnnpphGwwnwywG hwiwjwupgh uyqplw- [ ¥
QG pGunpiGp onwyh YLGwpnGmd L Z
wpwlypG mnnbfip Gpw hwppnipjwGG mn-
nwhwjwy wjGutiu, np wyn hnuwiph nuynm-
pjwi htiun Juqdh we upnnmunwyuighG hwiw-
Yupg: dbyunnp-wynnblyhwih hwdwp mbhGp

_ul
_cIR’

di

'Y do
nputin
R=\((a¢os<:t'—rcos.cv.)z +(asina’-rsina)? +z
=‘/;2 +r2+z% ~2arcos@’ -a):
Zwyh waGbiny, np
dl, =—ada'sin(@’'-a), dl, =ada’cos@’'-a), dl, =0
U oqujtiiny $mGYyyhwGtiph wywppipwywmpymGhy, yunwGuip'

2r . P
A,=—£€ sin o da =0,

z:

pla %% cosa da’
Ay =—

k4

¢ ova?+r?+z%-2arcosa’
A, =0:

Yunuptiny o’ = n- 28 GuGuyny, Jupnn GGp 4, -6 wpnwhw)-
wby K U € 1nhy hihwpunwYwG hGnbgpuiGipny (nb'u hwybpjwoh
£.3) U (£.4) pwGwalbpp)

_wi(a)"” z-) 2
a = c(r) [(k k |X() k‘E(k),

4ar

npuntn
Keem—

(@+r)? +z 2
UwqGhuwuiG nuzwnh pununphsGipp hwgtihu, oqunwgnpdtymy|
£.5) U (£.6) wnGympyniGitpp, Yunwbwbp'

2,22
H =22 [“ e —— f(k)—x(k)], H, =0,
¢ r‘/(a+r)2 +z2|@-r)+z
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2 2 2
H =2 _ L [" _rz—zzﬁ(k)ﬂ(,(k)]:
"'«jia«i-r)zd»:z2 (a-r)" +z

Qunp onuih wrwGyph Ypw vnnwGupnt hunwp Junmwentlp r—0
uwhiwGuihG wiynui: Oqunityny «&-7) 1t (£-8) JbpndnpymGGhphy
JunwiwGp

_ 2mdfl |
@t +z)M?
5.14 UWdytph pwGwdlpy U Gwhunpr juGnph wpnymGphy Yhtnbh'

2 2 2
b [ G +aptb_ z(k)—x(k)],

4z
Fz =_—2'IIIZ 2 >
7 J@ +ay)? +b
npntin

(a, —4a; )2 +b

4a,a,

kl=— 12
) (al +az)2 +bz

.15 Uwpuytih rotH = (4%/c)j hunjwuwpnushy htinmad t, np  divj=0 :
Vawblwlmy t ghnwpyynn vwhiwGuwigwy wppnypmd hnunud &G
hnuwGpGtip, npnGy hnuwGph qotpp thwly Ynptip GG: Guwwnwpbiny
JidV, > [;dl, vwhbwlwjhG wiynd ouwnjwiwihG hGntgpuihy
qdwshG hGntigpuii Gtiph

jjdv=):ligd:,,

npntng di;p i-pg thwy hnuwGpunwp qoh wwppG t: {wagh wn-
tiny, np <§ dl=0, vnwlinyd bGp wwhwloynn wnGympymbp’
I § dV = 0: LG qpuruympjwlp Yupnn GGp quiy, oguitiny 1.16
luGnph wprymGphy:

$.16 X YynnpphGunnuwywG huswipupgnud m = (1/2c) I(r x j(r))dV: Uly-
GtGp YnnpnhGwnwlwb X hwdwlwpgh, npntn r’ = r —a, hnuwG-
ph dunjwiwshG fenmpymbp’ j'¢') = j(r), huy SwqGhuwyw( un-
dbGwnp’ |

n=-§z I(r x j'r')dv’:

YunnwphGp 7’ = r - @ hinthnfuwwGh hnfuwphGnud®
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' 1 )
m =m—5-£(¢x j']dV).

Jtppwynp whpnyplbph nbwpmd, hGywmbu ynyy t wnpdly 5.15
ubnpmy, I JdV =0: 8myy mwbp, np wyu wpupiwlp Shown t Gul
wj ninpmy, tipp hnuwGpGbpp wWuphwiwd 366 Yepgpwndnp dw-
Jupmui: G= I j dV hGubgpwip pugqimwupunybip juiwijuljwa b
Voo
hwutnunmG  Jtywnnpny b hwph wnGhGp grad(d-r) = b wnGyni-
pymGp’
b-G= (j-grad®-r)av
Voo

npp divj =0 wwydwGh 2Gnphpy YrwnGw”
b-G= Idiv((b-r)j)dV= §@®-r)jds:
Voo SHo
£wGh np m-h wpdtpGpp vhan Ytpowinp b6, GawlGwymd t j-6
dhonpjunip whytpgmu Gwgnud t unfbjh wpwgq, pwG r"-n: LwGh
np S-p wénwd t npwbu r? wyw unwyywd SwybkplmpwjhG hG-
wmbtigpuip § — o niypmd dqunnud t qpngh: Vawlwynud t b- G =0
Luwth np b Ytpnnpp judwjyulwa t, wupn G =0, npwntinhy by ht-
wini t' m' =m:
8.17 {wdwutin  nuwmh  ntypmy rot(Bxr) =28, npintinhy A Jby-
wnp-wynnbGyhwih hwiwp uvnnwyynud t
A= Bxr
2

JbpohGu nbnunpbiny dwqGhuwlw gwownh tGhpghwih wpunw-
hwjynmpjwuG thg uinwGmy LGp

W=m-B:
6.18 Mlidh UmihGunh vwhiwlinuthy W Udwbph pwGwdlhy, YoptGp
K =1 [[rxGxB)Jav: M
c

Zwyh wnGlpny

rx((xB)=jx(rxB)+(rxj)xB
ybyuinpwywb GniyGnipynilp b Swghuwyw6 indbGnh (5.11) uwh-
dwnuip, (1)-p YGbpYwjuyGtGp wyuwbu®

x=.x3+;l:. I[rqu3)+]x(rx3)]dl’: ()
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Ujdd yniyy wwip, np (2) wpnwhwjpnnpjuG sy hGubgpwip hw-
Jwuwp t gpnjh: LwnbGp, np

fi dv:Zt,gdt,

thnfuwphGmudp hGupwynpmpyniG unw wyn SwyjwiwjhG hGnb-
qpuwin gnti wGyting pwpwy dhwy hnuwGph gdtph tplwGpny hpw-
JuGwyynn qdwjhG hGwnbgpuyGtph nbupny

21, qlr = (dh x B)+dlx (rx B)] =
i L,

= 3 1,qldL(r-B)+r(dL - B) - 2B(r-dl,)]:
i

LhpohGu puqiwuwpunljtip a judwymiwé hwmnunmb Ytljnn-
pny L oquytiGp Uwninpuh ptinptashy’

4[("B)~¢+(a-r)B—Z(mB)r]dl; =
L,

= Irot[(r-B)-a+(a-r)B—2(a-B)r]dS- [[(Bxa)+(@x B)]dS=0:
S, S,

6.19 (5.17) juGnph wpyymGphy' W =m- B, npwntn m-p quGh SwqGh-
uwlwl dnitGunb t”

l P¢ -
= I(,xj)av=2_c [ex@xryar:

Ujuwntin J =p, (@ xr)p quubh upnnynny wwpdwGuninpyjwd ho-
uwGph Swywiw)hG junmpmG6 t, p, =0 nRh, h-p quuiGh pwna-
pop)mG6 t: Lwipgh wnGhymy, np  qqubGwhG YanpnhGuwwwywG
hudwyuwpgnud r =(rcosa, rsina, z), @ =(0,0,0) dV = rdrdadz
YuwnwGwip’

OR’a@

m= N
4c

nputinhy
_ QRZ((B 'B) - _QﬁR%B cosql
4c 4

L4
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6.1

6.2

63

qLNtu 6
edughusushuur troinkseLLP

& A é ~-tfr
It)=—1- R 1t)=— ,
w) I(t) re m I RS
wjuwnbn t = L/R? sbonipymbp nbjwpuwyhwjh duniwGuy t:

c
Dg=—=

" Jic
(6.10) hunjwuwpmip GipYujuyGhGp

§+284+w3q=0 (8}
wtiupny, npwntin w, =c¢ JJLC dkompymGp LC hnbwjwhwiG YynG-
wmph ubthwywl hwwlumpymG6 t, huy & =Rc? / 2Lp dwpiwG
qnpdwlhyp: (1)-h ménudp hGwnpkGp g(f) ~ e'* wnbupny:
o’ +2i8o-0l =0

pantpwgpuijwG hwjwuwpnuip imdtiny YquGhGp hGupwynp hw-

SwjuntpniGGlpp
®;, =-id :l:\/(og -82:

®o U & didmpymGGtph hnjuhwpwpbpmpymGhy Yuiuwd hGwpw-
ynp b6 bpbp wwppbp wbuph (ndMdGhp:
w) Oy vwpiwb nhwypmd @ < @)

q() = Refe ¥ (q,e™" +q,e7')}

npnbn Q =y} -8%, huly g, =q;, +iq;; U g, =q,, +igy qnp-
dwlhyGhpp Ynduybpu dhidonpymGGhp bG: g(t) pmGYyhwyh hpwlywh
dwup Y1 hGh

g=e"¥[(gy, +q3,) cosQ+(gy - q,,)sin Q1]
9(0) =9, wwpiwlhy unwydnd t g, +q;, =qo: LiwG duny
1(0) = 4(0) = 0 wywjuwGhy Yupbih t vnwlwy’ q,; —q,, =39,/Q:
Wyuughuny § < @, nbhupmd
q®= qoe'&(oosﬂuf—) sin m): )

p) 8 =0y nbupmd YmGhGwlp
() = goe ™™ (1+80): 2
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q) Mdtn Ywpiw6 nhwpmd @ > w,)

©, =i(-5£Q"),
npntn Q' = ,/s’ -} =iQ: Lhyph U hnuwGph hwiwp YmGhGwGp
q))=e"(q,€" +q,¢""), )

10) =g, -8)e™" ~q, Q' +8)e™":
UlqpGwlwmi wwphwGibpp wjunbn pbpnud 66
91 +92=90» 9192 =%‘Io
hwjuwuwpnuiGph hudwyuwpghG, nph (monuip mtnunptiny (3)-h
by YbpeGwjwlwuibu YunwbGwubp'

q@) = qoe'&(cb.(l't +$ shﬂ't):

LlYwntlp, np ybpehG wpnyymbpp Yupbih t winwbwy (1)-hy, tph
oqunyGp cos(ix) = ch(x) b sin(ix) = ish(x) hwjnGh pwGwdlbphy:
Stumy tGp, np pmyyp Swpdwl nypnud @ < @y) YnGntGuunnph
thypp Ywwnwpmd bt dwpnn wuwunwlimsGhp, huy mdbn dupdw6
nbypmd @ > 0, ) inGnunnG GJwqbiny dqunmd t qpnjh:

L

c2

hwwuwpdw (nndGpp & = &e ™ tznth nhwpnud YhGunpbGp
I=1 oe““"‘ wbupny: WhpphGu mntinunptyny (1)-h dte, Yunnwbubp
ZI=¢&

i+rI+1 =& w
C

npwntin
Z=R—i(-‘£——]):
02 oC
Ujuwhuny
I=R¢(£)= & cos(@t-a) ’
z JR2+(°’_L_L)2
¢ oC
npuntin



6.5 t>0 nphupmy wbnh mGh

L 1
—G+RGg+—qg=
S d+Ra+a &

hwjwuwpnuip: Wyu wihwiwubn hwjwuwpdwG (monusp Yupnn
LGp Ghplwjuy Gty

Quuna = &HC

Jwulwynp imawb b

L . 1

:; f +Rf +E f = 0 (l)

hwiwube hwxdwowpdwb pinhwGnip (ModwG gnudwph wbupny’

9O =&C+f(®:
f() pOnhwGmp  modw@  uyqpGwlwd  wwjdwGehpG &G
J0)=q,-&C U f(0)=4(0)=0:

Oquuitiny 6.3 julnpmd oquwgnpjwd tquGwyhy (1) huyjwuwp-
dwG jnomip YqptiGp

H1M=@o -%C)e*(cosnw% sin Q)
wnbupny, tph § < @,
£200=@Qo - &C)e* (1+81)
wbupny, tpa & =, L
[10=e —JoC)e""(cmu% shn')

wbupny, tiph > @y: Ujuintin
2
Q:«(ﬂ%—&z, nl=1/82_0%’ 0°=_l."/i.é_’ 8=R._c.~:

2L
Oquytym] I(t) = ¢(t) = f (1) puGwidlihy* YuunwGmGp®

[ 2 - C

C_(J.;LQM_)(& sinQt, tph S<wy,
2

1) = i&;—‘“—@u“', bph 3 =0,

2 —
ﬁ’ﬁ@e’“shﬂ't, tpt 5>,

\
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6.7

VLljwunbbp, np 3 < ®y nbwypnid hnuwlpp dwpmd t nuwnwGnGlp
Yunnwpbyny, 8 = @y nwpmi hGsk ¢, = /8 wwhp hnuw6p6 wénui
t, huy wjGnihtnl dnGnnnG Guqbing dqunul t qpngh, huy & > @,
gtypnd” dnGnnnG Gjwqbiny dqunmy t qpnjh:

YnGunmpltpny whylnn I; b I, hnuwGpGipp pwwpwpnwd GG

R A L
[ C 1
'"_'22'1,+L_;'12+_(’:=_=o
(o4 [4 2

hwywuwpniGtph  hwdwlywpghlG, nph MmémiGtpp YhGunphGp
I, =Ige7™™ U, =Iye™" wmtupnd: Oquutiny I, U I, skompymG-
Gtph huwdwp vinwyynn hwlGpwhwyujwl hwjwuwpndGph hw-
dwlwpgh n) qpnywiwb pmoniGhp moLEGwim

oL, 1 oLy
det C2 Cl Cz =0
o’L, 'L, _1
c? ¢ C
wuwjydwGhy, YunwGuwbp

o, < MG +LiCr {ILC, ~L,CaY +4C ol o,
’ 2,C; (L L, - L)

L, - 0 ntypnud vnnuyymd 6 wlijwlu hphwjwijwl nunwin-
nuiwé ynGnmpGtph utthwliwl hwdwfumpymbGtpp’

c c
o = y Wy = M
JLICI \/chz
Shunwpyynn hwdwjwpgh wwp-
phnh hiwbnwGuGbnG b6 L L 5
ioL ioL Z
Zl = ———l’ ZZ = 2 > ’ ’
2 2 , I Iz ,

z o zo i Z L =
"o BTec CTCTC

Oqutiiny Uhpluhndh optipGbiphy,
Ywpnn LGP qpliy
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6.8

L+ -1=0,

I-1, I, =0,

Z1,-Z:11 =0,

Z,1, -Z5I, =0,

ZL+ZI+ 2505, =0:
Uwnwyywd qdwihlG hwpwhwjulw6 hwjwuwpmdGbph hwdw-
YJwpgh ny qpnjwlwG ;ndmiGtph gnympjub

1 1 0 0 -1

0o 0 1 1 -1

det|z, -2, 0 0 O0|=0

0 z 0 2z Z

o 0 z, -Z, 0
wuydwGhy YunwlwGp wwhwGeynn hwywuwpnuip”

Z,+Z2\X252+2,2+2,Z,)+Z,2,(Z, +Z},)=0,

Ywd wbnunptiny hwjwnGh hdyhGnuGuGtph wpnwhwjunmpymG-

Ghpp’
Ly (ol 1), Ly ('L 1]
e\ & Cy) c,\ ¢ C

Zefe’L, 1) e’L, 1) o
(0] cz Cl C2 Cz

2 V2
(1(1 1) 1(1 1)) 4
— == |-—] =+—|] +
.[Cl L L) Cl\L L, C.CzL2
o2, = LC+CD+Ly(C+Cy)EK

2L,L,(CC, +CC, +C,C,) ’
npoby K =[L,(C+C,;)-L,(C+C;))? -4L,L,C?:

P)
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69 &=46,sin(wt+a ) ophGpny thmhnjugny Eblwmpuwwpd mdh
nbwpmd I;, Ix b I hnuwGpGhpp pwdwpwpmy GG

izl,, +RIg =& cos@t+a ), °&°
C

-%"‘RIR =0, il" 'I-c’
Il. =IR +Ic: Ip—

hwyjwuwnpniiGtph hwdwlwpghG:

Upwnwputiny I; ul, hnuwiph mdbupp, junwlGwGp
EL—CTR +—L2—I, +RIy =& cos (t+a o):
c

c2

Lot ny uinwyywd hwyjwuwpnuip, mGuGuGp
Iy®= % cos(@t+a g — ),

2, ~\ 272

R? l_(ﬂ LC +(0f
c? c

oL

—-—————2 M
c’R[l-"’ LC]
cZ

UwuGwynp nbwpmi, bph 0 =0, = c/ VLC unwGnus tuGp

IR(t) = &,CJC/L Sin((l)ot+a o),
npuntinhy tpbimad t, np R nhiwnpmpyniGny wlyGnn IxhnuwGpp hu-
Juwbu Ywhidwd & R ghdwnpmpjub dtdmpymGhy: Ujuhlpd,
wjuyhuh 2npwl thmhnjuwlwl hnuwGph YwymGuymyhsh wjwp-
qugmjG ophGuy t:

6.10 Onwynt§ wpwewynn hnuwGpp npnyma t

npwntn
1ge =

L
c—21+1u = Einpa w
hwjwuwpnshy: UnniGwhG titjunpwwnpd mdp wju nhiypmd
wwjdwlwynpjwd b Swiwddwi tipumjpny: Lwlh np dwqGhuw-
YwG hnuph hwwp mftGp

®= Bo S$= Bosm(w""a o),
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npntin S-p onuyh dwybpbuG t, huy a (-G t=0 wwhhG onuyh
hwppnipjuG Gnpiwih juqiwd wilnGp B, yeijunph htwn, nlunh

@
and = Cdusly o dr B sin@t+a. o)

Ujuuthuny, (1) hwjwuwpnuip Ygph hbwnbywy Yhpy'

nazBo(o

-l-;-I+RJ= sin (@t+a g):

C
Lmdtny unwyywd hwyjwuwpnuip, YmGhGuGp
I(t) =1, sin(@t+a o - @),

npunbn

2
Io=—E__B;.m_’ tg(P-_-ﬂL_:

2
L
()

o2

Ujdd qunGhlip wpgbjwynn dndbGnp: Oqujtiny B, vwqGhuwlwG

gu2nnud m SwqGhuwlw G YmitGinh Ypw wqnnn mdh dndkGinh

K=mxB,
wpunwhwjnmpjniGhy (wntiu (5.18) luGnhpp) b w)G hwiquiwGphy,
np hwpp qdwjhG hwnnpnsh hwiwp

'.-_-L(ir’xdl' =Ls,
2c 2c

YqpliGp p
K(t)=——‘2 ’“‘230 sin(wt+a o),
cw
Y’
2 2
K@) =-—20080) i ot+a,)sin@t+ay-o):

cz

UhghG hqnpmpjwG hunfusp YmGhGwGp'
- 2, 2p 2 2. 2p 32
P=-K@) o= o’ (ra“By) cosp= o*(ra’B,) I: =EII§R:
2[ (=) ]
2

2
2 ot 24)
c

2. |R? +(-all—')

cz

i
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6.11 UnGunpnd wowgwywd hnuwGpp npnpymy t

L B¢,S<o2

o2

hwjwuwpnuiny (ntu Gwhunpn fuGnph (monwip), npintin o6 wa-

YmGG t t=0 wwhhG YnGuomph hwppmpyul Gnpiwih b B, yhy-
wnph dhol: Lmobtiny (1) hwjwuwpnuip, JunwGwip®

I(‘) =I° 8in((0t+a 0 —Q),

1'+R1+é= cos@t+a ),

npuntin

Oqutiiny mudh dndtGnh wpnwhwjnmpimbGhy, hGsubu wyn wp-
Jwod t Gwlunpn fuGnpmd, junwGwGp

(BoS)* @

2
2. |R? +(0—L-——!—)
c2 oC

Yuwnwptiny shehGuynui pun t-h YmGLGwGp

K@= sin(@t+a ) sin@t+a o —@):

— 2
K@) =- Bod @ = c0s¢ =
2¢2 [R24{9L__L
cz oC
(BoS’Re __ IR

2] g2 @:
2¢2|R? + %—-L)
cz oC

6.12 lulinph hwdwywihnipyniGhy htinum t, np 3 (t) wpnwphG dwqGh-
uwlwl quwnh uintindwd dppyuyhG hnuwpGhpp qubGmd YhnutG
hwiwyunhnipjul wnwGyphG hwdwnwGyp 2powGuqdtipmy: Gwpb-
1h t hwinquti, np wyn, hnuwGpGliph untndwd YwqbGhuwlwl Qu;-
wp qQwlhy gnipu hwywuwn t qungh, huy Gipunud monwd t quuGh

wnuwiypny (Z wnwbypny) U Ywjwd t dhuyl r YnnprnhGunnhy:
H, (r,t) dwqGhuwljub nupwnp qpuGh Ghpuntd npnztym hwdwp (6.7)
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hwjwuwpnuip qpbGp quGwjihG YnnpphGwwnwljwlé hwiwijwp-
qmui’

3’H, (1) LJOH, (nt) _ 4mph OH, ()
arz r or cz ot
uH, (r.t)-6 ¢GwnptGp H, () =H, .,(r)e‘“" wbupmj: H, o (r) dmby-
yhwi pwywpwpnid t
*H,o(r) 18H,o(r) . .2
a:z +; ar +k H,o(r)=0 (2)
hwywuwpdw6p, npuntin k? = i41tm)./ et (2)-p Rtutih hunjwuw-
pnudG t, nph’ r = 0 Yhawnmd Yippwynp thGhynt wwydwGhG puwjwpw-
pon (nYmdp J o (k) $nubyyhwb t (nbu hwuybduoh £.9) U «.11)
pwlwdlbpp): {wath weGbny H,,R) =, vwhiwlGwhb wpwj-
dwGp, YmGLGwGp'

o

o 28 ey,
Hy(r)= JokR)’ ®)
3{0, (r>R):

hitjunpwlwG nuwnp npnztint hwdwp Yoqunyklp (6.4) hwyjwuwp-
dw( hGwntgpuy wnbuphy®

§Eo@)-di=2 [Bo(r)-ds: @
L ¢ S

Nputu L YnGuomp pGnptGp quuiGhG hwiwnwlyp r zunwynny
2newiGughd U oqunytGp

. Jy0)
—_, SR),
B =" T P

Ho, >R)
wpnwhwpnmp)niGhy, junwbwGp' E, =E, =0,
0¥y
—— (m) [ oGerar, SR,
Eg= -
WIte _Rp? .
— [Jo(m)IJo(kr)rdr+ r* -R )], (r>R):

GYwinh nGhGunny (£-15) wnGympymGp, YtpgGwywbwwbu YniGh-
GuGp
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ke . Jy(ke) .
=X g ,
amh  ° T hR)
ke g | J1GO R
ey

(r<R),

Ey(n= )

ELIPE Y :
To(R) Zpr( R)]Gc, (r>R):

6.13 Gyulimyd dwiwdjwd dppYwshG Litwmpuywb nuanh wintindwd
hnuw(ph fuwnnmpjniGp hwwuwp t (ntu Gwlunpny fuGnpomd uwinwy-
Jwd (5) wnGympymGp)’

J1 () e

Jo(kR)

®npp hwwjumpnGGaph nhwpms (kR<< 1 juio << ¢/ 4xpAR?)

hwiwdw)h (£-12)-(£-13) JbpnompymGGtph®
2 .
Ja ) S grgreio
8n

Yud hhotiny, np k? = idropi / c®

jamhe ;o;p), :){ore’“" ,
c

wyuhGpG’ hnuwGph funmpjub dnmip gdow)GnphG t Yujuywd r-hy
U hundtdwnwywG t @ hwéwluntpjuGp:
© >>c?/4npAR? b0 hwSwlumpymGGiph phwpmd (kR>> 1)
Jupnn tGp oquuyty (£-14) wuhiywnnunwiwl wpnwhwpnmpym-
Ghy: UwhiwGuhwlytiny 0< R-r<<R htnwynpmpjmGGtiph
ntupny, junwbGutp'

. ke e cos(kr —3n/4)

rty=—1™M,e ,/ r——— ==
Ja( ) an 0 R/ cos(kR-1r/4)

=i ke Ko™ [Rfre 4N
4n

. ke .
Ja(r")=’4;,{ s Jr =.’:=0: (¢))

k-G GupyujuyGLGp k=(1+i)/8 wbupny, nphy htwn j, (7, -6

YnunGw
R-r
jalnt)= (i- l)cHJ_ {m——)

hGyubtu nbuGmy blp, 6o hwwhumpymGGuph niypmy hnuwGpp
hhiGulimlimy wlymd t §=c / ,/21:&)741 hwuwnmpjwdp pwpwly
dwybkplnipwjhG 2tpwnny:
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6.14 Q- wGh Ghpumy SwqGhuwwl quant nypywd t hwdwswihmpjwub
wnwbypm]’ H = (0, 0, H(r, t)) U pijwpupmy t

o*H 10H _4mu 0H
ol ror ot ot

hwyjwuwpiwbp: Lwgh wnGhiny, np > 0 wwhbphl SwqGhumywb
nuwp Swpmd t, (1)-h imonudp hGwpkGp H(r, 1) = Hy(r)e™™ wbu-
pny (v > 0): Hy (r)-p pudupupmid £

d2Ho(r)+ 1dH,(r)

dr? r dr
hwjwuwpiwmGp, npuntin k2 = 4mtpdy / 2 (2) fhubth hujuwowpiwb
r = 0 Yiinmd yppuninp ymonudp 1, $mbGyypwG t* Hy (r) = Cly (kr):
Lwlh np t2 0 wwhtphG (=0, huy dpplwihG hnuwGpGtph
untnowd |pwymyh; qwwp quuthy npmpe hwjwuwp & qpngh,
www whwnp t wmtinh nGLGw
Jo(kR) =0 €)

tqpuihG wwydwbp: (3) hwjwuwpdwl wpdwwnGbpp GwlwybGp
k-0 Jo((kpR)) = 0: (1) hunjwuwpiwG inidnidp ymGhGw

H )= CoJokr)e ™ @

wbupp, npbn v, = czk,z,. /41tp,7L:
Zwipgh wnGbyny, np H(r,0) = 7(, , (4)-hy YmGuGwbp
Ho=2.Cndolkyr):
Ltpohl hujwuwpiwG bpl;?n Ynnip puquirwunnytGp rJ o (k,, r)nd,
hGunbgpliGp puwn r-h* 0-hy R vwhiwGGhpmd, oqunjtiGp (£.16) oppn-
gnGw mpjw upwjiwGhy b (£.15)-hy, junwbwbp’
C. =2 .
k,RJ,(k,R)
Twywmh dwpiwG wpwqupymbGp Ynpnzgh widtkGuihopp y,-ny
(k,-nd), wylybu, np dwpiwl pEmpwgnujuG JdufwGuyp
t=1/Y ot SwynGh t, np Jy(x)=0 hwjwuwpiwG wibGw-
thnpp wpdunnh wpdbpp® x; 2.4, wyGmbu np k. =2.4/R, hulj
T=4ruAR?/5.76¢%:

m

+k*Hy(r)=0 @

6.15 ZwiwyunhnipymGhy htinlimd t, np dwiwGwlh ywljuywd uw-
hh6 bympwiwl guwh jwpuwdmpjuG dngmip hwnnpnujwph
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dwytpumjph pninp Yhnbpmd GnyG6 t: Wyuuhuh bqpuyhG wwy-
JwGh nwpmy E = const qubGhy nmpu wipnne wwpwompjwub
ubg:
Zwnnppwjwph Gipumd E (ijnpwlwb nunp manjwd t hwnnp-
nujwph wnwGypny (Z wowlypm)) b pwdwpupmd t (6.8) hunjw-
vwpdw(p, npp qubwjihG YnnpphGwnwliwG hwiwlwupgmyd mGh
6.12 fuGnph (1) hwjwuwndiwG wbupp: (6.12) luGnph GSwlnpjunip
Ywpnn GGp qphg
Jotkr) -ie
E,(r0)=E (r<R),
"TotR)°
npuntin k% = i41m)ul./ ¢’, huy E ;-G nuzwmh wnpdtpl t hwnnpnwiwph
dwybtpunph ypw: j =AE wnGynipyniGhy htwnlm t, np hnuwGph
funmpjub pwztuniin hwnnmwlwpp Ghpunud wpynul
Jol) -t
r,t)=AE, r<R
j: ()= ° T Ry (r<R)
opblpny:
[kR|>> 1 W& hwSwlumpjniGGph niwpmd (@>> c2/4ruAR?) Yw-
pnn GGp oquty (£.16) wuhiupnnunwiwG Yspimompymbhy:
UwhiwGuihwytiny 0 < R - r<< R htinwynpmpjmGGpny’

jx @) =AEqe™ ™ [R]r ——°°:(‘,;'; ’,'f/‘:’)
R-r R-r
()

~AEOJ—e e
npubn 8 = (14 i)/k = ¢/ 2r0pA:

Uunwyywd wpnwhwjnmpjuG dke e ®-n/8 wpwnwnphsp ynyyy t
wnwihu, np 060 hwéwhumpymGGph nypmyd hnuwlpl wlyGmd t
dwlytpumpwjhG /%hnumq, nph  hwuwnnpymbp hwéwumpmbhy
Jwpuwd § ~0™“ opbfipny dqunmud t qpnjh:
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<UdbLJIUD
1. LLPMSULUL bLSEINPULLGP

Unwohb U tpypnpn ubnh tjhuyywwlwb hGunbqpuibbp b6 Ynsdmd
hunfwyuinuwujuwGupup

m/l—lc2 sin? y

)
E(@ k)= Hl—kz sin? ydy %)
0
hGwnbtgpuyGtpp:

UnwehlG U tpypnpn ubnh phy tihwwnwiwl hGnbgpuyGlpp uwh-
dwGymd k6 wjuybu'

K@ k)=

x<k>=x(’5‘,k], <

«z(k)=£(’-2‘, k): 4

Lnphy tihywmwywG hGinbgpuyGEpG hpup htin puowgwd b6
ax) __ £ Xk
de  k(1-k*) k°
dzE(k) _ E(k)-K (k)
dk k

P GyyhnGwy wnGynpimGatpny:
EBthuypnwlw6 hGnbgpuyGpp Yupbth t GupywjwyGly 2wpptiph
wmtupny’

2 2 2
x(k =§{1+G) k2 +(_2‘_i.) K+ +(Q"T_M) "”'+---}, @n
. 2°n!

2.4 2 2
1 13Y k& 2n-D1Y &k
E(k =3 ]__kz _(_) —_—— e _( ) -t k.8
® 2{ 22 24) 3 2%nt ) 2n-1

L5

.6
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2. PBULLP dNHLYShULLY
Pbubh hwdwuewpnud t Ynnd
2
2 &Y
dx?
tpypnpn Yupgh qdwjhG nhptiptGyhwy hwyjwowpnuip: Upw 1mdnuwd-

Gtpp Yngymd GG quubuyhG PniGyyhwbbp: £.9)-h ;momdGtpp, npnGp
v 2 Optiwgpmd uwhdwlurthwy 6 x = 0Ytnmd, Yngdnid &6 wnwehb utinh

qiulughG pmGYyhwbtp Juwd Rtutih Pnibyyhwbbp b nGké wyuuhuh
wmbtup’

dy 2 2
+x—+(x“-v°)Y=0 «L.9)
dx ( )

i n* .2 “.10
v =— —_—— .10)
@)= ¢ 2”‘kfr(v +k+1)

npntn I'-G Ejph qmﬁﬁm—&mﬁllgbmﬁ t: bpl v-G wdpnne phyj t'v=n,
wwu

_< E /)™ +2k
J.(x)-go( 1) P k)' &1
bpp|xj<< 1
J,(x) = X , 21, «.12
2V n!
x2
Jox) = l--4—: «.13
|x|>> I nhupnud®

Jv(x)ngcos(x—v—zf—g): «.14

Pupytlp htwnbyuy wnGympymGGhpp’

[x**19, @)x =210, ), &1
1 0, (a tﬂ)g
xJ dx = «.16
oj o @), Bx) _;_ Gon@)s @ =B,

J,@)=J,B)=0 v>-1):
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